Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	ACCT - 2020 001 - Accounting Principles II (Managerial Accounting)	Department:	516100
Responsible Faculty:	Ernest Robinson	Responses / Expected:	4 / 14 (28.57%)

				-	ACCT - 2	020 - 00	1		Survey Comparisons			
Labs and Online Learning Questions		Responses (%)					(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	2.6K	4.4	74	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.2K	4.4	74	

0	was Fusivation Overstone	Ernest Robinson									
Cou	rse Evaluation Questions		F	Respons	ses (%)		Inc	dividual			
		SD	D	N	A	SA	N	Mean			
Q3	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5			
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8			
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	0	3 75%	4	4.5			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	0	3 75%	4	4.5			
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8			
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5			
Q11	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8			
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5			
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 25%	0	3 75%	4	4.5			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	0	3 75%	4	4.5			

Course	ACCT - 2020 002 - Accounting Principles II (Managerial Accounting)	Department:	516100
Responsible Faculty	Cathy Scott	Responses / Expected:	12 / 36 (33.33%)

					ACCT - :	2020 - 002	2		Survey Comparisons			
L	Labs and Online Learning Questions		R	espo	onses (%	5)	(Course	All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	1 The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	2.6K	4.4	78	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	8 100%	8	5.0	3.2K	4.4	94	

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agr$

					Cathy Scott				
Cou	rse Evaluation Questions			Respons	es (%)		Inc	dividual	
		SD	D	N	Α	SA	N	Mean	
QЗ	My instructor explains difficult material clearly.	0	0	0	3 25%	9 75%	12	4.8	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 25%	9 75%	12	4.8	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 25%	9 75%	12	4.8	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 25%	9 75%	12	4.8	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 25%	9 75%	12	4.8	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 33.3%	8 66.7%	12	4.7	
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 25%	9 75%	12	4.8	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 25%	9 75%	12	4.8	
Q11	My instructor encourages me to do my best work.	0	0	0	3 25%	9 75%	12	4.8	
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 8.3%	5 41.7%	6 50%	12	4.4	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 25%	9 75%	12	4.8	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 25%	9 75%	12	4.8	
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	5 41.7%	7 58.3%	12	4.6	
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 8.3%	0	5 41.7%	6 50%	12	4.3	

Course:	ACCT - 2020 003 - Accounting Principles II (Managerial Accounting)	Department:	516100
Responsible Faculty:	Ernest Robinson	Responses / Expected:	9 / 34 (26.47%)

					ACCT - 2	020 - 003	Survey Comparisons				
L	Labs and Online Learning Questions			Res	ponses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	0	0	5 62.5%	3 37.5%	8	4.4	2.6K	4.4	42
q	The course topics are organized in a coherent fashion.	0	0	0	5 55.6%	4 44.4%	9	4.4	3.2K	4.4	42

				ı	Ernest Ro	binson		
Cour	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q11	My instructor encourages me to do my best work.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 50%	4 50%	8	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5

Course:	ACCT - 3120 001 - Intermediate Accounting II	Department:	516100
Responsible Faculty:	Randall Hahn	Responses / Expected:	7 / 31 (22.58%)

		ACCT - 31:							Survey Comparisons			
L	Labs and Online Learning Questions		Re	spo	nses (%))	(Course	All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	2.6K	4.4	43	
Q	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	3.2K	4.4	40	

				F	Randall Ha	ahn		
Cour	se Evaluation Questions			Respons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q11	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	1 14.3%	0	5 71.4%	7	4.1
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Nei	ther Agree	or D	isagree=3	[A] Agree	=4 [SA] S	trong	y Agree=5

Course:	ACCT - 3270 001 - Cost Accounting	Department:	516100
Responsible Faculty:	Cathy Scott	Responses / Expected:	3 / 13 (23.08%)

		ACCT - 3270 - 001							Survey Comparisons					
La	abs and Online Learning Questions		Responses (%)						All					
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk			
Q	The section or lab is well integrated into the course structure.	1 33.3%	0	0	0	2 66.7%	3	3.7	2.6K	4.4	14			
Q	The course topics are organized in a coherent fashion.	1 33.3%	0	0	0	2 66.7%	3	3.7	3.2K	4.4	13			

C	on Fundation Quantities				Ca	thy Scot	t	
Cour	se Evaluation Questions		Res	pon	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	e=3	[A]	Agre	e=4 [SA]	Strong	Jly Agree=5

S	Spring 2018 16 week Survey	University of North Texas at Dallas
6	5181 - Spring 2018 - 1	UNT-Dallas

Course:	ACCT - 4100 001 - Accounting Systems	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	7 / 23 (30.43%)

				Α	ССТ	- 4100 - 0	01		Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	2.6K	4.4	93		
	Q2 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	3.2K	4.4	94		

0	Fushington Occasions			St	ephanie M	longiello		
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [)isagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5

Course	ACCT - 4140 001 - Advanced Accounting Principles	Department:	516100
Responsible Faculty	Randall Hahn	Responses / Expected:	9 / 20 (45%)

				A	CCT - 4140	0 - 001		Survey Comparisons				
l	Labs and Online Learning Questions	Responses (%)					(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	The section or lab is well integrated into the course structure.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	2.6K	4.4	51	
•	The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	3.2K	4.4	71	

	Furbrial Constitution			Ra	andall Ha	hn		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	1 11.1%	0	3 33.3%	5 55.6%	9	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 11.1%	0	2 22.2%	6 66.7%	9	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 25%	6 75%	8	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	=4 [SA] St	trong	y Agree=5

Course:	ACCT - 4270 001 - Advanced Cost Accounting	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	26 / 34 (76.47%)

Labs and Online Learning Questions				AC	CCT - 4270		Survey Comparisons				
		Responses (%)					С	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
C	1 The section or lab is well integrated into the course structure.	2 10%	1 5%	0	2 10%	15 75%	20	4.4	2.6K	4.4	41
	The course topics are organized in a coherent fashion.	2 9.1%	1 4.5%	0	4 18.2%	15 68.2%	22	4.3	3.2K	4.4	34

				F	Patricia W	/ynn		
Cour	se Evaluation Questions		l	Respons	ses (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 3.8%	0	2 7.7%	5 19.2%	18 69.2%	26	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 4%	0	1 4%	6 24%	17 68%	25	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 3.8%	0	0	6 23.1%	19 73.1%	26	4.6
Q6	My instructor provides material that helps me do well on assignments.	1 3.8%	0	0	6 23.1%	19 73.1%	26	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 4%	1 4%	1 4%	5 20%	17 68%	25	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 4%	0	2 8%	6 24%	16 64%	25	4.4
Q9	My instructor establishes a climate of respect for students.	1 3.8%	0	0	4 15.4%	21 80.8%	26	4.7
Q10	My instructor is available to me on matters pertaining to the course.	1 3.8%	0	0	3 11.5%	22 84.6%	26	4.7
Q11	My instructor encourages me to do my best work.	1 4%	0	0	4 16%	20 80%	25	4.7
Q12	My instructor provides timely feedback to guide my progress.	1 4%	0	0	3 12%	21 84%	25	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 3.8%	0	0	6 23.1%	19 73.1%	26	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3.8%	0	1 3.8%	4 15.4%	20 76.9%	26	4.6
Q15	My instructor encourages me to develop new viewpoints.	1 3.8%	0	1 3.8%	8 30.8%	16 61.5%	26	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	1 4%	0	3 12%	4 16%	17 68%	25	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neit	her Agree	e or Dis	sagree=3	[A] Agree	=4 [SA] S	trongly	/ Agree=5

Course:	ACCT - 4300 001 - Federal Income Taxation	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	10 / 28 (35.71%)

Labs and Online Learning Questions					ACCT - 430	00 - 001			Survey Comparisons				
		Responses (%)					C	ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	2.6K	4.4	32		
	Q2 The course topics are organized in a coherent fashion.	1 10%	0	0	3 30%	6 60%	10	4.3	3.2K	4.4	34		

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

				Ste	phanie M	ongiello		
Cou	rse Evaluation Questions		R	espon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	1 10%	0	0	3 30%	6 60%	10	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	0	3 30%	6 60%	10	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	0	2 20%	7 70%	10	4.4
Q6	My instructor provides material that helps me do well on assignments.	1 10%	0	0	3 30%	6 60%	10	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	0	3 30%	6 60%	10	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	0	1 11.1%	7 77.8%	9	4.4
Q9	My instructor establishes a climate of respect for students.	1 10%	0	0	3 30%	6 60%	10	4.3
Q10	My instructor is available to me on matters pertaining to the course.	1 10%	0	0	3 30%	6 60%	10	4.3
Q11	My instructor encourages me to do my best work.	1 10%	0	0	3 30%	6 60%	10	4.3
Q12	My instructor provides timely feedback to guide my progress.	1 10%	0	1 10%	1 10%	7 70%	10	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 10%	0	0	2 20%	7 70%	10	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	0	2 20%	7 70%	10	4.4
Q15	My instructor encourages me to develop new viewpoints.	1 10%	0	1 10%	2 20%	6 60%	10	4.2
Q16	My instructor made the subject interesting and motivated me to learn.	1 10%	0	1 10%	1 10%	7 70%	10	4.3

Course:	ACCT - 4350 001 - Advanced Federal Income Taxation	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	13 / 24 (54.17%)

Labs and Online Learning Questions				ACCT - 4	350 - 001			Survey Comparisons				
			Res	ponses (%))	Course		All				
		D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1 The section or lab is well integrated into the course structure.	0	0	0	3 50%	3 50%	6	4.5	2.6K	4.4	51		
Q2 The course topics are organized in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9	3.2K	4.4	84		

				St	ephanie N	1ongiello		
Cour	se Evaluation Questions			Respon	nses (%)			lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 25%	9 75%	12	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 38.5%	8 61.5%	13	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q11	My instructor encourages me to do my best work.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	2 15.4%	2 15.4%	9 69.2%	13	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or E)isagree=3	[A] Agree	=4 [SA] S	trongl	y Agree=5

Course:	ACCT - 4410 001 - Auditing Evidence	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	21 / 29 (72.41%)

Labs and Online Learning Questions					ACCT - 4	1410 - 001			Survey Comparisons				
				Responses (%)			C	ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
c	The section or lab is well integrated into the course structure.	0	0	0	2 14.3%	12 85.7%	14	4.9	2.6K	4.4	83		
C	The course topics are organized in a coherent fashion.	0	0	0	3 17.6%	14 82.4%	17	4.8	3.2K	4.4	80		

					Patricia	Wynn		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	3 14.3%	18 85.7%	21	4.9
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 4.8%	20 95.2%	21	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 4.8%	2 9.5%	18 85.7%	21	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 4.8%	2 9.5%	18 85.7%	21	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 14.3%	18 85.7%	21	4.9
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 14.3%	18 85.7%	21	4.9
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 4.8%	20 95.2%	21	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 4.8%	20 95.2%	21	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	2 9.5%	19 90.5%	21	4.9
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 9.5%	19 90.5%	21	4.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 9.5%	19 90.5%	21	4.9
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 14.3%	18 85.7%	21	4.9
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 9.5%	19 90.5%	21	4.9
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 9.5%	19 90.5%	21	4.9
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	Agree	or D	isagree=3	B [A] Agree	=4 [SA] S	strongl	y Agree=5

Course:	AGER - 4750 040 - Sexuality and Aging	Department:	518000
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	9 / 28 (32.14%)

Labs and Online Learning Questions Q1 The section or lab is well integrated into the course structure.					AGER - 4	750 - 040			Survey Comparisons				
				Res	ponses (%)	ı		All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1 The section or lab is well integrated into	the course structure.	0	0	0	3 50%	3 50%	6	4.5	2.6K	4.4	51		
Q2 The course topics are organized in a coh	erent fashion.	0	0	0	4 44.4%	5 55.6%	9	4.6	3.2K	4.4	54		

					Iftekhar .	Amin		
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q11	My instructor encourages me to do my best work.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 33.3%	6 66.7%	9	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	Strong	ly Agree=5

Course:	AGER - 4780 040 - Aging Programs and Services	Department:	518000
Responsible Faculty:	Iftekhar Amin	Responses / Expected:	7 / 28 (25%)

				A	GER - 4780	Survey Comparisons					
l	Labs and Online Learning Questions			Respon	All						
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	The section or lab is well integrated into the course structure.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2	2.6K	4.4	30
	The course topics are organized in a coherent fashion.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	3.2K	4.4	41

C	as Fusionities Quantities			lft	ekhar Am	iin		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 28.6%	0	1 14.3%	4 57.1%	7	4.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q11	My instructor encourages me to do my best work.	0	1 14.3%	1 14.3%	1 14.3%	4 57.1%	7	4.1
Q12	My instructor provides timely feedback to guide my progress.	0	2 28.6%	0	1 14.3%	4 57.1%	7	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	=4 [SA] St	trong	y Agree=5

Course:	ART - 1300 001 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Ayman Alamoudi	Responses / Expected:	8 / 27 (29.63%)

Labs and Online Learning Questions				Α	RT - 1300	- 001			Survey Comparisons				
L	abs and Online Learning Questions			Respon	ises (%)		(Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
C	The section or lab is well integrated into the course structure.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5	2.6K	4.4	51		
	The course topics are organized in a coherent fashion.	0	0	0	4 57.1%	3 42.9%	7	4.4	3.2K	4.4	41		

				Ayn	nan Alam	oudi		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	2 25%	4 50%	2 25%	8	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	1 12.5%	1 12.5%	1 12.5%	5 62.5%	8	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q11	My instructor encourages me to do my best work.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4
Q12	My instructor provides timely feedback to guide my progress.	0	0	2 25%	1 12.5%	5 62.5%	8	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 50%	4 50%	8	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 25%	2 25%	4 50%	8	4.3
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	4 50%	0	4 50%	8	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	=4 [SA] S	trong	y Agree=5

Course:	ART - 1300 032 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Pamela Harris	Responses / Expected:	10 / 29 (34.48%)

				AR	T - 1	300 - 032	Survey Comparisons					
La	bs and Online Learning Questions	Responses (%)					(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	1 16.7%	0	0	0	5 83.3%	6	4.3	2.6K	4.4	39	
Q	The course topics are organized in a coherent fashion.	1 12.5%	0	0	0	7 87.5%	8	4.5	3.2K	4.4	48	

University of North Texas at Dallas UNT-Dallas

					Pamela	Harris		
Cour	se Evaluation Questions			Respo	onses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	3 30%	7 70%	10	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 20%	8 80%	10	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 30%	7 70%	10	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 20%	8 80%	10	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 30%	7 70%	10	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	2 20%	8 80%	10	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 20%	8 80%	10	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 10%	9 90%	10	4.9
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 10%	9 90%	10	4.9
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	1 10%	8 80%	10	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	Agree	or Di	sagree=	3 [A] Agre	e=4 [SA] S	Strongl	y Agree=5

Course:	BCIS - 2610 001 - Introduction to Computers in Business	Department:	516100
Responsible Faculty:	Richard Wallace	Responses / Expected:	7 / 29 (24.14%)

			E	BCIS	- 2610 - 0	01			Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
C	The section or lab is well integrated into the course structure.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	2.6K	4.4	30		
	The course topics are organized in a coherent fashion.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	3.2K	4.4	20		

				Richa	rd Wallac	ce		
Cour	se Evaluation Questions	Responses (%) Ind						
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	2 28.6%	0	2 28.6%	3 42.9%	7	3.9
Q6	My instructor provides material that helps me do well on assignments.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 28.6%	0	1 14.3%	1 14.3%	3 42.9%	7	3.4
Q9	My instructor establishes a climate of respect for students.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q10	My instructor is available to me on matters pertaining to the course.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q11	My instructor encourages me to do my best work.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0
Q12	My instructor provides timely feedback to guide my progress.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q15	My instructor encourages me to develop new viewpoints.	0	1 14.3%	2 28.6%	1 14.3%	3 42.9%	7	3.9
Q16	My instructor made the subject interesting and motivated me to learn.	1 14.3%	1 14.3%	1 14.3%	1 14.3%	3 42.9%	7	3.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	sagree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

Course:	BCIS - 3610 001 - Basic Information Systems	Department:	516100
Responsible Faculty:	Richard Wallace	Responses / Expected:	9 / 40 (22.50%)

Labs and Online Learning Questions		BCIS - 3610 - 001							Survey Comparisons				
		Responses (%)					(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	The section or lab is well integrated into the course structure.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	2.6K	4.4	45		
	The course topics are organized in a coherent fashion.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	3.2K	4.4	41		

	Furbration Occasion			Ric	hard Wall	ace		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	1 11.1%	1 11.1%	2 22.2%	5 55.6%	9	4.2
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	=4 [SA] St	trong	ly Agree=5

Course:	BCIS - 3610 010 - Basic Information Systems	Department:	516100
Responsible Faculty:	Theodore Larson	Responses / Expected:	9 / 42 (21.43%)

				В	CIS - 3610	Survey Comparisons					
L	Labs and Online Learning Questions		Responses (%)					Course	All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk
C	The section or lab is well integrated into the course structure.	0	1 12.5%	0	2 25%	5 62.5%	8	4.4	2.6K	4.4	42
	The course topics are organized in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	3.2K	4.4	61

				Theod	lore Lars	on		
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	1 11.1%	1 11.1%	2 22.2%	5 55.6%	9	4.2
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 11.1%	1 11.1%	2 22.2%	5 55.6%	9	4.2
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	1 11.1%	1 11.1%	2 22.2%	5 55.6%	9	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	1 11.1%	2 22.2%	5 55.6%	9	4.1
Q9	My instructor establishes a climate of respect for students.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q11	My instructor encourages me to do my best work.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q12	My instructor provides timely feedback to guide my progress.	1 11.1%	0	1 11.1%	2 22.2%	5 55.6%	9	4.1
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 11.1%	1 11.1%	2 22.2%	5 55.6%	9	4.2
Q15	My instructor encourages me to develop new viewpoints.	0	0	2 22.2%	1 11.1%	6 66.7%	9	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	1 11.1%	0	1 11.1%	2 22.2%	5 55.6%	9	4.1
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N]	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

Course:	BCIS - 3610 011 - Basic Information Systems	Department:	516100
Responsible Faculty:	Theodore Larson	Responses / Expected:	10 / 41 (24.39%)

Labs and Online Learning Questions				В	CIS - 3610	Survey Comparisons					
		Responses (%)					(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	The section or lab is well integrated into the course structure.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6	2.6K	4.4	58
	The course topics are organized in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	3.2K	4.4	61

	Furbration Occasions			The	odore La	rson		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	3 33.3%	3 33.3%	3 33.3%	9	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	3 33.3%	3 33.3%	3 33.3%	9	4.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 22.2%	4 44.4%	3 33.3%	9	4.1
Q9	My instructor establishes a climate of respect for students.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	6 66.7%	3 33.3%	9	4.3
Q11	My instructor encourages me to do my best work.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 22.2%	4 44.4%	3 33.3%	9	4.1
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 22.2%	4 44.4%	3 33.3%	9	4.1
Q15	My instructor encourages me to develop new viewpoints.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 11.1%	1 11.1%	4 44.4%	3 33.3%	9	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] No	either A	Agree or D	isagree=3	[A] Agree	=4 [SA] St	trong	y Agree=5

Course:	BIOL - 1082 001 - Biology for Educators	Department:	514140
Responsible Faculty:	Kito Barrow	Responses / Expected:	9 / 22 (40.91%)

					BIOL - 10	082 - 001	Survey Comparisons				
L	Labs and Online Learning Questions			Res	ponses (%))	(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	2 33.3%	4 66.7%	6	4.7	2.6K	4.4	66
Q	The course topics are organized in a coherent fashion.	0	0	0	2 33.3%	4 66.7%	6	4.7	3.2K	4.4	66

				Kito	Barrow			
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	1 11.1%	1 11.1%	4 44.4%	3 33.3%	9	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	6 66.7%	3 33.3%	9	4.3
Q6	My instructor provides material that helps me do well on assignments.	1 11.1%	0	0	5 55.6%	3 33.3%	9	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2
Q9	My instructor establishes a climate of respect for students.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q11	My instructor encourages me to do my best work.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 55.6%	4 44.4%	9	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N]	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

Course:	BIOL - 1082 301 - Biology for Educators	Department:	514140
Responsible Faculty:	Kito Barrow	Responses / Expected:	9 / 22 (40.91%)

				В	IOL - 1082	- 301			Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
C	The section or lab is well integrated into the course structure.	0	0	0	2 22.2%	7 77.8%	9	4.8	2.6K	4.4	77		
	The course topics are organized in a coherent fashion.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6	3.2K	4.4	54		

2	Furbridge Occasion			K	ito Barro	w		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q11	My instructor encourages me to do my best work.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 55.6%	4 44.4%	9	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	=4 [SA] S	trong	y Agree=5

Course:	BIOL - 1132 003 - Environmental Science	Department:	514140
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	16 / 23 (69.57%)

		BIOL - 1132 - 003							Survey Comparisons			
L	abs and Online Learning Questions	Responses (%)					С	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
q	1 The section or lab is well integrated into the course structure.	1 7.7%	0	0	5 38.5%	7 53.8%	13	4.3	2.6K	4.4	37	
q	The course topics are organized in a coherent fashion.	1 7.7%	0	1 7.7%	3 23.1%	8 61.5%	13	4.3	3.2K	4.4	34	

_				Aul	rey Fran	tz		
Cou	rse Evaluation Questions							dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	1 6.3%	0	1 6.3%	8 50%	6 37.5%	16	4.1
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 6.3%	0	0	7 43.8%	8 50%	16	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 6.3%	0	0	6 37.5%	9 56.3%	16	4.4
Q6	My instructor provides material that helps me do well on assignments.	1 6.3%	1 6.3%	0	6 37.5%	8 50%	16	4.2
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 6.3%	0	0	5 31.3%	10 62.5%	16	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 6.3%	2 12.5%	2 12.5%	5 31.3%	6 37.5%	16	3.8
Q9	My instructor establishes a climate of respect for students.	1 6.3%	0	0	6 37.5%	9 56.3%	16	4.4
Q10	My instructor is available to me on matters pertaining to the course.	1 6.3%	0	0	4 25%	11 68.8%	16	4.5
Q11	My instructor encourages me to do my best work.	1 6.3%	0	1 6.3%	6 37.5%	8 50%	16	4.3
Q12	My instructor provides timely feedback to guide my progress.	1 6.3%	0	1 6.3%	6 37.5%	8 50%	16	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 6.3%	0	0	5 31.3%	10 62.5%	16	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 6.3%	0	1 6.3%	6 37.5%	8 50%	16	4.3
Q15	My instructor encourages me to develop new viewpoints.	1 6.3%	0	2 12.5%	4 25%	9 56.3%	16	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	1 6.3%	1 6.3%	0	4 25%	10 62.5%	16	4.3

Course:	BIOL - 1132 030 - Environmental Science	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	11 / 35 (31.43%)

		BIOL - 1132 - 030							Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
C	The section or lab is well integrated into the course structure.	0	1 9.1%	0	3 27.3%	7 63.6%	11	4.5	2.6K	4.4	46		
C	The course topics are organized in a coherent fashion.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	3.2K	4.4	53		

				Doni	na Hamilt	on		
Cou	rse Evaluation Questions		Re	esponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	2 18.2%	4 36.4%	5 45.5%	11	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	0	2 18.2%	5 45.5%	3 27.3%	11	3.8
Q9	My instructor establishes a climate of respect for students.	0	0	1 9.1%	6 54.5%	4 36.4%	11	4.3
Q10	My instructor is available to me on matters pertaining to the course.	1 9.1%	0	0	6 54.5%	4 36.4%	11	4.1
Q11	My instructor encourages me to do my best work.	0	1 9.1%	2 18.2%	3 27.3%	5 45.5%	11	4.1
Q12	My instructor provides timely feedback to guide my progress.	2 18.2%	0	0	5 45.5%	4 36.4%	11	3.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 18.2%	3 27.3%	6 54.5%	11	4.4
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N]	Neither Ag	ree or Dis				trongly	y Agree=

Course:	BIOL - 1132 031 - Environmental Science	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	11 / 35 (31.43%)

	Labs and Online Learning Questions			BIO	L - 1132 -	Survey Comparisons					
L			Responses (%)					ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
C	The section or lab is well integrated into the course structure.	1 10%	0	0	4 40%	5 50%	10	4.2	2.6K	4.4	31
	The course topics are organized in a coherent fashion.	1 9.1%	1 9.1%	1 9.1%	3 27.3%	5 45.5%	11	3.9	3.2K	4.4	16

0				Ke	lly Varga			
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	1 9.1%	3 27.3%	3 27.3%	4 36.4%	11	3.9
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 9.1%	0	2 18.2%	4 36.4%	4 36.4%	11	3.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	0	1 9.1%	5 45.5%	4 36.4%	11	4.0
Q6	My instructor provides material that helps me do well on assignments.	1 9.1%	0	3 27.3%	2 18.2%	5 45.5%	11	3.9
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	0	3 27.3%	4 36.4%	3 27.3%	11	3.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	0	3 27.3%	3 27.3%	4 36.4%	11	3.8
Q9	My instructor establishes a climate of respect for students.	1 9.1%	0	2 18.2%	5 45.5%	3 27.3%	11	3.8
Q10	My instructor is available to me on matters pertaining to the course.	1 9.1%	0	3 27.3%	4 36.4%	3 27.3%	11	3.7
Q11	My instructor encourages me to do my best work.	1 9.1%	1 9.1%	2 18.2%	3 27.3%	4 36.4%	11	3.7
Q12	My instructor provides timely feedback to guide my progress.	1 9.1%	2 18.2%	1 9.1%	3 27.3%	4 36.4%	11	3.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 9.1%	0	3 27.3%	3 27.3%	4 36.4%	11	3.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 9.1%	0	1 9.1%	5 45.5%	4 36.4%	11	4.0
Q15	My instructor encourages me to develop new viewpoints.	1 9.1%	0	2 18.2%	4 36.4%	4 36.4%	11	3.9
Q16	My instructor made the subject interesting and motivated me to learn.	2 18.2%	0	2 18.2%	2 18.2%	5 45.5%	11	3.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	sagree=3 [A] Agree=	4 [SA] St	rongly	Agree=5

Course:	BIOL - 1132 032 - Environmental Science	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	10 / 30 (33.33%)

		BIOL - 1132 - 032							Survey Comparisons				
L	abs and Online Learning Questions	Responses (%)					(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
(The section or lab is well integrated into the course structure.	0	0	1 11.1%	5 55.6%	3 33.3%	9	4.2	2.6K	4.4	32		
	The course topics are organized in a coherent fashion.	0	0	2 22.2%	4 44.4%	3 33.3%	9	4.1	3.2K	4.4	24		

				K	elly Var	ga		
Cour	se Evaluation Questions		Res	ponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	1 10%	1 10%	3 30%	5 50%	10	4.2
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	4 40%	5 50%	10	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 10%	4 40%	5 50%	10	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	1 10%	2 20%	3 30%	4 40%	10	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	1 10%	1 10%	4 40%	4 40%	10	4.1
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 10%	2 20%	3 30%	4 40%	10	4.0
Q9	My instructor establishes a climate of respect for students.	0	0	3 30%	2 20%	5 50%	10	4.2
Q10	My instructor is available to me on matters pertaining to the course.	0	2 20%	2 20%	3 30%	3 30%	10	3.7
Q11	My instructor encourages me to do my best work.	0	1 10%	2 20%	4 40%	3 30%	10	3.9
Q12	My instructor provides timely feedback to guide my progress.	0	1 10%	3 30%	2 20%	4 40%	10	3.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 30%	4 40%	3 30%	10	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 20%	5 50%	3 30%	10	4.1
Q15	My instructor encourages me to develop new viewpoints.	0	0	3 30%	4 40%	3 30%	10	4.0
Q16	My instructor made the subject interesting and motivated me to learn.	1 10%	0	3 30%	3 30%	3 30%	10	3.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	Agree or	Disagre	e=3 [A]	Agree=4	[SA] S	trongl	y Agree=5

Course:	BIOL - 1132 301 - Environmental Science	Department:	514140
Responsible Faculty:	Mohammadmehdi Eslamieh	Responses / Expected:	2 / 12 (16.67%)

				BIOL - 11	32 - 301			Su	rvey Comparison	s
Labs and Online Learning Questions		Responses (%)					Course	All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	2.6K	4.4	22
Q2 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	3.2K	4.4	48

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agr$

			N	1oham r	nadmel	hdi Eslan	nieh	
Cou	rse Evaluation Questions		Re	esponse	es (%)		ln	dividual
		SD	D	N	A	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	0	1 50%	2	4.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	1 50%	0	0	1 50%	2	3.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 50%	0	1 50%	2	4.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5

Course:	BIOL - 1132 302 - Environmental Science	Department:	514140
Responsible Faculty:	Mohammadmehdi Eslamieh	Responses / Expected:	8 / 18 (44.44%)

	Labs and Online Learning Questions		BIOL - 1132 - 302							Survey Comparisons			
L			Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
C	The section or lab is well integrated into the course structure.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3	2.6K	4.4	34		
C	The course topics are organized in a coherent fashion.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5	3.2K	4.4	48		

				Mohar	nmadmel	ndi Eslam	ieh	
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 62.5%	3 37.5%	8	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q11	My instructor encourages me to do my best work.	0	0	1 12.5%	2 25%	5 62.5%	8	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	4 50%	4 50%	8	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5

Course:	BIOL - 1132 303 - Environmental Science	Department:	514140
Responsible Faculty:	Mohammadmehdi Eslamieh	Responses / Expected:	10 / 23 (43.48%)

	Labs and Online Learning Questions				BIOL - 11	132 - 303	Survey Comparisons				
			Responses (%)						All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	The section or lab is well integrated into the course structure.	0	0	0	5 55.6%	4 44.4%	9	4.4	2.6K	4.4	46
	The course topics are organized in a coherent fashion.	0	0	0	5 55.6%	4 44.4%	9	4.4	3.2K	4.4	42

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

0-				Moham	madme	ehdi Esla	hdi Eslamieh			
Cou	se Evaluation Questions		F	Respons	ses (%)		Ind	dividual		
		SD	D	N	Α	SA	N	Mean		
Q3	My instructor explains difficult material clearly.	0	0	0	6 60%	4 40%	10	4.4		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 60%	4 40%	10	4.4		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	7 70%	3 30%	10	4.3		
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 10%	7 70%	2 20%	10	4.1		
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	7 70%	3 30%	10	4.3		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	6 60%	3 30%	10	4.2		
Q9	My instructor establishes a climate of respect for students.	0	0	0	6 60%	4 40%	10	4.4		
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	5 50%	4 40%	10	4.3		
Q11	My instructor encourages me to do my best work.	0	0	2 20%	5 50%	3 30%	10	4.1		
Q12	My instructor provides timely feedback to guide my progress.	0	0	2 20%	5 50%	3 30%	10	4.1		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 60%	4 40%	10	4.4		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	5 50%	4 40%	10	4.3		
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 10%	5 50%	4 40%	10	4.3		
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	6 60%	4 40%	10	4.4		

Course:	BIOL - 1132 330 - Environmental Science	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	11 / 35 (31.43%)

				В	IOL - 1132		Survey Comparisons					
L	abs and Online Learning Questions	Responses (%)					С	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
c	1 The section or lab is well integrated into the course structure.	1 9.1%	1 9.1%	0	3 27.3%	6 54.5%	11	4.1	2.6K	4.4	27	
C	2 The course topics are organized in a coherent fashion.	0	2 20%	0	4 40%	4 40%	10	4.0	3.2K	4.4	20	

_				Doni	na Hamilt	on		
Cour	se Evaluation Questions		Re	esponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 9.1%	0	2 18.2%	4 36.4%	4 36.4%	11	3.9
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 9.1%	0	1 9.1%	5 45.5%	4 36.4%	11	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	1 9.1%	1 9.1%	4 36.4%	4 36.4%	11	3.8
Q6	My instructor provides material that helps me do well on assignments.	1 9.1%	0	2 18.2%	3 27.3%	5 45.5%	11	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	0	2 18.2%	5 45.5%	3 27.3%	11	3.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	0	3 27.3%	4 36.4%	3 27.3%	11	3.7
Q9	My instructor establishes a climate of respect for students.	1 9.1%	0	0	6 54.5%	4 36.4%	11	4.1
Q10	My instructor is available to me on matters pertaining to the course.	1 9.1%	1 9.1%	1 9.1%	3 27.3%	5 45.5%	11	3.9
Q11	My instructor encourages me to do my best work.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1
Q12	My instructor provides timely feedback to guide my progress.	2 18.2%	0	0	4 36.4%	5 45.5%	11	3.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 9.1%	0	2 18.2%	4 36.4%	4 36.4%	11	3.9
Q15	My instructor encourages me to develop new viewpoints.	1 9.1%	0	1 9.1%	5 45.5%	4 36.4%	11	4.0
Q16	My instructor made the subject interesting and motivated me to learn.	1 9.1%	0	1 9.1%	4 36.4%	5 45.5%	11	4.1
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N]	Neither Ag	ree or Di	sagree=3	[A] Agree	4 [SA] S	trongl	y Agree=5

Spring 2018 16 week Survey
6181 - Spring 2018 - 1

Course:	BIOL - 1132 331 - Environmental Science	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	10 / 35 (28.57%)

				BIOL	- 1132	- 331		Survey Comparisons				
L	abs and Online Learning Questions	Responses (%)					С	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
q	1 The section or lab is well integrated into the course structure.	1 10%	1 10%	1 10%	2 20%	5 50%	10	3.9	2.6K	4.4	17	
q	The course topics are organized in a coherent fashion.	1 10%	0	2 20%	2 20%	5 50%	10	4.0	3.2K	4.4	20	

				K	elly Varga	3		
Cour	se Evaluation Questions		Res	ponses	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	2 20%	0	3 30%	5 50%	10	4.1
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	2 20%	1 10%	2 20%	5 50%	10	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	2 20%	0	2 20%	5 50%	10	3.8
Q6	My instructor provides material that helps me do well on assignments.	0	1 10%	1 10%	3 30%	5 50%	10	4.2
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	2 20%	1 10%	3 30%	4 40%	10	3.9
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	0	4 44.4%	4 44.4%	9	4.1
Q9	My instructor establishes a climate of respect for students.	0	1 10%	2 20%	2 20%	5 50%	10	4.1
Q10	My instructor is available to me on matters pertaining to the course.	0	2 22.2%	0	4 44.4%	3 33.3%	9	3.9
Q11	My instructor encourages me to do my best work.	1 10%	1 10%	1 10%	3 30%	4 40%	10	3.8
Q12	My instructor provides timely feedback to guide my progress.	0	2 20%	2 20%	3 30%	3 30%	10	3.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 10%	3 30%	1 10%	5 50%	10	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 30%	2 20%	5 50%	10	4.2
Q15	My instructor encourages me to develop new viewpoints.	0	0	3 30%	2 20%	5 50%	10	4.2
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	3 30%	1 10%	6 60%	10	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] I	Neither Agr	ee or Disa	gree=3	[A] Agree	=4 [SA] S	trongly	/ Agree=5

Course:	BIOL - 1720 001 - Biology for Science Majors II	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	20 / 45 (44.44%)

				BIOL	Survey Comparisons						
L	abs and Online Learning Questions	Responses (%)					С	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	1 The section or lab is well integrated into the course structure.	1 6.7%	2 13.3%	1 6.7%	2 13.3%	9 60%	15	4.1	2.6K	4.4	27
Q	The course topics are organized in a coherent fashion.	1 6.7%	1 6.7%	0	2 13.3%	11 73.3%	15	4.4	3.2K	4.4	40

				ŀ	Celly Va	rga		
Cour	se Evaluation Questions		Re	sponse	s (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 5%	4 20%	15 75%	20	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 15%	17 85%	20	4.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 5%	1 5%	0	3 15%	15 75%	20	4.5
Q6	My instructor provides material that helps me do well on assignments.	0	0	2 10%	4 20%	14 70%	20	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	6 30%	14 70%	20	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 15%	3 15%	14 70%	20	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	2 10%	2 10%	16 80%	20	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	5 25%	15 75%	20	4.8
Q11	My instructor encourages me to do my best work.	0	0	2 10%	6 30%	12 60%	20	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	2 10%	0	4 20%	14 70%	20	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 5%	5 25%	14 70%	20	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 25%	15 75%	20	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	7 35%	13 65%	20	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 5%	0	4 20%	15 75%	20	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5							

Course:	BIOL - 1720 002 - Biology for Science Majors II	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	7 / 21 (33.33%)

	Labs and Online Learning Questions				BIOL - 1	720 - 002	!	Survey Comparisons				
			Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	2.6K	4.4	93	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	3.2K	4.4	78	

Cour	se Evaluation Ouestions				Donna	Hamilton		
Cour	Se Evaluation Questions		_		ponses (%	,		dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	14.3%	6 85.7%	7	4.9
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	7 100%	7	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	7 100%	7	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q11	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5							

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	BIOL - 1740 001 - Biology for Science Majors II Laboratory	Department:	514140
Responsible Faculty:	Preethi Chandrasekaran	Responses / Expected:	1 / 5 (20%)

	Labs and Online Learning Questions			ı	BIOL - 174	0 - 00	1	Survey Comparisons				
			Responses (%)				(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	2.6K	4.4	22	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	3.2K	4.4	20	

				Pree	thi Chan	drasekar	an	
Cour	se Evaluation Questions			Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 100%	0	0	1	3.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 100%	0	0	1	3.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5							

Course:	BIOL - 1740 002 - Biology for Science Majors II Laboratory	Department:	514140
Responsible Faculty:	Mohammadmehdi Eslamieh	Responses / Expected:	7 / 23 (30.43%)

	Labs and Online Learning Questions			BIOL -	1740 - 00	Survey Comparisons					
L			R	esponses	(%)		(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
c	The section or lab is well integrated into the course structure.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	2.6K	4.4	30
C	The course topics are organized in a coherent fashion.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	3.2K	4.4	36

				Mohamm	admehdi	Eslamiel	1	
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q12	My instructor provides timely feedback to guide my progress.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 14.3%	2 28.6%	0	4 57.1%	7	4.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	4 [SA] S	trong	ly Agree=5

- 1	Spring 2018 16 week Survey 6181 - Spring 2018 - 1	University of North Texas at Dallas UNT-Dallas
	, c.c. opg_c.c.	0111 241140

Course:	BIOL - 1740 003 - Biology for Science Majors II Laboratory	Department:	514140
Responsible Faculty:	Preethi Chandrasekaran	Responses / Expected:	9 / 16 (56.25%)

Г		BIOL - 1740 - 003							Survey Comparisons			
Labs and Online Learning Questions		Responses (%)				C	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	The section or lab is well integrated into the course structure.	1 11.1%	2 22.2%	1 11.1%	1 11.1%	4 44.4%	9	3.6	2.6K	4.4	12	
	The course topics are organized in a coherent fashion.	1 11.1%	1 11.1%	1 11.1%	2 22.2%	4 44.4%	9	3.8	3.2K	4.4	14	

	Preethi Chandrasekaran							
Cour	se Evaluation Questions		Responses (%)				In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 11.1%	2 22.2%	1 11.1%	2 22.2%	3 33.3%	9	3.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 11.1%	0	3 33.3%	1 11.1%	4 44.4%	9	3.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 11.1%	0	2 22.2%	1 11.1%	5 55.6%	9	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	3 33.3%	1 11.1%	1 11.1%	4 44.4%	9	3.7
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	2 22.2%	1 11.1%	2 22.2%	4 44.4%	9	3.9
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 11.1%	2 22.2%	2 22.2%	4 44.4%	9	4.0
Q9	My instructor establishes a climate of respect for students.	0	0	1 11.1%	0	8 88.9%	9	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q11	My instructor encourages me to do my best work.	0	0	2 22.2%	3 33.3%	4 44.4%	9	4.2
Q12	My instructor provides timely feedback to guide my progress.	1 11.1%	0	3 33.3%	1 11.1%	4 44.4%	9	3.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 22.2%	2 22.2%	5 55.6%	9	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 11.1%	1 11.1%	3 33.3%	4 44.4%	9	4.1
Q15	My instructor encourages me to develop new viewpoints.	0	1 11.1%	3 33.3%	2 22.2%	3 33.3%	9	3.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	3 33.3%	0	3 33.3%	3 33.3%	9	3.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	BIOL - 1740 004 - Biology for Science Majors II Laboratory	Department:	514140
Responsible Faculty:	Preethi Chandrasekaran	Responses / Expected:	10 / 16 (62.50%)

			BIOL - 1740 - 004							Survey Comparisons			
Labs and Online Learning Questions		Responses (%)			C	ourse	All						
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	2 20%	0	1 10%	6 60%	1 10%	10	3.4	2.6K	4.4	11		
	Q2 The course topics are organized in a coherent fashion.	1 10%	1 10%	1 10%	5 50%	2 20%	10	3.6	3.2K	4.4	12		

	Preethi Chandrasekaran								
Cour	se Evaluation Questions		R	Responses (%)				lividual	
		SD	D	N	Α	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	1 10%	3 30%	4 40%	1 10%	1 10%	10	2.8	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	1 10%	1 10%	6 60%	1 10%	10	3.5	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	2 20%	5 50%	2 20%	10	3.7	
Q6	My instructor provides material that helps me do well on assignments.	0	2 20%	2 20%	5 50%	1 10%	10	3.5	
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 10%	3 30%	1 10%	4 40%	1 10%	10	3.1	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	3 30%	2 20%	4 40%	1 10%	10	3.3	
Q9	My instructor establishes a climate of respect for students.	0	0	4 40%	4 40%	2 20%	10	3.8	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	3 30%	5 50%	2 20%	10	3.9	
Q11	My instructor encourages me to do my best work.	0	1 11.1%	3 33.3%	2 22.2%	3 33.3%	9	3.8	
Q12	My instructor provides timely feedback to guide my progress.	0	0	3 30%	4 40%	3 30%	10	4.0	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 10%	2 20%	5 50%	2 20%	10	3.8	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 20%	4 40%	3 30%	1 10%	10	3.3	
Q15	My instructor encourages me to develop new viewpoints.	0	2 20%	2 20%	5 50%	1 10%	10	3.5	
Q16	My instructor made the subject interesting and motivated me to learn.	2 20%	1 10%	1 10%	5 50%	1 10%	10	3.2	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N]	Neither A	Agree or Di	sagree=3	[A] Agree	=4 [SA] S	trongly	/ Agree=5	

Course:	BIOL - 2041 030 - Microbiology	Department:	514140
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	14 / 23 (60.87%)

	Labs and Online Learning Questions				BIOL - 2	041 - 030	Survey Comparisons				
La				Res	ponses (%)) Course			All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	2 16.7%	10 83.3%	12	4.8	2.6K	4.4	81
Q	The course topics are organized in a coherent fashion.	0	0	0	2 16.7%	10 83.3%	12	4.8	3.2K	4.4	82

					Aubrey Fi	rantz		
Cour	se Evaluation Questions			Respon	ses (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 7.1%	0	0	2 14.3%	11 78.6%	14	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 21.4%	11 78.6%	14	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 21.4%	11 78.6%	14	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 21.4%	11 78.6%	14	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 7.1%	13 92.9%	14	4.9
Q11	My instructor encourages me to do my best work.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 21.4%	11 78.6%	14	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 21.4%	11 78.6%	14	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	3 21.4%	11 78.6%	14	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	er Agree o	or Di	sagree=3	[A] Agree	=4 [SA] S	trongl	y Agree=5

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	BIOL - 2042 030 - Microbiology Laboratory	Department:	514140
Responsible Faculty:	Preethi Chandrasekaran	Responses / Expected:	13 / 22 (59.09%)

				BIO	L - 2042 -	Survey Comparisons						
L	abs and Online Learning Questions			Response	es (%)		ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
(Q1 The section or lab is well integrated into the course structure.	0	1 7.7%	1 7.7%	5 38.5%	6 46.2%	13	4.2	2.6K	4.4	33	
	Q2 The course topics are organized in a coherent fashion.	0	1 7.7%	4 30.8%	2 15.4%	6 46.2%	13	4.0	3.2K	4.4	20	

				Preethi	Chandra	sekaran		
Cour	se Evaluation Questions		ı	Response	s (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	1 7.7%	4 30.8%	4 30.8%	4 30.8%	13	3.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 7.7%	3 23.1%	4 30.8%	5 38.5%	13	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	2 15.4%	2 15.4%	5 38.5%	4 30.8%	13	3.8
Q6	My instructor provides material that helps me do well on assignments.	0	3 23.1%	4 30.8%	2 15.4%	4 30.8%	13	3.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	5 38.5%	1 7.7%	3 23.1%	4 30.8%	13	3.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 15.4%	3 23.1%	3 23.1%	5 38.5%	13	3.8
Q9	My instructor establishes a climate of respect for students.	0	0	2 15.4%	6 46.2%	5 38.5%	13	4.2
Q10	My instructor is available to me on matters pertaining to the course.	0	1 7.7%	1 7.7%	6 46.2%	5 38.5%	13	4.2
Q11	My instructor encourages me to do my best work.	0	0	3 23.1%	5 38.5%	5 38.5%	13	4.2
Q12	My instructor provides timely feedback to guide my progress.	0	2 15.4%	2 15.4%	4 30.8%	5 38.5%	13	3.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 7.7%	3 23.1%	4 30.8%	5 38.5%	13	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 15.4%	4 30.8%	3 23.1%	4 30.8%	13	3.7
Q15	My instructor encourages me to develop new viewpoints.	0	1 7.7%	5 38.5%	3 23.1%	4 30.8%	13	3.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 7.7%	4 30.8%	2 15.4%	6 46.2%	13	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	=4 [SA] St	trongly	/ Agree=5

Course:	BIOL - 2302 030 - Human Anatomy and Physiology II	Department:	514140
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	5 / 5 (100%)

				В	IOL - 23	02 - 030		Survey Comparisons				
Lal	s and Online Learning Questions		Responses (%)						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	1 20%	0	0	1 20%	3 60%	5	4.0	2.6K	4.4	22	
Q2	The course topics are organized in a coherent fashion.	1 20%	0	0	1 20%	3 60%	5	4.0	3.2K	4.4	20	

Com	rse Evaluation Questions				Aubrey	Frantz		
Cour	Se Evaluation Questions	-	Res	pon	ses (%)			dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	1 20%	0	0	2 40%	2 40%	5	3.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 20%	0	0	1 20%	3 60%	5	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 20%	0	0	1 20%	3 60%	5	4.0
Q6	My instructor provides material that helps me do well on assignments.	1 20%	0	0	2 40%	2 40%	5	3.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 20%	0	0	2 40%	2 40%	5	3.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	0	0	2 40%	2 40%	5	3.8
Q9	My instructor establishes a climate of respect for students.	1 20%	0	0	1 20%	3 60%	5	4.0
Q10	My instructor is available to me on matters pertaining to the course.	1 20%	0	0	1 20%	3 60%	5	4.0
Q11	My instructor encourages me to do my best work.	1 20%	0	0	1 20%	3 60%	5	4.0
Q12	My instructor provides timely feedback to guide my progress.	1 20%	0	0	1 20%	3 60%	5	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 20%	0	0	1 20%	3 60%	5	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 20%	0	0	1 20%	3 60%	5	4.0
Q15	My instructor encourages me to develop new viewpoints.	1 20%	0	0	2 40%	2 40%	5	3.8
Q16	My instructor made the subject interesting and motivated me to learn.	1 20%	0	0	2 40%	2 40%	5	3.8

Course:	BIOL - 2312 001 - Human Anatomy and Physiology II Laboratory	Department:	514140
Responsible Faculty:	Kito Barrow	Responses / Expected:	4 / 5 (80%)

					BIOL - 2	312 - 001	Survey Comparisons				
	Labs and Online Learning Questions		Responses (%)					Course	All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	2.6K	4.4	39
	Q2 The course topics are organized in a coherent fashion.	0	0	0	3 75%	1 25%	4	4.3	3.2K	4.4	31

Cour	se Evaluation Questions				Kito	Barrow		
Jour	SD							dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q11	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree of	Disag	ree=	3 [A] Agree	4 [SA]	Strong	Jly Agree=5

Course:	BIOL - 3090 001 - Mentored Undergraduate Research	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	3 / 5 (60%)

	BIOL - 3090 - 001				Survey Comparisons					
Labs and Online Learning Questions		R	espo	onses (%	.)	(Course		All	
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.6K	4.4	93
Q2 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	3.2K	4.4	48

Caus	se Evaluation Questions		ı	Muh	amn	ned Yous	ufudd	in
Cour	SE EVALUATION QUESTIONS	_	•	ses	` ,		dividual	
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	isagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=5

Course:	BIOL - 3090 003 - Mentored Undergraduate Research	Department:	514140
Responsible Faculty:	Aubrey Frantz	Responses / Expected:	1 / 3 (33.33%)

				В	IOL	- 3090 - 00	03	Su	Survey Comparisons				
L	abs and Online Learning Questions		Res	spon	ses	(%)	(Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.6K	4.4	93		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	3.2K	4.4	94		

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

٥-				Aub	rey Frant	tz		
Cou	Course Evaluation Questions SD							dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0

Course:	BIOL - 3451 001 - Genetics	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	6 / 23 (26.09%)

					BIOL - 34	451 - 001			Survey Comparisons						
L	abs and Online Learning Questions			Res	ponses (%))	(Course		All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk				
Q	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	2.6K	4.4	74				
Q	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	3.2K	4.4	82				

_				Irene Ro	driguez V	irgen		
Cour	se Evaluation Questions	SD D N A SA N			dividual			
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	1 16.7%	0			6	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0		0		6	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0		0			6	4.3
Q6	My instructor provides material that helps me do well on assignments.	0		0			6	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0				6	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0		0			6	4.3
Q9	My instructor establishes a climate of respect for students.	0	0	0			6	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0		0			6	4.3
Q11	My instructor encourages me to do my best work.	0		0			6	4.3
Q12	My instructor provides timely feedback to guide my progress.	0		0		4 66.7%	6	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q15	My instructor encourages me to develop new viewpoints.	0	1 16.7%	0	1 16.7%	4 66.7%	6	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	sagree=3 [.	A] Agree=	4 [SA] St	rongl	y Agree=5

Course:	BIOL - 4120 030 - Environmental Chemistry	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	3 / 16 (18.75%)

				В	IOL	- 4120 - 03	30		Survey Comparisons						
L	Labs and Online Learning Questions	Responses (%)					(Course		All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk				
C	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.6K	4.4	93				
	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	3.2K	4.4	94				

Cour	Course Evaluation Ouestions				Muhammed Yousufuddin										
Cour	se Evaluation Questions		_		ponses (%	,		dividual							
		SD	D	N	A	SA	N	Mean							
Q3	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7							
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0							
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0							
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7							
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7							
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0							
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0							
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0							
Q11	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0							
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0							
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0							
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0							
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0							
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0							
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or [Disaç	gree=	3 [A] Agre	e=4 [SA] \$	Strong	ly Agree=5							

Course:	BIOL - 4220 001 - Neuropsychopharmacology	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	5 / 18 (27.78%)

					BIOL - 42	220 - 001	Survey Comparisons				
L	s and Online Learning Questions Responses (%)		(Course	All						
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	2.6K	4.4	66
q	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	3.2K	4.4	58

	Course Evaluation Questions				Kelly	/ Varga		
Cour	se Evaluation Questions		Re	spoi	nses (%	,		dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or	Disag	ree=	3 [A] Agree	4 [SA]	Strong	Jly Agree=5

Course:	BIOL - 4340 030 - Urban Ecology	Department:	514140
Responsible Faculty:	Kelly Varga	Responses / Expected:	10 / 34 (29.41%)

				BIOL - 43	340 - 030	Survey Comparisons				
Labs and Online Learning Questions			Res	ponses (%))	(Course			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course structure.	0	0	0	3 42.9%	4 57.1%	7	4.6	2.6K	4.4	58
Q2 The course topics are organized in a coherent fashion.	0	0	0	3 33.3%	6 66.7%	9	4.7	3.2K	4.4	66

Cour	ourse Evaluation Questions				Kelly	Varga		
Coul	Se Evaluation Questions		_		ponses (%	,		lividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 20%	8 80%	10	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 20%	8 80%	10	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 30%	7 70%	10	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 20%	8 80%	10	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 30%	7 70%	10	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 30%	7 70%	10	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	3 30%	7 70%	10	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 20%	8 80%	10	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 20%	8 80%	10	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 20%	8 80%	10	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 20%	8 80%	10	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or [Disag	gree=	3 [A] Agre	e=4 [SA] \$	Strongl	y Agree=5

Course:	BIOL - 4350 030 - Ethics of Science	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	5 / 21 (23.81%)

					BIOL - 43	350 - 030	Survey Comparisons				
	Labs and Online Learning Questions			Res	ponses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	2.6K	4.4	66
	Q2 The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	3.2K	4.4	58

	Course Fusionation Questions		Donna Hamilton										
Cour	se Evaluation Questions		Re	spo	nses (%)	In	dividual					
		SD	D	N	A	SA	N	Mean					
Q3	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6					
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6					
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6					
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6					
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6					
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6					
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6					
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6					
Q11	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6					
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6					
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6					
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6					
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6					
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6					
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or	Disag	ree=	3 [A] Agree=	4 [SA]	Strong	ıly Agree=5					

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	BIOL - 4930 001 - Special Problems	Department:	514140
Responsible Faculty:	Irene Rodriguez Virgen	Responses / Expected:	2 / 7 (28.57%)

Cour	se Evaluation Questions		Re	lre spo	iguez V)	Virgen Individual		
		SD	D	· ·	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disaç	jree=	3 [4	Agree=	4 [SA]	Stron	gly Agree=

Course:	BIOL - 5390 030 - Special Problems	Department:	514140
Responsible Faculty:	Donna Hamilton	Responses / Expected:	1 / 1 (100%)

					BIOL - 539	0 - 03	0	Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)					Course	All			
5		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
q	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	2.6K	4.4	22	
q	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	3.2K	4.4	20	

	se Evaluation Questions			Do	onna Ham	ilton		
Cour	se Evaluation Questions			Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0
Q11	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 100%	0	0	1	3.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agu	ee or l	Disag	ree=3 [A]	Agree=4	[SA] S	Strong	ly Agree=5

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	BLAW - 2300 001 - Legal and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Olivia Howe	Responses / Expected:	6 / 24 (25%)

	Labs and Online Learning Questions				BLAW -	2300 - 00 ⁻	1	Survey Comparisons				
			Responses (%)					Course	All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	2.6K	4.4	93	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	3.2K	4.4	78	

				Oliv	via Howe			
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2
Q6	My instructor provides material that helps me do well on assignments.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6
Q11	My instructor encourages me to do my best work.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q12	My instructor provides timely feedback to guide my progress.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 33.3%	1 16.7%	3 50%	6	4.2
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 16.7%	1 16.7%	1 16.7%	3 50%	6	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N]	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

Course:	BLAW - 2300 002 - Legal and Ethical Environment of Business	Department:	516100		
Responsible Faculty:	Phillip Umphres	Responses / Expected:	5 / 14 (35.71%)		

					BLAW - 2	300 - 002	Survey Comparisons				
	Labs and Online Learning Questions	Responses (%)				(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	2.6K	4.4	39
	Q2 The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	3.2K	4.4	36

	Production Occasion				Phillip U	Jmphres		
Cour	se Evaluation Questions			Respon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 40%	1 20%	2 40%	5	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 20%	1 20%	3 60%	5	4.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	1 20%	3 60%	5	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	1 20%	0	4 80%	5	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 20%	0	4 80%	5	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Ag	ee or I	Disag	ree=3 [A] Agree	=4 [SA] \$	Strong	ıly Agree=5

Course:	BLAW - 2300 003 - Legal and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Phillip Umphres	Responses / Expected:	2 / 12 (16.67%)

			BLAW - 2300 - 003			BLAW - 2300 - 003					Survey Comparisons					
L	Labs and Online Learning Questions		Responses (%)		(Course	All									
		SD	D	D N A SA N		Mean	N	Mean	Pct Rnk							
1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	2.6K	4.4	22					
١	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	3.2K	4.4	48					

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agr$

0-		Phillip Umphres									
Cou	rse Evaluation Questions		Res	pon	ses	(%)	In	dividual			
		SD	D	N	Α	SA	N	Mean			
Q3	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0			
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0			
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0			
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0			
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0			
Q11	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0			
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0			
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0			

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	BLAW - 2300 004 - Legal and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Diane Couchman	Responses / Expected:	1 / 15 (6.67%)

Evaluation Questions	Diane Couchman Responses (%) Individ								
	00				0.4				
	20	ש	N	A		N	Mean		
ly instructor explains difficult material clearly.	0	0	0	0	100%	1	5.0		
ly instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0		
ly instructor gives assignments that contribute to my understanding of the subject.	0	0	1 100%	0	0	1	3.0		
ly instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0		
ly instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0		
ly instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0		
ly instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0		
ly instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0		
ly instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0		
ly instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0		
ly instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 100%	0	0	1	3.0		
ly instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0		
ly instructor encourages me to develop new viewpoints.	0	0	1 100%	0	0	1	3.0		
fy instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0		
	All instructor explains difficult material clearly. All instructor provides facts, examples, and references that helped me learn the material. All instructor gives assignments that contribute to my understanding of the subject. All instructor provides material that helps me do well on assignments. All instructor explains new ideas by relating them to familiar concepts. All instructor evaluates my work in ways that are helpful to my ability to learn. All instructor establishes a climate of respect for students. All instructor is available to me on matters pertaining to the course. All instructor encourages me to do my best work. All instructor provides timely feedback to guide my progress. All instructor creates an atmosphere in which ideas can be exchanged freely. All instructor encourages me to connect course topics to a wider understanding of the subject. All instructor encourages me to develop new viewpoints. All instructor made the subject interesting and motivated me to learn.	My instructor provides facts, examples, and references that helped me learn the material. My instructor gives assignments that contribute to my understanding of the subject. My instructor provides material that helps me do well on assignments. My instructor explains new ideas by relating them to familiar concepts. My instructor evaluates my work in ways that are helpful to my ability to learn. My instructor establishes a climate of respect for students. My instructor is available to me on matters pertaining to the course. My instructor encourages me to do my best work. My instructor provides timely feedback to guide my progress. My instructor creates an atmosphere in which ideas can be exchanged freely. My instructor encourages me to connect course topics to a wider understanding of the subject. My instructor encourages me to develop new viewpoints.	Any instructor explains difficult material clearly. Any instructor provides facts, examples, and references that helped me learn the material. Any instructor gives assignments that contribute to my understanding of the subject. Any instructor provides material that helps me do well on assignments. Any instructor explains new ideas by relating them to familiar concepts. Any instructor evaluates my work in ways that are helpful to my ability to learn. Any instructor establishes a climate of respect for students. Any instructor is available to me on matters pertaining to the course. Any instructor encourages me to do my best work. Any instructor provides timely feedback to guide my progress. Any instructor creates an atmosphere in which ideas can be exchanged freely. Any instructor encourages me to connect course topics to a wider understanding of the subject. Any instructor encourages me to develop new viewpoints. On any instructor encourages me to develop new viewpoints.	Any instructor explains difficult material clearly. Any instructor provides facts, examples, and references that helped me learn the material. Any instructor gives assignments that contribute to my understanding of the subject. Any instructor provides material that helps me do well on assignments. Any instructor explains new ideas by relating them to familiar concepts. Any instructor evaluates my work in ways that are helpful to my ability to learn. Any instructor establishes a climate of respect for students. Any instructor is available to me on matters pertaining to the course. Any instructor encourages me to do my best work. Any instructor provides timely feedback to guide my progress. Any instructor creates an atmosphere in which ideas can be exchanged freely. Any instructor encourages me to connect course topics to a wider understanding of the subject. Any instructor encourages me to develop new viewpoints. Do 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	My instructor explains difficult material clearly. My instructor provides facts, examples, and references that helped me learn the material. My instructor gives assignments that contribute to my understanding of the subject. My instructor provides material that helps me do well on assignments. My instructor explains new ideas by relating them to familiar concepts. My instructor evaluates my work in ways that are helpful to my ability to learn. My instructor establishes a climate of respect for students. My instructor is available to me on matters pertaining to the course. My instructor encourages me to do my best work. My instructor provides timely feedback to guide my progress. My instructor creates an atmosphere in which ideas can be exchanged freely. My instructor encourages me to develop new viewpoints. My instructor encourages me to develop new viewpoints.	Any instructor explains new ideas by relating them to familiar concepts. Any instructor explains new ideas by relating them to familiar concepts. Any instructor explains new ideas by relating them to familiar concepts. Any instructor explains new ideas by relating them to familiar concepts. Any instructor explains new ideas by relating them to familiar concepts. Any instructor explains new ideas by relating them to familiar concepts. Any instructor explains new ideas by relating them to familiar concepts. Any instructor evaluates my work in ways that are helpful to my ability to learn. Any instructor establishes a climate of respect for students. Any instructor is available to me on matters pertaining to the course. Any instructor is available to me on matters pertaining to the course. Any instructor encourages me to do my best work. Any instructor provides timely feedback to guide my progress. Any instructor creates an atmosphere in which ideas can be exchanged freely. Any instructor encourages me to connect course topics to a wider understanding of the subject. Any instructor encourages me to develop new viewpoints. Any instructor encourages me to develop new viewpoints. Any instructor made the subject interesting and mativated me to learn. Any instructor made the subject interesting and mativated me to learn.	Any instructor explains difficult material clearly. Any instructor provides facts, examples, and references that helped me learn the material. Any instructor gives assignments that contribute to my understanding of the subject. Any instructor provides material that helps me do well on assignments. Any instructor provides material that helps me do well on assignments. Any instructor explains new ideas by relating them to familiar concepts. Any instructor evaluates my work in ways that are helpful to my ability to learn. Any instructor evaluates my work in ways that are helpful to my ability to learn. Any instructor establishes a climate of respect for students. Any instructor is available to me on matters pertaining to the course. Any instructor is available to me on matters pertaining to the course. Any instructor encourages me to do my best work. Any instructor ereates an atmosphere in which ideas can be exchanged freely. Any instructor creates an atmosphere in which ideas can be exchanged freely. Any instructor encourages me to develop new viewpoints. Any instructor encourages me to develop new viewpoints. Any instructor encourages me to develop new viewpoints. Any instructor encourages me to develop new viewpoints.		

Course: BLAW - 4450 001 - Corporation Law		Department:	516100
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	19 / 30 (63.33%)

			BLAW - 4450 - 001						Survey Comparisons				
L	abs and Online Learning Questions		Responses (%)		С	ourse	All						
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
C	The section or lab is well integrated into the course structure.	0	0	1 9.1%	3 27.3%	7 63.6%	11	4.5	2.6K	4.4	56		
C	The course topics are organized in a coherent fashion.	1 7.1%	0	0	4 28.6%	9 64.3%	14	4.4	3.2K	4.4	41		

Caus	se Evaluation Questions				Sharon	Fjordbak		
Cour	se Evaluation Questions		_		ponses (%			ividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	6 31.6%	13 68.4%	19	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 21.1%	15 78.9%	19	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 26.3%	14 73.7%	19	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	4 21.1%	15 78.9%	19	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 21.1%	15 78.9%	19	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 26.3%	14 73.7%	19	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	4 21.1%	15 78.9%	19	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	6 31.6%	13 68.4%	19	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	2 10.5%	17 89.5%	19	4.9
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	5 26.3%	14 73.7%	19	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 15.8%	16 84.2%	19	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 15.8%	16 84.2%	19	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	5 26.3%	14 73.7%	19	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 15.8%	16 84.2%	19	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or l	Disaç	gree=	3 [A] Agre	e=4 [SA] \$	Strongl	y Agree=5

Course:	BLAW - 4600 001 - Current Topics in Business Law	Department:	516100
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	13 / 23 (56.52%)

		E			BLAW - 4600 - 001					Survey Comparisons				
La	bs and Online Learning Questions	Responses (%))	C	ourse	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 22.2%	7 77.8%	9	4.8	2.6K	4.4	77			
Q2	The course topics are organized in a coherent fashion.	0	0	0	2 16.7%	10 83.3%	12	4.8	3.2K	4.4	82			

Caus	se Evaluation Ouestions				Sharon	Fjordbak		
Cour	se Evaluation Questions		_		onses (%			lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	5 41.7%	7 58.3%	12	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 7.7%	12 92.3%	13	4.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 7.7%	12 92.3%	13	4.9
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	13 100%	13	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	13 100%	13	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	13 100%	13	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	13 100%	13	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 8.3%	11 91.7%	12	4.9
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	13 100%	13	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or l	Disag	gree=	3 [A] Agre	e=4 [SA] \$	Strongl	y Agree=5

Course:	BLAW - 5050 010 - Legal, Regulatory and Ethical Environment of Business	Department:	516100
Responsible Faculty:	Sharon Fjordbak	Responses / Expected:	5 / 15 (33.33%)

	abs and Online Learning Questions			BLAW	- 50	050 - 01	Survey Comparisons				
L			Responses (%)				(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	1 50%	0	0	0	1 50%	2	3.0	2.6K	4.4	8
Q	The course topics are organized in a coherent fashion.	1 20%	0	1 20%	0	3 60%	5	3.8	3.2K	4.4	15

	ourse Evaluation Questions			Sł	naron Fj	ordbak		
Cour	se Evaluation Questions		Re	espons	es (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 20%	0	1 20%	1 20%	2 40%	5	3.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 20%	0	0	2 40%	2 40%	5	3.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 20%	0	0	1 20%	3 60%	5	4.0
Q6	My instructor provides material that helps me do well on assignments.	1 20%	0	0	2 40%	2 40%	5	3.8
Q 7	My instructor explains new ideas by relating them to familiar concepts.	1 20%	0	0	2 40%	2 40%	5	3.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	0	1 20%	1 20%	2 40%	5	3.6
Q9	My instructor establishes a climate of respect for students.	1 20%	0	0	1 20%	3 60%	5	4.0
Q10	My instructor is available to me on matters pertaining to the course.	1 20%	0	0	1 20%	3 60%	5	4.0
Q11	My instructor encourages me to do my best work.	1 20%	0	0	1 20%	3 60%	5	4.0
Q12	My instructor provides timely feedback to guide my progress.	1 25%	0	0	2 50%	1 25%	4	3.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 20%	0	0	2 40%	2 40%	5	3.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 20%	0	1 20%	1 20%	2 40%	5	3.6
Q15	My instructor encourages me to develop new viewpoints.	1 20%	0	0	2 40%	2 40%	5	3.8
Q16	My instructor made the subject interesting and motivated me to learn.	1 20%	0	0	1 20%	3 60%	5	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or Dis	sagre	ee=3 [A]	Agree=	4 [SA] 9	Strong	ly Agree=5

Course:	BUSI - 1340 001 - Managing the Business Enterprise	Department:	516100
Responsible Faculty:	William Ingram	Responses / Expected:	9 / 24 (37.50%)

					BUSI - 1	340 - 00	1	Survey Comparisons				
Labs and Online Learning Questions			Re	spo	nses (%))	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
c	The section or lab is well integrated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	2.6K	4.4	43	
c	The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	3.2K	4.4	48	

0	Furbration Occasions				William In	ngram		
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 11.1%	2 22.2%	6 66.7%	9	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 11.1%	1 11.1%	7 77.8%	9	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	4 44.4%	5 55.6%	9	4.6
Q11	My instructor encourages me to do my best work.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 33.3%	6 66.7%	9	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 22.2%	7 77.8%	9	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	Strong	ly Agree=5

Course:	BUSI - 1340 002 - Managing the Business Enterprise	Department:	516100
Responsible Faculty:	William Ingram	Responses / Expected:	6 / 19 (31.58%)

				В	USI	- 1340 - 00	02	Survey Comparisons				
L	abs and Online Learning Questions		Res	spon	ses	(%)	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	2.6K	4.4	93	
q	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	3.2K	4.4	94	

Cour	se Evaluation Ouestions				Willian	n Ingram		
Cour	se Evaluation Questions		_		ponses (%	,		dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	6 100%	6	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	6 100%	6	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	6 100%	6	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or [Disaç	gree=	3 [A] Agre	e=4 [SA] \$	Strong	ly Agree=5

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	BUSI - 4940 010 - Business Policy	Department:	516100
Responsible Faculty:	Isaura Flores	Responses / Expected:	22 / 40 (55%)

	abs and Online Learning Questions				BUSI - 49	40 - 010	Survey Comparisons				
			R	espo	onses (%)		С	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	1 6.3%	0	0	5 31.3%	10 62.5%	16	4.4	2.6K	4.4	46
	Q2 The course topics are organized in a coherent fashion.	2 10%	0	0	6 30%	12 60%	20	4.3	3.2K	4.4	34

				ls	aura Flor	es		
Cour	se Evaluation Questions		Re	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 4.5%	0	2 9.1%	7 31.8%	12 54.5%	22	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 4.5%	0	1 4.5%	10 45.5%	10 45.5%	22	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	2 9.1%	0	1 4.5%	8 36.4%	11 50%	22	4.2
Q6	My instructor provides material that helps me do well on assignments.	1 4.5%	0	2 9.1%	8 36.4%	11 50%	22	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 4.5%	0	2 9.1%	8 36.4%	11 50%	22	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 9.1%	0	1 4.5%	8 36.4%	11 50%	22	4.2
Q9	My instructor establishes a climate of respect for students.	1 4.5%	0	2 9.1%	6 27.3%	13 59.1%	22	4.4
Q10	My instructor is available to me on matters pertaining to the course.	1 4.5%	0	0	8 36.4%	13 59.1%	22	4.5
Q11	My instructor encourages me to do my best work.	1 4.5%	1 4.5%	0	7 31.8%	13 59.1%	22	4.4
Q12	My instructor provides timely feedback to guide my progress.	1 4.5%	0	0	9 40.9%	12 54.5%	22	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 9.5%	7 33.3%	12 57.1%	21	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 4.5%	0	2 9.1%	9 40.9%	10 45.5%	22	4.2
Q15	My instructor encourages me to develop new viewpoints.	1 4.5%	0	1 4.5%	10 45.5%	10 45.5%	22	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	1 4.5%	2 9.1%	0	8 36.4%	11 50%	22	4.2
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] No	either Agr	ee or Dis	agree=3	[A] Agree	=4 [SA] S	trongl	/ Agree=5

Spring	2018 16 week Survey	
6181 -	Spring 2018 - 1	

University of North Texas at Dallas UNT-Dallas

Course:	BUSI - 4940 011 - Business Policy	Department:	516100
Responsible Faculty:	Isaura Flores	Responses / Expected:	30 / 34 (88.24%)

	Labs and Online Learning Questions			В	USI - 4940	011		Survey Comparisons				
L			Responses (%)						All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	2 8%	5 20%	18 72%	25	4.6	2.6K	4.4	62	
C	The course topics are organized in a coherent fashion.	0	0	1 3.6%	6 21.4%	21 75%	28	4.7	3.2K	4.4	71	

	se Evaluation Questions				Isaura I	Flores		
Cour	se Evaluation Questions			Respo	nses (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	2 6.7%	9 30%	19 63.3%	30	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 6.7%	6 20%	22 73.3%	30	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 3.3%	6 20%	23 76.7%	30	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	6 20%	24 80%	30	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 3.3%	6 20%	23 76.7%	30	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 3.4%	6 20.7%	22 75.9%	29	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	1 3.4%	6 20.7%	22 75.9%	29	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 3.3%	4 13.3%	25 83.3%	30	4.8
Q11	My instructor encourages me to do my best work.	0	0	1 3.3%	6 20%	23 76.7%	30	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	6 20%	24 80%	30	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 3.3%	6 20%	23 76.7%	30	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 6.9%	4 13.8%	23 79.3%	29	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 3.3%	8 26.7%	21 70%	30	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	2 6.7%	7 23.3%	21 70%	30	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither.	Agree	or D	isagree=3	3 [A] Agree	=4 [SA] S	trongl	y Agree=5

Course:	CDFS - 2033 040 - Parenting in Diverse Families	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	5 / 18 (27.78%)

	Labs and Online Learning Questions			CI	DFS - 2033		Survey Comparisons					
ı			Responses (%)						All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
1	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	2.6K	4.4	51	
	The course topics are organized in a coherent fashion.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	3.2K	4.4	20	

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

	urse Evaluation Questions			Ned	ra Wash			
Cou	Istructor explains difficult material clearly. Istructor provides facts, examples, and references that helped me learn the material. Istructor gives assignments that contribute to my understanding of the subject.			sponse	s (%)		ln	dividual
		SD	D	N	A	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	1 20%	3 60%	5	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	1 20%	0	1 20%	3 60%	5	4.2
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	1 20%	3 60%	5	4.2
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	1 20%	0	1 20%	3 60%	5	4.2
Q11	My instructor encourages me to do my best work.	0	0	1 20%	1 20%	3 60%	5	4.4
Q12	My instructor provides timely feedback to guide my progress.	0	1 20%	0	2 40%	2 40%	5	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6

Course:	CDFS - 3213 040 - Infant and Toddler Intervention	Department:	518000
Responsible Faculty:	Akhtari Chowdhury	Responses / Expected:	5 / 16 (31.25%)

				С	DFS	- 3213 - 0	40		Survey Comparisons			
	Labs and Online Learning Questions		Responses (%)					Course	All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.6K	4.4	93	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	3.2K	4.4	94	

	urse Evaluation Questions				tari Cho	owdhury	dhury			
Cour	se Evaluation Questions		Re	esponse	es (%)		In	dividual		
		SD	D	N	A	SA	N	Mean		
QЗ	My instructor explains difficult material clearly.	0	0	1 20%	2 40%	2 40%	5	4.2		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8		
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 20%	1 20%	3 60%	5	4.4		
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	0	4 80%	5	4.4		
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0		
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8		
Q11	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8		
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0		
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6		
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither.	Agree	or Disagr	ree=3 [A] Agree	=4 [SA] S	Strong	ly Agree=5		

Course:	CDFS - 3315 040 - Communication in Families	Department:	518000
Responsible Faculty:	Shelia Lumar	Responses / Expected:	3 / 15 (20%)

	Labs and Online Learning Questions				CDFS - 3	315 - 040	Survey Comparisons				
				Res	ponses (%))	(Course	All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	2.6K	4.4	51
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	3.2K	4.4	66

					Shelia L	umar		
Cour	se Evaluation Questions		Res	pon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q11	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or Disagr	ee=3	[A] Agree	=4 [SA] S	trong	ly Agree=5

Course:	CDFS - 3320 040 - Developmental Sexuality	Department:	518000
Responsible Faculty:	Janice Moore	Responses / Expected:	4 / 20 (20%)

				CDFS - 3	3320 - 040)	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					Course	All			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.6K	4.4	93	
Q2 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.2K	4.4	74	

Cour	urse Evaluation Questions				Janice Moore										
Jour	SC E-fallaction Questions	SD	R	espo N	onses (S	%) SA	lno N	dividual Mean							
Q3	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0							
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0							
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0							
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0							
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0							
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8							
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0							
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8							
Q11	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8							
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0							
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0							
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8							
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0							
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0							
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disa	agree	=3 [A] Agre	e=4 [SA] :	Strong	ly Agree=5							

Course:	CDFS - 3325 040 - Family Financial Planning	Department:	518000
Responsible Faculty:	Janice Moore	Responses / Expected:	4 / 20 (20%)

						- 3325 - 0	40	Survey Comparisons				
L	and Online Learning Questions Responses (SD D N A		Responses (%)					Course	All			
			SA	N Mean		N	Mean	Pct Rnk				
Q	1 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.6K	4.4	93	
Q	2 The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	3.2K	4.4	94	

0	Furbrian Occasion				Janio	e Moore	!	
Cour	se Evaluation Questions			·	onses (9			dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disa	agree	=3 [A] Agre	e=4 [SA]	Strong	ly Agree=5

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	CDFS - 3423 040 - Family, School, and Community	Department:	518000
Responsible Faculty:	Janice Moore	Responses / Expected:	5 / 14 (35.71%)

			С	DFS	- 3423 - 0	40		Survey Comparisons					
abs and Online Learning Questions Responses (%)		(%)	(Course	All								
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1 The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	2.6K	4.4	93			
Q2 The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	3.2K	4.4	94			

0	Productive Occasions				Janie	ce Moore		
Cour	se Evaluation Questions			·	onses (S			dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disa	agree	=3 [.	A] Agre	e=4 [SA]	Strong	ıly Agree=5

Course:	CDFS - 4023 040 - Practicum	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	2 / 4 (50%)

					DFS	- 4023 - 0	40		Survey Comparisons				
L	Labs and Online Learning Questions		Res	spon	ses	(%)	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
C	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.6K	4.4	93		
C	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	3.2K	4.4	94		

Cour	se Evaluation Questions					/ashing		
		SD	Re D	spoi N	nses (% A) SA	N	dividual Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or	Disag	ree=	3 [A] Agree	4 [SA]	Strong	Jly Agree=5

Course:	CDFS - 4253 040 - Administration of Programs for Children, Youth and Families	Department:	518000
Responsible Faculty:	Janice Moore	Responses / Expected:	5 / 16 (31.25%)

					CDFS - 4	1253 - 040	Survey Comparisons					
I	Labs and Online Learning Questions		R	tesponses (%)				Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	2.6K	4.4	93	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	3.2K	4.4	78	

C	on Fundamina Quantina				Janio	ce Moore					
Cour	rse Evaluation Questions SD					%)		dividual			
		SD	D	N	Α	SA	N	Mean			
QЗ	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0			
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0			
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0			
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0			
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8			
Q11	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0			
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8			
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0			
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5										

Course:	CDFS - 4345 040 - Parenting Issues and Education	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	4 / 14 (28.57%)

Labs and Online Learning Questions					CDFS - 4	345 - 040	Survey Comparisons				
				Res	ponses (%)	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	2.6K	4.4	66
Q	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.2K	4.4	74

					Nedra \	Washingt	on				
Cour	Course Evaluation Questions SD					%)		dividual			
		SD	D	N	Α	SA	N	Mean			
QЗ	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0			
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0			
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0			
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0			
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0			
Q11	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0			
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0			
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0			
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5										

Course:	CDFS - 4395 040 - Capstone in Child Development and Family Studies	Department:	518000
Responsible Faculty:	Nedra Washington	Responses / Expected:	2 / 4 (50%)

				(CDFS - 4	395 - 04	0	Survey Comparisons				
ı	Labs and Online Learning Questions		Re	espo	nses (%)		(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	2.6K	4.4	51	
	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	3.2K	4.4	48	

					Nedra W	ashingt	on				
Cour	Course Evaluation Questions SD						Inc	dividual			
		SD	D	N	Α	SA	N	Mean			
QЗ	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5			
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5			
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5			
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5			
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5			
Q11	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5			
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5			
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5			
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5										

Course:	CHEM - 1360 030 - Context of Chemistry	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	5 / 15 (33.33%)

		CHEM - 1360 - 030							Survey Comparisons			
L	abs and Online Learning Questions	s and Online Learning Questions Responses (%) Course		All								
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	2.6K	4.4	93	
C	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	3.2K	4.4	94	

		Muhammed Yousufuddin											
Cour	se Evaluation Questions		Res	Responses (%)			In	dividual					
		SD	D	N	A	SA	N	Mean					
Q3	My instructor explains difficult material clearly.	0	0	0	3 60%	2 40%	5	4.4					
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	2 40%	2 40%	5	4.2					
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6					
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6					
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	1 20%	0	2 40%	2 40%	5	4.0					
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 60%	2 40%	5	4.4					
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6					
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8					
Q11	My instructor encourages me to do my best work.	0	0	0	3 60%	2 40%	5	4.4					
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6					
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 20%	1 20%	3 60%	5	4.4					
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 20%	0	1 20%	3 60%	5	4.2					
Q15	My instructor encourages me to develop new viewpoints.	0	1 20%	0	1 20%	3 60%	5	4.2					
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	1 20%	3 60%	5	4.4					
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	gree or	Disagre	e=3 [A]	Agree=4	1 [SA] S	Strong	ly Agree=5					

Course:	CHEM - 1360 301 - Context of Chemistry	Department:	514140
Responsible Faculty:	Scott Grimes	Responses / Expected:	5 / 15 (33.33%)

			CHEM - 1360 - 301							Survey Comparisons				
L	Labs and Online Learning Questions	Responses (%)				Responses (%)				(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
C	The section or lab is well integrated into the course structure.	0	0	0	2 50%	2 50%	4	4.5	2.6K	4.4	51			
	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	3.2K	4.4	58			

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agr$

Course Fueluation Questions					Scott Grimes									
Cou	rse Evaluation Questions		Re	sponse	s (%)		Individual							
		SD	D	N	Α	SA	N	Mean						
QЗ	My instructor explains difficult material clearly.	0	0	1 20%	1 20%	3 60%	5	4.4						
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6						
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6						
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 20%	1 20%	3 60%	5	4.4						
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	1 20%	3 60%	5	4.4						
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 20%	1 20%	3 60%	5	4.4						
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6						
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6						
Q11	My instructor encourages me to do my best work.	0	0	0	2 40%	3 60%	5	4.6						
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8						
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6						
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 20%	0	1 20%	3 60%	5	4.2						
Q15	My instructor encourages me to develop new viewpoints.	0	1 20%	0	1 20%	3 60%	5	4.2						
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	2 40%	0	3 60%	5	4.2						

Course:	CHEM - 1420 001 - General Chemistry for Science Majors	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	11 / 26 (42.31%)

Labs and Online Learning Questions				CHEM	1 - 1420 - (Survey Comparisons				
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	2.6K	4.4	28
q	The course topics are organized in a coherent fashion.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4	3.2K	4.4	38

Course	e Evaluation Questions	Muhammed Yousufuddin Responses (%) Indiv												
				Inc	lividual									
		SD	D	N	Α	SA	N	Mean						
Q3 N	My instructor explains difficult material clearly.	0	1 9.1%	2 18.2%	4 36.4%	4 36.4%	11	4.0						
Q4 N	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 9.1%	4 36.4%	6 54.5%	11	4.5						
Q5 N	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	0	0	3 27.3%	7 63.6%	11	4.4						
Q6	My instructor provides material that helps me do well on assignments.	1 9.1%	0	0	3 27.3%	7 63.6%	11	4.4						
Q7 N	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3						
Q8 N	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	1 9.1%	0	4 36.4%	5 45.5%	11	4.0						
Q9 N	My instructor establishes a climate of respect for students.	0	0	0	3 27.3%	8 72.7%	11	4.7						
Q10 N	My instructor is available to me on matters pertaining to the course.	0	0	0	5 45.5%	6 54.5%	11	4.5						
Q11 N	My instructor encourages me to do my best work.	0	0	2 18.2%	2 18.2%	7 63.6%	11	4.5						
Q12 N	My instructor provides timely feedback to guide my progress.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2						
Q13 N	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 40%	6 60%	10	4.6						
Q14 N	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2						
Q15 N	My instructor encourages me to develop new viewpoints.	1 9.1%	0	2 18.2%	2 18.2%	6 54.5%	11	4.1						
Q16 N	My instructor made the subject interesting and motivated me to learn.	2 18.2%	1 9.1%	1 9.1%	2 18.2%	5 45.5%	11	3.6						

Course:	CHEM - 1440 001 - Laboratory Sequence for General Chemistry.	Department:	514140
Responsible Faculty:	Scott Grimes	Responses / Expected:	4 / 10 (40%)

Labs and Online Learning Questions				C	CHEM - 1	440 - 00)1	Survey Comparisons				
		Responses (%)					(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	3 75%	1 25%	4	4.3	2.6K	4.4	34	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	3.2K	4.4	48	

٥	ourse Evaluation Questions				Scott G	t Grimes			
Cot	rse Evaluation Questions		F	Respons	ses (%)		In	dividual	
		SD	D	N	Α	SA	N	Mean	
QЗ	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 75%	1 25%	4	4.3	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 75%	1 25%	4	4.3	
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	
Q1°	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5	
Q1	My instructor encourages me to develop new viewpoints.	0	0	1 25%	1 25%	2 50%	4	4.3	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3	

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	CHEM - 1440 002 - Laboratory Sequence for General Chemistry.	Department:	514140
Responsible Faculty:	Scott Grimes	Responses / Expected:	7 / 16 (43.75%)

	bs and Online Learning Questions				CHEM - 1	1440 - 002	Survey Comparisons				
H			Responses (%)					Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	0	2 28.6%	5 71.4%	7	4.7	2.6K	4.4	71
	Q2 The course topics are organized in a coherent fashion.	0	0	0	2 28.6%	5 71.4%	7	4.7	3.2K	4.4	71

	Furbration Countries			Sc	ott Grim			
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 42.9%	1 14.3%	3 42.9%	7	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q11	My instructor encourages me to do my best work.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q12	My instructor provides timely feedback to guide my progress.	0	1 14.3%	1 14.3%	1 14.3%	4 57.1%	7	4.1
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q15	My instructor encourages me to develop new viewpoints.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	=4 [SA] St	trong	ly Agree=5

Course:	CHEM - 2380 001 - Organic Chemistry II	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	5 / 23 (21.74%)

Labs and Online Learning Questions				C	CHEM - 2	2380 - 00)1	Survey Comparisons			
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	2.6K	4.4	78
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	3.2K	4.4	78

Cour	se Evaluation Questions			Mul	namme	d Yousu	fuddi	n
Coul	SE EVALUATION QUESTIONS			÷	nses (%	,		dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree of	Disag	ree=	3 [A] Agree	4 [SA]	Strong	ıly Agree=5

Course:	CHEM - 3220 001 - Organic Chemistry II Laboratory	Department:	514140
Responsible Faculty:	Muhammed Yousufuddin	Responses / Expected:	4 / 22 (18.18%)

				C	CHEM - 3	3220 - 00)1	Survey Comparisons				
L	Labs and Online Learning Questions		Re	espo	nses (%)		(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	2.6K	4.4	74	
C	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	3.2K	4.4	48	

Cour	se Evaluation Questions				namme	d Yousu	n dividual	
		SD	D	N	A	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or	Disag	ree=	3 [A] Agree	4 [SA]	Strong	Jly Agree=5

Course:	CJUS - 2100 001 - Crime and Justice in the United States	Department:	514100
Responsible Faculty:	John Coleman	Responses / Expected:	16 / 26 (61.54%)

					CJUS - 2	2100 - 001	Survey Comparisons				
L	Labs and Online Learning Questions			Res	ponses (%))	C	ourse		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
C	1 The section or lab is well integrated into the course structure.	0	0	0	1 11.1%	8 88.9%	9	4.9	2.6K	4.4	85
	2 The course topics are organized in a coherent fashion.	0	0	0	4 33.3%	8 66.7%	12	4.7	3.2K	4.4	66

					John Cole	man		
Cour	se Evaluation Questions		ı	Respons	es (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 6.3%	2 12.5%	13 81.3%	16	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 25%	12 75%	16	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 6.3%	3 18.8%	12 75%	16	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 18.8%	13 81.3%	16	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 6.3%	3 18.8%	12 75%	16	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 6.3%	0	4 25%	11 68.8%	16	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 18.8%	13 81.3%	16	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	2 12.5%	14 87.5%	16	4.9
Q12	My instructor provides timely feedback to guide my progress.	0	1 6.3%	0	3 18.8%	12 75%	16	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 6.7%	14 93.3%	15	4.9
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 6.3%	1 6.3%	14 87.5%	16	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 6.3%	15 93.8%	16	4.9
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 6.7%	2 13.3%	12 80%	15	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neit	her Ag	ree or Dis	sagree=3	[A] Agree	=4 [SA] S	trongly	/ Agree=5

Course:	CJUS - 2100 030 - Crime and Justice in the United States	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	4 / 20 (20%)

					CJUS - 2	100 - 030			Survey Comparisons					
Labs and	Labs and Online Learning Questions			Res	ponses (%))	(Course		All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1 The s	ection or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	2.6K	4.4	66			
Q2 The c	ourse topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.2K	4.4	74			

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

0-	Course Evaluation Questions			ı	Nahid Si	ddique			
Cou	SD D			Respons	ses (%)		ln	dividual	
		SD	D	N	Α	SA	N	Mean	
QЗ	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8	
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8	
Q11	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8	
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8	
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8	

Course:	CJUS - 2300 030 - Fundamentals in Criminal Law	Department:	514100
Responsible Faculty:	Erleigh Wiley	Responses / Expected:	7 / 21 (33.33%)

				(CJUS - 230	00 - 030	Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)					Course	All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	1 The section or lab is well integrated into the course structure.	1 25%	0	0	0	3 75%	4	4.0	2.6K	4.4	22
q	2 The course topics are organized in a coherent fashion.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3	3.2K	4.4	33

		Erleigh Wiley												
Cour	se Evaluation Questions			Respons		In	dividual							
		SD	D	N	Α	SA	N	Mean						
Q3	My instructor explains difficult material clearly.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6						
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6						
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7						
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7						
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6						
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3						
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 28.6%	5 71.4%	7	4.7						
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5						
Q11	My instructor encourages me to do my best work.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6						
Q12	My instructor provides timely feedback to guide my progress.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3						
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6						
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8						
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6						
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6						
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Ne	ither Agree	or D	isagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5						

Course:	CJUS - 2301 001 - Correctional Systems and Practices	Department:	514100
Responsible Faculty:	John Coleman	Responses / Expected:	4 / 8 (50%)

					CJUS -	2301 - 001	l	Survey Comparisons				
	Labs and Online Learning Questions		Responses (%)					Course	All			
			N	Mean	N	Mean	Pct Rnk					
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.6K	4.4	93	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.2K	4.4	74	

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agr$

		John Coleman											
Cou	se Evaluation Questions		Re	sponse	s (%)		In	dividual					
		SD	D	N	A	SA	N	Mean					
Q3	My instructor explains difficult material clearly.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8					
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8					
Q6	My instructor provides material that helps me do well on assignments.	0	1 25%	0	1 25%	2 50%	4	4.0					
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8					
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8					
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8					
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8					
Q11	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8					
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3					
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8					
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8					
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8					
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	1 25%	2 50%	4	4.3					

Course:	CJUS - 2301 030 - Correctional Systems and Practices	Department:	514100
Responsible Faculty:	Ralph Yates	Responses / Expected:	6 / 20 (30%)

	Labs and Online Learning Questions			(CJUS - 2	301 - 03	0	Survey Comparisons				
			Responses (%)					Course	All			
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	2.6K	4.4	60	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	3.2K	4.4	78	

					Ralph Y	ates		
Cour	se Evaluation Questions			Respon	ises (%)			dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q9	My instructor establishes a climate of respect for students.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q11	My instructor encourages me to do my best work.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 50%	3 50%	6	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	4 66.7%	2 33.3%	6	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	Strong	ly Agree=5

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	CJUS - 2302 030 - Police Systems and Practices	Department:	514100
Responsible Faculty:	Ralph Yates	Responses / Expected:	5 / 16 (31.25%)

				JUS	- 2302 - 0	30		Survey Comparisons				
Labs and Online Learning Questions	Responses (%)		Responses (%) Course									
	SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk		
Q1 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	2.6K	4.4	93		
Q2 The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	3.2K	4.4	94		

					Ralph	Yates		
Cour	se Evaluation Questions		ļ	Respon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	1 20%	3 60%	5	4.4
Q11	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Age	ee or I	Disag	ree=3 [A] Agree	=4 [SA] \$	Strong	ıly Agree=5

Course:	CJUS - 2600 001 - Diversity Issues in Criminal Justice	Department:	514100
Responsible Faculty:	James Williams	Responses / Expected:	7 / 25 (28%)

				CJU	S - 2	2600 - 0	01		St	ırvey Comparison	ıs
L	abs and Online Learning Questions	F	esp	onse	s (%	5)	(Course			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	1 20%	0	0	0	4 80%	5	4.2	2.6K	4.4	31
q	The course topics are organized in a coherent fashion.	1 20%	0	0	0	4 80%	5	4.2	3.2K	4.4	29

_				Ja	mes	Williams	;	
Cour	urse Evaluation Questions				es (%	6)	Inc	dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q6	My instructor provides material that helps me do well on assignments.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q 7	My instructor explains new ideas by relating them to familiar concepts.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q9	My instructor establishes a climate of respect for students.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q10	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q11	My instructor encourages me to do my best work.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q12	My instructor provides timely feedback to guide my progress.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q15	My instructor encourages me to develop new viewpoints.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	0	0	6 85.7%	7	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	e or Disagre	e=3	[A]	Agre	e=4 [SA] \$	Strong	ly Agree=5

Course:	CJUS - 2600 030 - Diversity Issues in Criminal Justice	Department:	514100
Responsible Faculty:	Mark Stallo	Responses / Expected:	9 / 29 (31.03%)

					CJUS - 2	600 - 030	Survey Comparisons					
	Labs and Online Learning Questions	Responses (%)						Course	All			
	SD D N A		SA	N	Mean	N	Mean	Pct Rnk				
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 12.5%	7 87.5%	8	4.9	2.6K	4.4	84	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 11.1%	8 88.9%	9	4.9	3.2K	4.4	86	

					Mark S	tallo			
Cour	se Evaluation Questions			Respon	ises (%)			dividual	
		SD	D	N	Α	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 55.6%	4 44.4%	9	4.4	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 44.4%	5 55.6%	9	4.6	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	5 55.6%	4 44.4%	9	4.4	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	
Q9	My instructor establishes a climate of respect for students.	0	0	1 11.1%	4 44.4%	4 44.4%	9	4.3	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	6 66.7%	3 33.3%	9	4.3	
Q11	My instructor encourages me to do my best work.	0	0	0	5 55.6%	4 44.4%	9	4.4	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	4 44.4%	5 55.6%	9	4.6	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	5 55.6%	4 44.4%	9	4.4	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 11.1%	3 33.3%	5 55.6%	9	4.4	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5								

Course:	CJUS - 3350 001 - Statistics in Criminal Justice	Department:	514100
Responsible Faculty:	Aaron Bartula	Responses / Expected:	9 / 20 (45%)

					JUS	- 3350 - 0	01	Survey Comparisons				
L	abs and Online Learning Questions		Res	spon	ses	(%)	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
1	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	2.6K	4.4	93	
(The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	3.2K	4.4	94	

Cour	se Evaluation Questions				Aaron	Bartula			
Cour)		dividual	
		SD	D	N	Α	SA	N	Mean	
QЗ	My instructor explains difficult material clearly.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q11	My instructor encourages me to do my best work.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 22.2%	7 77.8%	9	4.8	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 11.1%	8 88.9%	9	4.9	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	9 100%	9	5.0	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5								

Course:	CJUS - 3600 001 - Criminology	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	2 / 15 (13.33%)

					CJUS - 3	600 - 00	1	Survey Comparisons				
L	Labs and Online Learning Questions		Re	spo	nses (%))	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	2.6K	4.4	51	
Q	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	3.2K	4.4	48	

					Nahio	l Siddique	9				
Cour	se Evaluation Questions			·	onses (9			dividual			
		SD	D	N	Α	SA	N	Mean			
Q3	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5			
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0			
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5			
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5			
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5			
Q11	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5			
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5			
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0			
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5										

Course:	CJUS - 3600 030 - Criminology	Department:	514100
Responsible Faculty:	Aaron Bartula	Responses / Expected:	14 / 39 (35.90%)

					CJUS - 3	3600 - 030	Survey Comparisons					
	Labs and Online Learning Questions	Responses (%)					С	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	3 30%	7 70%	10	4.7	2.6K	4.4	70	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	3 21.4%	11 78.6%	14	4.8	3.2K	4.4	77	

					Aaron B	artula		
Cour	se Evaluation Questions			Respo	nses (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	4 28.6%	10 71.4%	14	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	4 28.6%	10 71.4%	14	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0	4 28.6%	10 71.4%	14	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q11	My instructor encourages me to do my best work.	0	0	0	4 28.6%	10 71.4%	14	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 28.6%	10 71.4%	14	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 35.7%	9 64.3%	14	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 7.1%	5 35.7%	8 57.1%	14	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 35.7%	9 64.3%	14	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	Agree	or Di	isagree=:	3 [A] Agree	e=4 [SA] S	trongl	y Agree=5

Course:	CJUS - 3610 030 - Juvenile Justice	Department:	514100
Responsible Faculty:	Ralph Yates	Responses / Expected:	13 / 29 (44.83%)

					CJUS - 3	3610 - 030	Survey Comparisons					
L	abs and Online Learning Questions			Res	ponses (%))	C	ourse	All			
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk	
Q	1 The section or lab is well integrated into the course structure.	0	0	0	1 12.5%	7 87.5%	8	4.9	2.6K	4.4	84	
Q	2 The course topics are organized in a coherent fashion.	0	0	0	3 23.1%	10 76.9%	13	4.8	3.2K	4.4	76	

					Ralph Y	ates		
Cour	se Evaluation Questions			Respon	ıses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 15.4%	2 15.4%	9 69.2%	13	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q11	My instructor encourages me to do my best work.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 23.1%	10 76.9%	13	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	strongl	y Agree=5

Course:	CJUS - 3610 031 - Juvenile Justice	Department:	514100
Responsible Faculty:	Paul Reynolds	Responses / Expected:	6 / 33 (18.18%)

				CJUS	3610 - 0	Survey Comparisons						
	Labs and Online Learning Questions	Responses (%)						Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	The section or lab is well integrated into the course structure.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8	2.6K	4.4	16	
	The course topics are organized in a coherent fashion.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	3.2K	4.4	20	

				Р	aul Reyno	olds		
Cour	se Evaluation Questions			Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q6	My instructor provides material that helps me do well on assignments.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7
Q9	My instructor establishes a climate of respect for students.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q10	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q11	My instructor encourages me to do my best work.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q12	My instructor provides timely feedback to guide my progress.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q15	My instructor encourages me to develop new viewpoints.	1 16.7%	0	0	3 50%	2 33.3%	6	3.8
Q16	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	1 16.7%	2 33.3%	2 33.3%	6	3.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Nei	ther Agree	or D	isagree=3	[A] Agree	=4 [SA] S	trong	y Agree=5

Course:	CJUS - 3700 001 - Ethical Issues in Criminal Justice	Department:	514100
Responsible Faculty:	James Williams	Responses / Expected:	6 / 23 (26.09%)

					CJUS - 3	700 - 001	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	2.6K	4.4	39
q	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	3.2K	4.4	36

					James Wi	illiams		
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	Strong	ly Agree=5

Course:	CJUS - 3700 030 - Ethical Issues in Criminal Justice	Department:	514100
Responsible Faculty:	Michael Santiago	Responses / Expected:	11 / 31 (35.48%)

					CJUS - 37	00 - 030	Survey Comparisons					
Labs and Online Learning Questions		Responses (%)						ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	0	2 25%	6 75%	8	4.8	2.6K	4.4	74	
	The course topics are organized in a coherent fashion.	1 9.1%	0	0	4 36.4%	6 54.5%	11	4.3	3.2K	4.4	32	

	Productive Occasions				Michael S	Santiago		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	6 54.5%	5 45.5%	11	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 45.5%	6 54.5%	11	4.5
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	6 54.5%	5 45.5%	11	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	6 54.5%	5 45.5%	11	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 45.5%	6 54.5%	11	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	5 45.5%	6 54.5%	11	4.5
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q11	My instructor encourages me to do my best work.	0	0	0	4 36.4%	7 63.6%	11	4.6
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	5 45.5%	6 54.5%	11	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	6 54.5%	5 45.5%	11	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 54.5%	5 45.5%	11	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	6 54.5%	5 45.5%	11	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 45.5%	6 54.5%	11	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	Agree	or D	isagree=3	B [A] Agree	=4 [SA] S	Strongl	y Agree=5

Course:	CJUS - 4200 001 - Criminal Procedure	Department:	514100
Responsible Faculty:	Erleigh Wiley	Responses / Expected:	10 / 23 (43.48%)

					CJUS - 4	200 - 001		Survey Comparisons				
	Labs and Online Learning Questions			Res	ponses (%))	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	The section or lab is well integrated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	2.6K	4.4	43	
	The course topics are organized in a coherent fashion.	0	0	0	1 16.7%	5 83.3%	6	4.8	3.2K	4.4	82	

					Erleigh	Wiley		
Cour	se Evaluation Questions			Respo	onses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	1 10%	1 10%	8 80%	10	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 10%	9 90%	10	4.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 10%	0	9 90%	10	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 10%	9 90%	10	4.9
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	9 100%	9	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 10%	9 90%	10	4.9
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 10%	9 90%	10	4.9
Q11	My instructor encourages me to do my best work.	0	0	0	1 10%	9 90%	10	4.9
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 10%	1 10%	8 80%	10	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 10%	9 90%	10	4.9
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 10%	9 90%	10	4.9
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	10 100%	10	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	Agree	or Di	sagree=	3 [A] Agre	e=4 [SA] S	Strongl	y Agree=5

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	CJUS - 4200 030 - Criminal Procedure	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	4 / 30 (13.33%)

					CJUS - 4	4200 - 030	Survey Comparisons				
	Labs and Online Learning Questions		R	espo	onses (%	b)		Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	2.6K	4.4	93
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	3.2K	4.4	74

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

Course Evaluation Questions			Gretchen Hackard								
Cou	se Evaluation Questions		Res	ponses	(%)	ı		dividual			
		SD	D	N	Α	SA	N	Mean			
QЗ	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3			
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 75%	1 25%	4	4.3			
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 75%	1 25%	4	4.3			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 75%	1 25%	4	4.3			
Q9	My instructor establishes a climate of respect for students.	0	0	1 25%	2 50%	1 25%	4	4.0			
Q10	My instructor is available to me on matters pertaining to the course.	0	1 25%	0	2 50%	1 25%	4	3.8			
Q11	My instructor encourages me to do my best work.	0	0	1 25%	2 50%	1 25%	4	4.0			
Q12	My instructor provides timely feedback to guide my progress.	1 25%	1 25%	1 25%	0	1 25%	4	2.8			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	2 50%	1 25%	4	4.0			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3			
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50%	1 25%	4	4.0			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 75%	1 25%	4	4.3			

Course:	CJUS - 4300 030 - Comparative Criminal Justice	Department:	514100
Responsible Faculty:	Richard Holden	Responses / Expected:	14 / 38 (36.84%)

					CJUS - 4	1300 - 030	Survey Comparisons					
Labs and Online Learning Questions				Res	ponses (%))	C	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
c	The section or lab is well integrated into the course structure.	0	0	0	3 27.3%	8 72.7%	11	4.7	2.6K	4.4	72	
C	The course topics are organized in a coherent fashion.	0	0	0	1 8.3%	11 91.7%	12	4.9	3.2K	4.4	87	

					Richard	Holden		
Cour				Respo	nses (%)			ividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	4 28.6%	10 71.4%	14	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 7.1%	13 92.9%	14	4.9
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.1%	2 14.3%	11 78.6%	14	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q11	My instructor encourages me to do my best work.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 14.3%	12 85.7%	14	4.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 21.4%	11 78.6%	14	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither.	Agree	or D	isagree=3	3 [A] Agree	e=4 [SA] S	trongl	/ Agree=5

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	CJUS - 4330 001 - Domestic and International Terrorism	Department:	514100
Responsible Faculty:	Richard Holden	Responses / Expected:	13 / 50 (26%)

				CJUS - 4	1330 - 001	Survey Comparisons					
Labs and Online Learning Questions	Response)	C	ourse	All			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	3 33.3%	6 66.7%	9	4.7	2.6K	4.4	66	
Q2 The course topics are organized in a coherent fashion.	0	0	0	3 30%	7 70%	10	4.7	3.2K	4.4	69	

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

				R	ichard Ho	olden		
Cou	rse Evaluation Questions		I	Responses (%)				dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 7.7%	12 92.3%	13	4.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 7.7%	1 7.7%	11 84.6%	13	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 7.7%	12 92.3%	13	4.9
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 7.7%	0	1 7.7%	11 84.6%	13	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	13 100%	13	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 7.7%	12 92.3%	13	4.9
Q11	My instructor encourages me to do my best work.	0	0	0	1 8.3%	11 91.7%	12	4.9
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 7.7%	0	12 92.3%	13	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	13 100%	13	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	13 100%	13	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 8.3%	11 91.7%	12	4.9

Course:	CJUS - 4370 030 - Advanced Criminalistics I	Department:	514100
Responsible Faculty:	Ralph Yates	Responses / Expected:	10 / 32 (31.25%)

			C	JUS	- 4370 - 0	30		Survey Comparisons			
Labs and Online Learning Questions		Responses (%)				C	ourse	All			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	0	8 100%	8	5.0	2.6K	4.4	93	
Q2 The course topics are organized in a coherent fashion.	0	0	0	0	10 100%	10	5.0	3.2K	4.4	94	

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

0	Furbuilties Occadions				Yates	es		
Cou	rse Evaluation Questions	20		Respons	es (%)		Ind	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	1 10%	0	9 90%	10	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 10%	0	9 90%	10	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 10%	0	9 90%	10	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 10%	0	9 90%	10	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 10%	0	9 90%	10	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 10%	9 90%	10	4.9
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 10%	0	9 90%	10	4.8
Q11	My instructor encourages me to do my best work.	0	0	1 10%	0	9 90%	10	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 10%	0	9 90%	10	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 10%	0	9 90%	10	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 10%	0	9 90%	10	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	0	9 90%	10	4.8

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	CJUS - 4650 001 - Victimology	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	6 / 32 (18.75%)

	CJUS - 4650 - 001							Survey Comparisons						
L	s and Online Learning Questions			Responses	ıses (%)			Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
0	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	2.6K	4.4	93			
	The course topics are organized in a coherent fashion.	0	0	1 33.3%	0	2 66.7%	3	4.3	3.2K	4.4	36			

				Gretcher	На	ckard				
Cour	se Evaluation Questions		Resp	onses (%))		Inc	dividual		
		SD	D	N	A	SA	N	Mean		
Q3	My instructor explains difficult material clearly.	0	1 16.7%	0	0	5 83.3%	6	4.5		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 16.7%	0	0	5 83.3%	6	4.5		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 16.7%	0	0	5 83.3%	6	4.5		
Q9	My instructor establishes a climate of respect for students.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q10	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	0	0	5 83.3%	6	4.3		
Q11	My instructor encourages me to do my best work.	1 16.7%	0	0	0	5 83.3%	6	4.3		
Q12	My instructor provides timely feedback to guide my progress.	1 16.7%	0	0	0	5 83.3%	6	4.3		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 16.7%	0	0	5 83.3%	6	4.5		
Q15	My instructor encourages me to develop new viewpoints.	0	1 16.7%	0	0	5 83.3%	6	4.5		
Q16	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	0	0	5 83.3%	6	4.3		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Nei	ther Agree	or Disagre	e=3 [A] A	gree	=4 [SA] St	trong	y Agree=5		

Course:	CJUS - 4700 030 - Research Methods in Criminal Justice	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	7 / 35 (20%)

				C.	JUS - 4700	- 030		Survey Comparisons				
L	abs and Online Learning Questions	Responses (%)						Course		All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
(The section or lab is well integrated into the course structure.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3	2.6K	4.4	39	
	The course topics are organized in a coherent fashion.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4	3.2K	4.4	41	

_				Nahi	d Siddiqu	е		
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	4 57.1%	0	3 42.9%	7	3.9
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	3 42.9%	1 14.3%	3 42.9%	7	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	2 28.6%	0	1 14.3%	4 57.1%	7	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	1 14.3%	1 14.3%	1 14.3%	4 57.1%	7	4.1
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	2 28.6%	1 14.3%	1 14.3%	3 42.9%	7	3.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q9	My instructor establishes a climate of respect for students.	0	0	2 28.6%	1 14.3%	4 57.1%	7	4.3
Q10	My instructor is available to me on matters pertaining to the course.	0	0	2 28.6%	0	5 71.4%	7	4.4
Q11	My instructor encourages me to do my best work.	0	1 14.3%	2 28.6%	0	4 57.1%	7	4.0
Q12	My instructor provides timely feedback to guide my progress.	1 14.3%	1 14.3%	0	1 14.3%	4 57.1%	7	3.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 28.6%	1 14.3%	1 14.3%	3 42.9%	7	3.7
Q15	My instructor encourages me to develop new viewpoints.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q16	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	sagree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

Spring 2018 16 week Survey	University of North Texas at Dallas
6181 - Spring 2018 - 1	UNT-Dallas

Course:	CJUS - 4850 001 - Internship in Criminal Justice	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	1 / 4 (25%)

tions			Gret	tche	n Hackaı	rd		
LIONS		R	esponse	s (%)	In	dividual	
	SD	D	N	A	SA	N	Mean	
ains difficult material clearly.	0	0	1 100%	0	0	1	3.0	
ides facts, examples, and references that helped me learn the material.	0	0	1 100%	0	0	1	3.0	
s assignments that contribute to my understanding of the subject.	0	0	1 100%	0	0	1	3.0	
ides material that helps me do well on assignments.	0	0	1 100%	0	0	1	3.0	
ains new ideas by relating them to familiar concepts.	0	0	1 100%	0	0	1	3.0	
uates my work in ways that are helpful to my ability to learn.	0	0	1 100%	0	0	1	3.0	
blishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0	
vailable to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0	
ourages me to do my best work.	0	0	0	0	1 100%	1	5.0	
ides timely feedback to guide my progress.	0	0	1 100%	0	0	1	3.0	
ites an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0	
ourages me to connect course topics to a wider understanding of the subject.	0	0	1 100%	0	0	1	3.0	
ourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0	
le the subject interesting and motivated me to learn.	0	0	1 100%	0	0	1	3.0	
	subject interesting and motivated me to learn.	subject interesting and motivated me to learn.	subject interesting and motivated me to learn. 0 0	subject interesting and motivated me to learn. 0 0 1 1 100%	subject interesting and motivated me to learn. 0 0 1 1 100% 0	subject interesting and motivated me to learn. 0 0 1 1 100% 0 0	subject interesting and motivated me to learn	

Spring 2018 8wk1 Survey
6181 - Spring 2018 - 8W1
University of North Texas at Dallas
UNT-Dallas

Course:	ACCT - 5130 011 - Accounting for Management	Department:	516100
Responsible Faculty:	Randall Hahn	Responses / Expected:	11 / 38 (28.95%)

Cou	rse Evaluation Questions		D-	sponse			lma	lividual
		SD	1		. ,	CA		
			D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	9.1%	1 9.1%	0	4 36.4%	5 45.5%	11	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	2 18.2%	1 9.1%	3 27.3%	5 45.5%	11	4.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q4	My instructor provides material that helps me do well on assignments.	1 9.1%	1 9.1%	0	4 36.4%	5 45.5%	11	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	1 9.1%	1 9.1%	3 27.3%	5 45.5%	11	3.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	1 9.1%	0	4 36.4%	5 45.5%	11	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	1 9.1%	5 45.5%	5 45.5%	11	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	1 9.1%	0	5 45.5%	5 45.5%	11	4.3
Q9	My instructor encourages me to do my best work.	0	1 9.1%	0	5 45.5%	5 45.5%	11	4.3
Q10	My instructor provides timely feedback to guide my progress.	0	2 18.2%	0	4 36.4%	5 45.5%	11	4.1
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 9.1%	0	5 45.5%	5 45.5%	11	4.3
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 18.2%	0	4 36.4%	5 45.5%	11	4.1
Q13	My instructor encourages me to develop new viewpoints.	0	1 9.1%	1 9.1%	5 45.5%	4 36.4%	11	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	1 9.1%	1 9.1%	1 9.1%	4 36.4%	4 36.4%	11	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				AC	CT - 5130 ·	Course All					
Labs	s and Online Learning Questions		Resp	ons	es (%)		(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	1 25%	0	1 25%	2 50%	4	4.0	60	4.6	26
Q16	The course topics are organized in a coherent fashion.	0	1 16.7%	0	2 33.3%	3 50%	6	4.2	109	4.5	26

University of North Texas at Dallas UNT-Dallas

Course:	ACCT - 5470 010 - Auditing Advanced Theory	Department:	516100
Responsible Faculty:	Patricia Wynn	Responses / Expected:	10 / 13 (76.92%)

Cour	se Evaluation Questions		R	espo	onses (%	 6)	Inc	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 10%	9 90%	10	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	10 100%	10	5.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 20%	8 80%	10	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 10%	9 90%	10	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 20%	8 80%	10	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 10%	9 90%	10	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 10%	9 90%	10	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	1 10%	9 90%	10	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 20%	8 80%	10	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 10%	9 90%	10	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 10%	9 90%	10	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 20%	8 80%	10	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					ACCT - 5	470 - 010		Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 16.7%	5 83.3%	6	4.8	60	4.6	66	
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 22.2%	7 77.8%	9	4.8	109	4.5	58	

University of North Texas at Dallas UNT-Dallas

Course:	AEAH - 1750 001 - Visual Arts Integration	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	3 / 17 (17.65%)

C-1	na Fugluation Quartiena							
Cour	se Evaluation Questions		Resp	onses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 33.3%	1 33.3%	1 33.3%	0	0	3	2.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 33.3%	0	0	2 66.7%	0	3	3.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 33.3%	0	0	2 66.7%	0	3	3.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7
Q7	My instructor establishes a climate of respect for students.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q8	My instructor is available to me on matters pertaining to the course.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0
Q9	My instructor encourages me to do my best work.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	3 100%	0	3	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	2 66.7%	1 33.3%	0	3	3.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				AEAH	- 1750 - 0	Survey Comparisons					
Lab	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	1 50%	1 50%	0	2	3.5	60	4.6	14
Q10	The course topics are organized in a coherent fashion.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7	109	4.5	6

University of North Texas at Dallas UNT-Dallas

Course:	ART - 1300 030 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Pamela Harris	Responses / Expected:	7 / 29 (24.14%)

Cour	se Evaluation Questions							
		00	_		ses (%)			dividual
		SD	D	N	A 2	SA 5	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	28.6%	71.4%	7	4.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 28.6%	5 71.4%	7	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	0	6 85.7%	7	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	0	6 85.7%	7	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 14.3%	0	6 85.7%	7	4.7
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3%	0	6 85.7%	7	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				Α	RT -	1300 - 03	30		Survey Comparisons			
La	bs and Online Learning Questions		Res	pons	ses	(%)		Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	60	4.6	84	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	109	4.5	86	

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 5270 030 - Criminal Evidence	Department:	514100
Responsible Faculty:	Gretchen Hackard	Responses / Expected:	3 / 14 (21.43%)

Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3
Q4	My instructor provides material that helps me do well on assignments.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q9	My instructor encourages me to do my best work.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 100%	0	3	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 33.3%	0	1 33.3%	0	1 33.3%	3	3.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C.	JUS - 5270		Survey Comparisons				
Labs and Online Learning Questions			Res	pon	ıses (%)		(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	60	4.6	46
Q16	The course topics are organized in a coherent fashion.	0	1 33.3%	0	1 33.3%	1 33.3%	3	3.7	109	4.5	14

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 5470 030 - Seminar on Juvenile Delinquency	Department:	514100
Responsible Faculty:	Paul Reynolds	Responses / Expected:	5 / 12 (41.67%)

	Forduction Occasions							
Cour	se Evaluation Questions		Res	ponses	(%)		ln	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	2 40%	0	1 20%	2 40%	5	3.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 40%	1 20%	2 40%	5	4.0
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 20%	0	2 40%	2 40%	5	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 20%	2 40%	2 40%	5	4.2
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 20%	0	2 40%	0	2 40%	5	3.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 20%	0	1 20%	1 20%	2 40%	5	3.6
Q7	My instructor establishes a climate of respect for students.	0	1 20%	1 20%	1 20%	2 40%	5	3.8
Q8	My instructor is available to me on matters pertaining to the course.	0	2 40%	2 40%	0	1 20%	5	3.0
Q9	My instructor encourages me to do my best work.	0	0	2 40%	1 20%	2 40%	5	4.0
Q10	My instructor provides timely feedback to guide my progress.	1 20%	1 20%	0	2 40%	1 20%	5	3.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 20%	1 20%	2 40%	1 20%	5	3.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 20%	1 20%	1 20%	2 40%	5	3.8
Q13	My instructor encourages me to develop new viewpoints.	0	1 20%	1 20%	2 40%	1 20%	5	3.6
Q14	My instructor made the subject interesting and motivated me to learn.	0	1 20%	2 40%	0	2 40%	5	3.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				C.	JUS - 54	70 - 030	Survey Comparisons					
Lab	Labs and Online Learning Questions			Respon	ses (%)		(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	60	4.6	84	
Q16	The course topics are organized in a coherent fashion.	0	0	1 25%	1 25%	2 50%	4	4.3	109	4.5	34	

University of North Texas at Dallas UNT-Dallas

Course:	CJUS - 5500 030 - Seminar in Criminal Justice Administration	Department:	514100
Responsible Faculty:	Richard Holden	Responses / Expected:	4 / 11 (36.36%)

Course Evaluation Questions						,										
Cour	ponise Faundrion Anestrons						Individual									
		SD	D	N	Α	SA	N	Mean								
Q1	My instructor explains difficult material clearly.	0	0	1 25%	1 25%	2 50%	4	4.3								
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	0	3 75%	4	4.5								
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8								
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8								
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	0	3 75%	4	4.5								
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5								
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8								
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0								
Q9	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8								
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0								
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8								
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8								
Q13	My instructor encourages me to develop new viewpoints.	1 25%	0	0	1 25%	2 50%	4	3.8								
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8								

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions					CJUS - 5	500 - 030	Survey Comparisons				
		Responses (%)					(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	60	4.6	56
Q	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	109	4.5	86

University of North Texas at Dallas UNT-Dallas

Course:	ECON - 5140 010 - Managerial Economics	Department:	516100
Responsible Faculty:	Daniel Friesen	Responses / Expected:	8 / 28 (28.57%)

Course Evaluation Questions		Responses (%) Individua											
Cour	Sonise Fauination Anestrons				Responses (%)								
		SD	D	N	Α	SA	N	Mean					
Q1	My instructor explains difficult material clearly.	0	1 12.5%	2 25%	3 37.5%	2 25%	8	3.8					
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1					
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1					
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	5 62.5%	3 37.5%	8	4.4					
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3					
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 25%	2 25%	4 50%	8	4.3					
Q7	My instructor establishes a climate of respect for students.	0	0	0	5 62.5%	3 37.5%	8	4.4					
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 50%	4 50%	8	4.5					
Q9	My instructor encourages me to do my best work.	0	0	0	5 62.5%	3 37.5%	8	4.4					
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	4 57.1%	3 42.9%	7	4.4					
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3					
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1					
Q13	My instructor encourages me to develop new viewpoints.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1					
Q14	My instructor made the subject interesting and motivated me to learn.	0	2 25%	0	3 37.5%	3 37.5%	8	3.9					

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions		ECON - 5140 - 010							Survey Comparisons			
		Responses (%)					(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	60	4.6	42	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 50%	3 50%	6	4.5	109	4.5	42	

Spring 2018 8wk1 Survey
6181 - Spring 2018 - 8W1
University of North Texas at Dallas
UNT-Dallas

Course	HSML - 4120 040 - Theoretical Approaches to Addiction Treatment	Department:	518000
Responsible Faculty:	Phillip Ortiz	Responses / Expected:	7 / 29 (24.14%)

Cou	se Evaluation Questions		Do	sponses	(%)		In	dividual
			1	•	(%)	I		
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q7	My instructor establishes a climate of respect for students.	1 14.3%	0	1 14.3%	1 14.3%	4 57.1%	7	4.0
Q8	My instructor is available to me on matters pertaining to the course.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q9	My instructor encourages me to do my best work.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q10	My instructor provides timely feedback to guide my progress.	0	1 14.3%	1 14.3%	2 28.6%	3 42.9%	7	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					HSML - 4	120 - 040		Survey Comparisons				
La	Labs and Online Learning Questions		Responses (%)						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	60	4.6	56	
Q1	The course topics are organized in a coherent fashion.	0	0	0	2 40%	3 60%	5	4.6	109	4.5	50	

University of North Texas at Dallas UNT-Dallas

Course:	HSML - 4700 040 - Program Planning and Evaluation	Department:	518000
Responsible Faculty:	Joy Patton	Responses / Expected:	4 / 20 (20%)

٥	Full still a Counting							
Cour	se Evaluation Questions		Res	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 75%	1 25%	4	4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 75%	1 25%	4	4.3
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 75%	1 25%	4	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	2 50%	1 25%	4	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 75%	1 25%	4	4.3
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	2 50%	1 25%	4	4.0
Q9	My instructor encourages me to do my best work.	0	0	1 25%	2 50%	1 25%	4	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	2 50%	1 25%	4	4.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	2 50%	1 25%	4	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3
Q13	My instructor encourages me to develop new viewpoints.	0	1 25%	0	2 50%	1 25%	4	3.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	2 50%	1 25%	4	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				HS	ML - 4700	- 040		Survey Comparisons				
Lal	Labs and Online Learning Questions		F	Respons	es (%)		(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	60	4.6	26	
Q1	The course topics are organized in a coherent fashion.	0	0	1 50%	1 50%	0	2	3.5	109	4.5	10	

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7103 001 - Oil and Gas I	Department:	LawSchool
Responsible Faculty:	Amanda Ylitalo	Responses / Expected:	15 / 32 (46.88%)

C	na Fuelvation Overtions							
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	2 13.3%	4 26.7%	1 6.7%	4 26.7%	4 26.7%	15	3.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 6.7%	2 13.3%	2 13.3%	7 46.7%	3 20%	15	3.6
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	2 13.3%	5 33.3%	3 20%	2 13.3%	3 20%	15	2.9
Q4	My instructor provides material that helps me do well on assignments.	2 13.3%	4 26.7%	3 20%	3 20%	3 20%	15	3.1
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 6.7%	1 6.7%	8 53.3%	1 6.7%	4 26.7%	15	3.4
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 20%	3 20%	5 33.3%	1 6.7%	3 20%	15	2.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	7 46.7%	8 53.3%	15	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	2 13.3%	3 20%	5 33.3%	5 33.3%	15	3.9
Q9	My instructor encourages me to do my best work.	0	1 6.7%	2 13.3%	6 40%	6 40%	15	4.1
Q10	My instructor provides timely feedback to guide my progress.	1 6.7%	3 20%	6 40%	2 13.3%	3 20%	15	3.2
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	8 53.3%	7 46.7%	15	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	7 46.7%	4 26.7%	4 26.7%	15	3.8
Q13	My instructor encourages me to develop new viewpoints.	0	1 6.7%	7 46.7%	4 26.7%	3 20%	15	3.6
Q14	My instructor made the subject interesting and motivated me to learn.	2 13.3%	3 20%	3 20%	3 20%	4 26.7%	15	3.3

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Labs and Online Learning Questions				L	AW - 7103		Survey Comparisons				
		Responses (%)						Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	1 33.3%	1 33.3%	1 33.3%	3	4.0	60	4.6	26
Q16	The course topics are organized in a coherent fashion.	0	0	2 40%	2 40%	1 20%	5	3.8	109	4.5	18

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7105 501 - Income Tax I	Department:	LawSchool
Responsible Faculty:	Eric Reis	Responses / Expected:	5 / 13 (38.46%)

Cour	se Evaluation Questions							
					nses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				L	AW -	- 7105 - 50)1		Survey Comparisons				
Labs and Online Learning Questions			Res	pons	ses	(%)	-	Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	60	4.6	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	109	4.5	86		

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7110 001 - Criminal Law Topics	Department:	LawSchool
Responsible Faculty:	Brian Owsley	Responses / Expected:	8 / 12 (66.67%)

Cour	se Evaluation Questions							
Cour	se Evaluation Questions			Res	ponses (%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	8 100%	8	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	8 100%	8	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	2 25%	6 75%	8	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					LAW - 7	110 - 00°	1		Survey Comparisons				
Lab	Labs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	60	4.6	-		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	109	4.5	42		

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7111 001 - Dispute Resolution Topics	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	6 / 14 (42.86%)

Cour	se Evaluation Questions							
	•			Response	. ,			dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 33.3%	3 50%	1 16.7%	6	3.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 16.7%	0	0	5 83.3%	6	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 50%	3 50%	6	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				LAW -	7111	- 001			Survey Comparisons				
Lab	Labs and Online Learning Questions		Resp	onses (%)		(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	60	4.6	-		
Q16	The course topics are organized in a coherent fashion.	0	1 50%	1 50%	0	0	2	2.5	109	4.5	2		

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7120 001 - The Trial Process	Department:	LawSchool
Responsible Faculty:	Nicole Williams	Responses / Expected:	4 / 15 (26.67%)

٥	as Fusivation Overtions							
Cour	se Evaluation Questions		Res	sponse	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	2 50%	1 25%	4	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 50%	2 50%	4	4.5
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	0	1 25%	2 50%	4	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 25%	1 25%	2 50%	4	4.3
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					LAW - 712	0 - 00	1		Survey Comparisons				
Labs and Online Learning Questions			Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	60	4.6	26		
Q10	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	109	4.5	22		

University of North Texas at Dallas UNT-Dallas

Course:	LAW - 7122 001 - Trial Advocacy Topics	Department:	LawSchool
Responsible Faculty:	Eric Porterfield	Responses / Expected:	8 / 20 (40%)

Cour	se Evaluation Questions			Resp	onses (%)	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 25%	6 75%	8	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	8 100%	8	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	8 100%	8	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	8 100%	8	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	8 100%	8	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				L	AW -	7122 - 00	01		Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	60	4.6	84		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	109	4.5	86		

University of North Texas at Dallas UNT-Dallas

Course:	MGMT - 3340 010 - Introduction to the Global Auto Industry	Department:	516100
Responsible Faculty:	Cathy Scott	Responses / Expected:	5 / 27 (18.52%)

٥	as Fusiontian Overtions							
Cour	se Evaluation Questions		Res	ponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 20%	3 60%	1 20%	5	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 60%	2 40%	5	4.4
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	1 20%	0	3 60%	1 20%	5	3.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 40%	1 20%	2 40%	5	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 60%	2 40%	5	4.4
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 60%	2 40%	5	4.4
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	4 80%	1 20%	5	4.2
Q9	My instructor encourages me to do my best work.	0	0	2 40%	2 40%	1 20%	5	3.8
Q10	My instructor provides timely feedback to guide my progress.	1 20%	0	1 20%	2 40%	1 20%	5	3.4
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 80%	1 20%	5	4.2
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	3 60%	1 20%	5	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 20%	3 60%	1 20%	5	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	2 40%	2 40%	5	4.2

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				M	IGMT -	3340 - 0	10		Survey Comparisons				
Lal	s and Online Learning Questions	Responses (%)							All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 75%	1 25%	4	4.3	60	4.6	38		
Q1	The course topics are organized in a coherent fashion.	0	0	0	4 80%	1 20%	5	4.2	109	4.5	30		

Course:	MGMT - 4300 010 - Recruitment, Selection and Placement	Department:	516100
Responsible Faculty:	John Hubbard	Responses / Expected:	13 / 32 (40.63%)

Cou	se Evaluation Questions		R	espo	onses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4
Q2	My instructor provides facts, examples, and references that helped me learn the material.	1 8.3%	0	0	4 33.3%	7 58.3%	12	4.3
Q3	My instructor gives assignments that contribute to my understanding of the subject.	1 7.7%	0	0	2 15.4%	10 76.9%	13	4.5
Q4	My instructor provides material that helps me do well on assignments.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4
Q5	My instructor explains new ideas by relating them to familiar concepts.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q7	My instructor establishes a climate of respect for students.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q8	My instructor is available to me on matters pertaining to the course.	1 7.7%	0	0	2 15.4%	10 76.9%	13	4.5
Q9	My instructor encourages me to do my best work.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q10	My instructor provides timely feedback to guide my progress.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 7.7%	0	0	4 30.8%	8 61.5%	13	4.4
Q13	My instructor encourages me to develop new viewpoints.	1 7.7%	0	0	5 38.5%	7 53.8%	13	4.3
Q14	My instructor made the subject interesting and motivated me to learn.	1 7.7%	0	0	3 23.1%	9 69.2%	13	4.5

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					MGMT -	4300 - 010	10 Survey Comparisons					
Lal	s and Online Learning Questions		Respor)	C	ourse		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	3 42.9%	4 57.1%	7	4.6	60	4.6	50	
Q1	The course topics are organized in a coherent fashion.	0	0	0	3 27.3%	8 72.7%	11	4.7	109	4.5	54	

University of North Texas at Dallas UNT-Dallas

Course:	MGMT - 4300 011 - Recruitment, Selection and Placement	Department:	516100
Responsible Faculty:	John Hubbard	Responses / Expected:	7 / 30 (23.33%)

Cour	se Evaluation Questions			Res	onses (%	5)	In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	7 100%	7	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				N	исмт -	4300 - 01	1		Survey Comparisons				
Labs	s and Online Learning Questions		R	espo	onses (%	5)	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	60	4.6	84		
Q16	The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	109	4.5	62		

University of North Texas at Dallas UNT-Dallas

Course:	MGMT - 4860 010 - Organizational Design and Change	Department:	516100
Responsible Faculty:	Frances Conner	Responses / Expected:	10 / 33 (30.30%)

Cour	My instructor gives assignments that contribute to my understanding of the subject. My instructor provides material that helps me do well on assignments. My instructor explains new ideas by relating them to familiar concepts. My instructor evaluates my work in ways that are helpful to my ability to learn. My instructor establishes a climate of respect for students. My instructor is available to me on matters pertaining to the course. My instructor encourages me to do my best work. My instructor provides timely feedback to guide my progress. My instructor creates an atmosphere in which ideas can be exchanged freely.			Respon		Individual		
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 10%	9 90%	10	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 10%	9 90%	10	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	10 100%	10	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 10%	9 90%	10	4.9
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 10%	9 90%	10	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	10 100%	10	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	1 10%	9 90%	10	4.9
Q9	My instructor encourages me to do my best work.	0	0	0	1 10%	9 90%	10	4.9
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 10%	9 90%	10	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	10 100%	10	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 10%	9 90%	10	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 10%	0	9 90%	10	4.8
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	10 100%	10	5.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					MGMT - 4	1860 - 010		Survey Comparisons					
Lab	s and Online Learning Questions			Res	ponses (%))	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	60	4.6	84		
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	109	4.5	68		

Course:	MGMT - 5120 010 - Managing Organizational Design and Change	Department:	516100
Responsible Faculty:	Frances Conner	Responses / Expected:	10 / 41 (24.39%)

Cour	se Evaluation Questions							
Cour	se Evaluation Questions			Res	onses (%)	Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 20%	8 80%	10	4.8
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 20%	8 80%	10	4.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 20%	8 80%	10	4.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 20%	8 80%	10	4.8
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 20%	8 80%	10	4.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 22.2%	7 77.8%	9	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 20%	8 80%	10	4.8
Q9	My instructor encourages me to do my best work.	0	0	0	2 20%	8 80%	10	4.8
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 20%	8 80%	10	4.8
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 20%	8 80%	10	4.8
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 20%	8 80%	10	4.8
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 11.1%	8 88.9%	9	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 20%	8 80%	10	4.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

					MGMT - 5	5120 - 010	Survey Comparisons				
Labs and Online Learning Questions				Res	ponses (%))	(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	60	4.6	62
Q1	The course topics are organized in a coherent fashion.	0	0	0	1 12.5%	7 87.5%	8	4.9	109	4.5	68

University of North Texas at Dallas UNT-Dallas

Course:	MGMT - 5300 010 - Entrepreneurship and Venture Management	Department:	516100
Responsible Faculty:	Isaura Flores	Responses / Expected:	6 / 20 (30%)

Cour	se Evaluation Questions							
	•	00		Response	. ,			dividual
Q1	My instructor explains difficult material clearly.	SD	1 16.7%	N	1 16.7%	SA 4 66.7%	N 6	Mean 4.3
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q9	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				N	/GMT - 5	300 - 01	Survey Comparisons				
Labs and Online Learning Questions			R	espo	oonses (%)			Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q15	The section or lab is well integrated into the course structure.	0	0	0	2 100%	0	2	4.0	60	4.6	26
Q16	The course topics are organized in a coherent fashion.	0	0	0	2 50%	2 50%	4	4.5	109	4.5	42

University of North Texas at Dallas UNT-Dallas

Course:	MKTG - 3650 010 - Foundations of Marketing Practice	Department:	516100
Responsible Faculty:	Gary Holmes	Responses / Expected:	7 / 36 (19.44%)

Ca	se Evaluation Questions							
Cour	se Evaluation Questions			Respon	ıses (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q3	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	7 100%	7	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q7	My instructor establishes a climate of respect for students.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor encourages me to do my best work.	0	0	1 14.3%	0	6 85.7%	7	4.7
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q13	My instructor encourages me to develop new viewpoints.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 42.9%	4 57.1%	7	4.6

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				М	KTG	- 3650 - 0	10		Survey Comparisons				
Labs and Online Learning Questions			Res	pons	ses	(%)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	60	4.6	84		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	109	4.5	86		

University of North Texas at Dallas UNT-Dallas

Course:	PADM - 5900 030 - Special Problems	Department:	514240
Responsible Faculty:	Kimberly O`neil	Responses / Expected:	7 / 16 (43.75%)

Ca	se Evaluation Questions							
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	7 100%	7	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	0	6 85.7%	7	4.7
Q4	My instructor provides material that helps me do well on assignments.	0	0	1 14.3%	0	6 85.7%	7	4.7
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	7 100%	7	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	0	6 85.7%	7	4.7

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

		PADM - 5900					30		Survey Comparisons				
Labs and Online Learning Questions		Responses (%) Course							All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q15	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	60	4.6	84		
Q16	The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	109	4.5	86		

Course:	PLDR - 5325 030 - PLDR Fundraising Principles & Grant Writing	Department:	514240
Responsible Faculty:	Janiece Upshaw	Responses / Expected:	2 / 12 (16.67%)

Cour	se Evaluation Questions		Res	pon	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	2 100%	0	2	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	2 100%	0	2	4.0
Q9	My instructor encourages me to do my best work.	0	0	0	2 100%	0	2	4.0
Q10	My instructor provides timely feedback to guide my progress.	0	1 50%	0	1 50%	0	2	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 100%	0	2	4.0

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

				PL	LDR	- 5325 - 0	30		Survey Comparisons				
Labs and Online Learning Questions			Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	60	4.6	84		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	109	4.5	86		

Course:	LAW - 7V20 501 - Insurance Law	Department:	LawSchool
Responsible Faculty:	Carla Crapster	Responses / Expected:	13 / 19 (68.42%)

Labs and Online Learning Questions SD		LAW - 7V20 - 501							Survey Comparisons				
			Res	ponses (%))	(Course	All					
		D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1 The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	34	4.3	65			
Q2 The course topics are organized in a coherent fashion.	0	0	0	3 37.5%	5 62.5%	8	4.6	58	4.5	55			

					Carla Cr	apster		
Cour	se Evaluation Questions			Respo	nses (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 7.7%	4 30.8%	8 61.5%	13	4.5
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 8.3%	2 16.7%	9 75%	12	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 15.4%	11 84.6%	13	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	Agree	or D	isagree=			Strongl	y Agree:

Course:	LAW - 7V30 1 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Christine Tamer	Responses / Expected:	4 / 5 (80%)

Labs and Online Learning Questions					LAW	7 - 7V30 - 1	1		Survey Comparisons				
			Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	34	4.3	85		
	Q2 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	58	4.5	80		

					Chris	stine Tan	ner	
Cour	se Evaluation Questions		_	pon	ses	` ,		dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	isagre	e=3	[A]	Agre	e=4 [SA]	Strong	gly Agree=5

Course:	LAW - 7102 001 - Immigration Law I	Department:	LawSchool
Responsible Faculty:	Danial Gividen	Responses / Expected:	9 / 16 (56.25%)

Labs and Online Learning Questions				LA	N - 7	7102 - 001			Survey Comparisons				
		Responses (%)						Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
c	The section or lab is well integrated into the course structure.	1 25%	0	0	0	3 75%	4	4.0	34	4.3	35		
C	The course topics are organized in a coherent fashion.	1 14.3%	0	0	0	6 85.7%	7	4.4	58	4.5	45		

				Dani	al G	ividen		
Cour	se Evaluation Questions		Res	sponses	(%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q6	My instructor provides material that helps me do well on assignments.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q9	My instructor establishes a climate of respect for students.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q10	My instructor is available to me on matters pertaining to the course.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q11	My instructor encourages me to do my best work.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q12	My instructor provides timely feedback to guide my progress.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q15	My instructor encourages me to develop new viewpoints.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	1 11.1%	0	1 11.1%	0	7 77.8%	9	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	Agree or Di	sagre	e=3 [A] A	gree	=4 [SA] S	trong	ly Agree=5

Course:	LAW - 7102 1 - Immigration Law I	Department:	LawSchool
Responsible Faculty:	Danial Gividen	Responses / Expected:	6 / 16 (37.50%)

					LAW	' - 7102 - 1	I		Survey Comparisons			
L	Labs and Online Learning Questions		Responses (%)					Course	All			
		SD	D	N	A	SA	SA N M		N Mean		Pct Rnk	
q	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	34	4.3	85	
q	The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	58	4.5	80	

Cour	se Evaluation Questions							
			_		ponses (%			dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agu	ee or [Disag	gree=	3 [A] Agre	e=4 [SA] \$	Strong	ly Agree=5

8W2 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7103 501 - Oil and Gas I	Department:	LawSchool
Responsible Faculty:	Amanda Ylitalo	Responses / Expected:	6 / 13 (46.15%)

					LAW - 71	103 - 501	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(Course	All		
	SD D N A SA N					N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	34	4.3	-
Q2	The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	58	4.5	35

				Amai	nda Ylital	0		
Cour	se Evaluation Questions		Inc	dividual				
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q6	My instructor provides material that helps me do well on assignments.	1 16.7%	1 16.7%	0	1 16.7%	3 50%	6	3.7
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	1 16.7%	4 66.7%	6	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	1 16.7%	1 16.7%	3 50%	6	3.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	6 100%	6	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	6 100%	6	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	6 100%	6	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 16.7%	5 83.3%	6	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	6 100%	6	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	0	5 83.3%	6	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	6 100%	6	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N]	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

8W2 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7105 001 - Income Tax I	Department:	LawSchool
Responsible Faculty:	Eric Reis	Responses / Expected:	6 / 13 (46.15%)

				L	AW	- 7105 - 00)1		Survey Comparisons			
Lal	abs and Online Learning Questions		Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	34	4.3	-	
Q2	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	58	4.5	80	

Cour	Course Evaluation Questions							
Coul	se Evaluation Questions		Responses (,		dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	3 60%	2 40%	5	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 60%	2 40%	5	4.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 60%	2 40%	5	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 60%	2 40%	5	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 50%	2 50%	4	4.5
Q11	My instructor encourages me to do my best work.	0	0	0	4 80%	1 20%	5	4.2
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 20%	3 60%	1 20%	5	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 60%	2 40%	5	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 80%	1 20%	5	4.2
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	4 80%	1 20%	5	4.2
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	e or Di	sagr	ee=3 [A]	Agree=	4 [SA] S	Strong	ıly Agree=5

Course:	LAW - 7105 1 - Income Tax I	Department:	LawSchool
Responsible Faculty:	Eric Reis	Responses / Expected:	8 / 13 (61.54%)

					LAW	- 7105 - 1	1		Survey Comparisons						
L	bs and Online Learning Questions		Res	spon	ses	(%)	(Course		All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk				
Q	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	34	4.3	85				
Q	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	58	4.5	80				

					Eric R	eis		
Cour	se Evaluation Questions	Responses (%) SD D N A					In	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	3 50%	3 50%	6	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 50%	3 50%	6	4.5
Q11	My instructor encourages me to do my best work.	0	0	0	3 50%	3 50%	6	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	2 33.3%	3 50%	6	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	3 50%	3 50%	6	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5							

Course:	LAW - 7111 501 - Dispute Resolution Topics	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	29 / 42 (69.05%)

					LAW - 711	1 - 501	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	2 18.2%	0	0	2 18.2%	7 63.6%	11	4.1	34	4.3	45
ŀ	Q2 The course topics are organized in a coherent fashion.	2 12.5%	0	0	3 18.8%	11 68.8%	16	4.3	58	4.5	25

_				Jon	athan Bri	dges		
Cour	se Evaluation Questions	Responses (%)					Inc	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	2 6.9%	0	0	7 24.1%	20 69%	29	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	2 6.9%	0	0	4 13.8%	23 79.3%	29	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	2 7.1%	0	1 3.6%	6 21.4%	19 67.9%	28	4.4
Q6	My instructor provides material that helps me do well on assignments.	2 6.9%	0	2 6.9%	5 17.2%	20 69%	29	4.4
Q 7	My instructor explains new ideas by relating them to familiar concepts.	2 6.9%	1 3.4%	1 3.4%	3 10.3%	22 75.9%	29	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 6.9%	1 3.4%	1 3.4%	7 24.1%	18 62.1%	29	4.3
Q9	My instructor establishes a climate of respect for students.	2 6.9%	0	0	2 6.9%	25 86.2%	29	4.7
Q10	My instructor is available to me on matters pertaining to the course.	2 6.9%	0	0	5 17.2%	22 75.9%	29	4.6
Q11	My instructor encourages me to do my best work.	2 7.1%	0	0	4 14.3%	22 78.6%	28	4.6
Q12	My instructor provides timely feedback to guide my progress.	2 6.9%	0	0	5 17.2%	22 75.9%	29	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 6.9%	0	0	2 6.9%	25 86.2%	29	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 7.1%	0	0	4 14.3%	22 78.6%	28	4.6
Q15	My instructor encourages me to develop new viewpoints.	2 6.9%	0	0	3 10.3%	24 82.8%	29	4.6
Q16	My instructor made the subject interesting and motivated me to learn.	2 6.9%	0	0	3 10.3%	24 82.8%	29	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] No	either Agr	ee or Dis	agree=3	[A] Agree	=4 [SA] S	trongl	y Agree=5

Course:	LAW - 7112 001 - Public Law Topics	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	10 / 18 (55.56%)

LAW - 7112 - 001							Survey Comparisons						
Labs and Online Learning Questions	ons Responses (%) Cou		Responses (%) Course					Course All					
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1 The section or lab is well integrated into the course structure.	1 20%	0	0	0	4 80%	5	4.2	34	4.3	55			
Q2 The course topics are organized in a coherent fashion.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2	58	4.5	5			

					Thomas	Perkins			
Cour	se Evaluation Questions		Re	espo	nses (%)		In	dividual	
		SD	D	N	Α	SA	N	Mean	
QЗ	My instructor explains difficult material clearly.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	
Q6	My instructor provides material that helps me do well on assignments.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	
Q9	My instructor establishes a climate of respect for students.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	
Q10	My instructor is available to me on matters pertaining to the course.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3	
Q11	My instructor encourages me to do my best work.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3	
Q12	My instructor provides timely feedback to guide my progress.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3	
Q15	My instructor encourages me to develop new viewpoints.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	
Q16	My instructor made the subject interesting and motivated me to learn.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5								

Course:	LAW - 7112 1 - Public Law Topics	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	9 / 21 (42.86%)

	LAW - 7112 - 1							Survey Comparisons					
L	bs and Online Learning Questions	uestions Responses (%) Course		Responses (%) Course				se All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	1 33.3%	0	0	0	2 66.7%	3	3.7	34	4.3	25		
Q	The course topics are organized in a coherent fashion.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3	58	4.5	15		

	Furbridge Occasions			Th	omas Pei	rkins		
Cour	se Evaluation Questions	Responses (%)						dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 11.1%	0	1 11.1%	1 11.1%	6 66.7%	9	4.2
Q6	My instructor provides material that helps me do well on assignments.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q9	My instructor establishes a climate of respect for students.	1 11.1%	0	0	1 11.1%	7 77.8%	9	4.4
Q10	My instructor is available to me on matters pertaining to the course.	1 11.1%	0	0	1 11.1%	7 77.8%	9	4.4
Q11	My instructor encourages me to do my best work.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q12	My instructor provides timely feedback to guide my progress.	1 11.1%	0	0	3 33.3%	5 55.6%	9	4.2
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 11.1%	0	0	1 11.1%	7 77.8%	9	4.4
Q15	My instructor encourages me to develop new viewpoints.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	1 11.1%	0	0	2 22.2%	6 66.7%	9	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5							

Course:	ACCT - 5110 010 - Fundamentals of Accounting Research	Department:	516100
Responsible Faculty:	Pamela Thompson	Responses / Expected:	3 / 12 (25%)

			ACCT - 5110 - 010						S	- Survey Comparisons		
Lab	s and Online Learning Questions			Res	ponses (%)	1	(Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	186	4.4	70	
Q2	The course topics are organized in a coherent fashion.	0	0	0	1 33.3%	2 66.7%	3	4.7	250	4.3	66	

C	se Evaluation Questions				Pamela	Thompso	n	
Cour	se Evaluation Questions			Res	ponses (%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agu	ee or [Disaç	gree=	3 [A] Agre	e=4 [SA] \$	Strong	ıly Agree=5

Course:	ACCT - 5110 10 - Fundamentals of Accounting Research	Department:	516100
Responsible Faculty:	Pamela Thompson	Responses / Expected:	6 / 15 (40%)

		ACCT - 5110 - 10							Survey Comparisons			
Labs and Online Learning Questions			Res	ponses (%))	(Course		All			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1 The section or lab is well integrated into the course structure.	0	0	0	4 66.7%	2 33.3%	6	4.3	186	4.4	46		
Q2 The course topics are organized in a coherent fashion.	0	0	0	4 66.7%	2 33.3%	6	4.3	250	4.3	51		

				Pa	amela Th	ompson		
Cour	se Evaluation Questions			Respon	ses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	4 66.7%	1 16.7%	6	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 83.3%	1 16.7%	6	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 83.3%	1 16.7%	6	4.2
Q9	My instructor establishes a climate of respect for students.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 50%	3 50%	6	4.5
Q11	My instructor encourages me to do my best work.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	5 83.3%	1 16.7%	6	4.2
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 83.3%	1 16.7%	6	4.2
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	4 66.7%	2 33.3%	6	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	3 50%	2 33.3%	6	4.2
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [)isagree=3	[A] Agree	=4 [SA] S	Strong	ly Agree=5

Course:	ACCT - 5200 010 - Professional Ethics and Corporate Governance	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	4 / 18 (22.22%)

	Labs and Online Learning Questions			A	CCT - 52	200 - 010)	Survey Comparisons			
L			Res	pon	ses (%)		(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
c	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	186	4.4	58
c	The course topics are organized in a coherent fashion.	1 25%	0	0	1 25%	2 50%	4	3.8	250	4.3	10

Cour	Course Evaluation Questions					nie Mongiello				
Cour					ses (%)			dividual		
		SD 1	D		A 2	SA	N	Mean		
Q3	My instructor explains difficult material clearly.	25%	0	0	50%	25%	4	3.5		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q6	My instructor provides material that helps me do well on assignments.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q9	My instructor establishes a climate of respect for students.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q10	My instructor is available to me on matters pertaining to the course.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q11	My instructor encourages me to do my best work.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q12	My instructor provides timely feedback to guide my progress.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q15	My instructor encourages me to develop new viewpoints.	1 25%	0	0	2 50%	1 25%	4	3.5		
Q16	My instructor made the subject interesting and motivated me to learn.	1 25%	0	0	2 50%	1 25%	4	3.5		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disagı	ree=:	3 [A]] Agree=	4 [SA] \$	Strong	ıly Agree=5		

Course:	ACCT - 5200 10 - Professional Ethics and Corporate Governance	Department:	516100
Responsible Faculty:	Stephanie Mongiello	Responses / Expected:	8 / 20 (40%)

				Α	CCT - 5200	0 - 10	Survey Comparisons				
Lal	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	186	4.4	29
Q2	The course topics are organized in a coherent fashion.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1	250	4.3	37

ains difficult material clearly. ides facts, examples, and references that helped me learn the material. is assignments that contribute to my understanding of the subject. ides material that helps me do well on assignments. ains new ideas by relating them to familiar concepts.	SD 1 12.5% 1 12.5% 1 12.5% 1 12.5%	D 0 0 0	N 0 0	A 4 50% 4 50%	SA 3 37.5% 3 37.5%	N 8 8	Mean 4.0
ides facts, examples, and references that helped me learn the material. s assignments that contribute to my understanding of the subject. ides material that helps me do well on assignments.	1 12.5% 1 12.5% 1 12.5%	0	0	4 50% 4 50%	3 37.5%	8	4.0
ides facts, examples, and references that helped me learn the material. s assignments that contribute to my understanding of the subject. ides material that helps me do well on assignments.	12.5% 1 12.5% 1 12.5% 1	0	0	50% 4 50%	37.5%		
s assignments that contribute to my understanding of the subject.	12.5% 1 12.5%			50%		8	4.0
ides material that helps me do well on assignments.	12.5%	0	0				4.0
•	1 12.5%	_		4 50%	3 37.5%	8	4.0
ains new ideas by relating them to familiar concepts.		0	0	4 50%	3 37.5%	8	4.0
	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
uates my work in ways that are helpful to my ability to learn.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
blishes a climate of respect for students.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
ailable to me on matters pertaining to the course.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
ourages me to do my best work.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
ides timely feedback to guide my progress.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
tes an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
ourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
ourages me to develop new viewpoints.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
e the subject interesting and motivated me to learn.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
t	des timely feedback to guide my progress. tes an atmosphere in which ideas can be exchanged freely. urages me to connect course topics to a wider understanding of the subject. urages me to develop new viewpoints.	des timely feedback to guide my progress. 1 12.5% tes an atmosphere in which ideas can be exchanged freely. 1 12.5% urages me to connect course topics to a wider understanding of the subject. 1 12.5% urages me to develop new viewpoints. 1 12.5%	des timely feedback to guide my progress. 1 1 12.5% tes an atmosphere in which ideas can be exchanged freely. 1 1 12.5% 1 1 12.5% 0 urages me to connect course topics to a wider understanding of the subject. 1 1 12.5% 0 urages me to develop new viewpoints. 1 1 12.5% 1 1 12.5%	des timely feedback to guide my progress. 1 1 12.5% 0 0 0 tes an atmosphere in which ideas can be exchanged freely. 1 1 12.5% 0 0 0 urages me to connect course topics to a wider understanding of the subject. 1 1 12.5% 0 0 urages me to develop new viewpoints. 1 1 12.5% 0 0 at the subject interesting and metivated me to learn.	urages me to do my best work. 12.5% 0 0 50% des timely feedback to guide my progress. 1 12.5% 0 0 4 50% tes an atmosphere in which ideas can be exchanged freely. 1 12.5% 0 0 4 50% urages me to connect course topics to a wider understanding of the subject. 1 12.5% 0 0 4 50% urages me to develop new viewpoints. 1 0 0 4 50%	urages me to do my best work. 12.5% 0 0 50% 37.5% des timely feedback to guide my progress. 1 12.5% 0 0 4 3 37.5% tes an atmosphere in which ideas can be exchanged freely. 1 12.5% 0 0 4 3 37.5% urages me to connect course topics to a wider understanding of the subject. 1 0 0 4 3 37.5% urages me to develop new viewpoints. 1 0 0 4 3 37.5%	tes an atmosphere in which ideas can be exchanged freely. 12.5% 0 0 50% 37.5% 8 12.5% 0 0 50% 37.5% 8 12.5% 0 0 50% 37.5% 8 12.5% 0 0 4 3 50% 37.5% 8 12.5% 0 0 4 3 50% 37.5% 8 12.5% 0 0 4 3 50% 37.5% 8 12.5% 0 0 4 3 50% 37.5% 8 12.5% 0 0 4 3 50% 37.5% 8

Course:	ACCT - 5300 010 - Federal Taxation of Income	Department:	516100
Responsible Faculty:	Pamela Thompson	Responses / Expected:	2 / 10 (20%)

				-	ACCT - 5	300 - 01	0	Survey Comparisons				
L	abs and Online Learning Questions	Responses (%)					(Course	All			
			D	N	A	SA	N Mean		N	Mean	Pct Rnk	
6	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	186	4.4	58	
6	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	250	4.3	61	

Caus				F	Pamela	Thomp	son	
Cour	se Evaluation Questions			·	nses (%			dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree of	Disag	ree=	3 [A] Agree	4 [SA]	Strong	jly Agree=5

Course:	ACCT - 5300 10 - Federal Taxation of Income	Department:	516100
Responsible Faculty:	Pamela Thompson	Responses / Expected:	3 / 11 (27.27%)

				ACCT - S	5300 - 10	Survey Comparisons					
abs and Online Learning Questions	Responses (%)					(Course	All			
		D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	186	4.4	46	
Q2 The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	250	4.3	51	

Com	se Evaluation Questions				Pamela	Thompso	n	
Coul	se Evaluation Questions		_		ponses (%	,		dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 66.7%	1 33.3%	3	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 66.7%	1 33.3%	3	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or [Disaç	gree=	3 [A] Agre	e=4 [SA] \$	Strong	lly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	ART - 1300 031 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Pamela Harris	Responses / Expected:	4 / 30 (13.33%)

ľ		ART - 1300 - 031					Survey Comparisons					
	Labs and Online Learning Questions	Responses (%) Course					(Course		All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	186	4.4	75	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	250	4.3	71	

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

				Pa	amel	la Harri	ris		
Cou	rse Evaluation Questions		Re	sponse	s (%))	In	dividual	
		SD	D	N	Α	SA	N	Mean	
QЗ	My instructor explains difficult material clearly.	0	0	1 25%	0	3 75%	4	4.5	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 25%	0	3 75%	4	4.5	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5	
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 25%	0	3 75%	4	4.5	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	0	3 75%	4	4.5	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	0	3 75%	4	4.5	
Q9	My instructor establishes a climate of respect for students.	0	0	1 25%	0	3 75%	4	4.5	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5	
Q11	My instructor encourages me to do my best work.	0	0	1 25%	0	3 75%	4	4.5	
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 25%	0	3 75%	4	4.5	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	0	3 75%	4	4.5	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	0	3 75%	4	4.5	
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 25%	0	3 75%	4	4.5	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	0	3 75%	4	4.5	

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	ART - 1300 31 - Art Appreciation for Non-Art Majors	Department:	514120
Responsible Faculty:	Pamela Harris	Responses / Expected:	3 / 28 (10.71%)

			ART	Γ - 1	300 - 31	Survey Comparisons					
abs and Online Learning Questions	Responses (%)					(Course	All			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	1 33.3%	0	2 66.7%	3	4.3	186	4.4	46	
Q2 The course topics are organized in a coherent fashion.	0	0	1 33.3%	0	2 66.7%	3	4.3	250	4.3	51	

Course Evaluation Questions			Pamela Harris								
			_	Response		•	Individual				
		SD	D	N	A	SA	N	Mean			
Q3	My instructor explains difficult material clearly.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q9	My instructor establishes a climate of respect for students.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q11	My instructor encourages me to do my best work.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	0	2 66.7%	3	4.3			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 33.3%	0	2 66.7%	3	4.3			
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or D	isag	ree=3 [A]	Agre	e=4 [SA] \$	Strong	lly Agree=5			

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	BUSI - 5190 10 - Administrative Strategy	Department:	516100
Responsible Faculty:	Ayse Goktan Bilhan	Responses / Expected:	1 / 8 (12.50%)

	BUSI - 5190 - 10						Survey Comparisons				
Labs and Online Learning Questions		Responses (%)		(Course	All					
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	186	4.4	29	
Q2 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	250	4.3	92	

Course Evaluation Questions		Ayse Goktan Bilhan								
			Responses (%)				Individua			
		SD	D	N	Α	SA	N	Mean		
QЗ	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0		
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0		
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0		
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0		
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0		
Q11	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0		
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0		
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0		
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0		

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	CJUS - 5450 030 - Punishment, Discipline and Social Policy	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	8 / 18 (44.44%)

		CJUS - 5450 - 030								Survey Comparisons			
Labs	and Online Learning Questions	Responses (%)					(Course	All				
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1 7	The section or lab is well integrated into the course structure.	1 14.3%	1 14.3%	0	1 14.3%	4 57.1%	7	3.9	186	4.4	19		
Q2 7	The course topics are organized in a coherent fashion.	1 12.5%	1 12.5%	0	2 25%	4 50%	8	3.9	250	4.3	15		

				Nahi	d Siddiqu	ie		
Cour	se Evaluation Questions			In	dividual			
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 12.5%	1 12.5%	2 25%	3 37.5%	1 12.5%	8	3.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 12.5%	1 12.5%	4 50%	2 25%	8	3.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	2 25%	1 12.5%	0	2 25%	3 37.5%	8	3.4
Q6	My instructor provides material that helps me do well on assignments.	0	1 12.5%	1 12.5%	3 37.5%	3 37.5%	8	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	2 25%	1 12.5%	2 25%	1 12.5%	2 25%	8	3.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 25%	2 25%	1 12.5%	1 12.5%	2 25%	8	2.9
Q9	My instructor establishes a climate of respect for students.	1 12.5%	0	1 12.5%	4 50%	2 25%	8	3.8
Q10	My instructor is available to me on matters pertaining to the course.	1 14.3%	1 14.3%	1 14.3%	2 28.6%	2 28.6%	7	3.4
Q11	My instructor encourages me to do my best work.	1 12.5%	1 12.5%	2 25%	2 25%	2 25%	8	3.4
Q12	My instructor provides timely feedback to guide my progress.	3 37.5%	0	1 12.5%	3 37.5%	1 12.5%	8	2.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	1 12.5%	4 50%	2 25%	8	3.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 25%	0	1 12.5%	3 37.5%	2 25%	8	3.4
Q15	My instructor encourages me to develop new viewpoints.	2 28.6%	1 14.3%	0	2 28.6%	2 28.6%	7	3.1
Q16	My instructor made the subject interesting and motivated me to learn.	2 28.6%	1 14.3%	1 14.3%	1 14.3%	2 28.6%	7	3.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	gree or Dis	sagree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

Course:	CJUS - 5450 30 - Punishment, Discipline and Social Policy	Department:	514100
Responsible Faculty:	Nahid Siddique	Responses / Expected:	7 / 18 (38.89%)

	CJUS - 5450 - 30								Survey Comparisons			
Labs and Online Learning Questions	Responses (%)						Course	All				
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1 The section or lab is well integrated into the course structure.	1 25%	0	0	1 25%	2 50%	4	3.8	186	4.4	17		
Q2 The course topics are organized in a coherent fashion.	1 14.3%	1 14.3%	0	2 28.6%	3 42.9%	7	3.7	250	4.3	7		

Evaluation Questions		Po		Nahid Siddique											
		Re	sponses	(%)		Inc	dividual								
	SD	D	N	Α	SA	N	Mean								
ly instructor explains difficult material clearly.	2 28.6%	1 14.3%	1 14.3%	1 14.3%	2 28.6%	7	3.0								
ly instructor provides facts, examples, and references that helped me learn the material.	2 28.6%	1 14.3%	0	1 14.3%	3 42.9%	7	3.3								
ly instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9								
ly instructor provides material that helps me do well on assignments.	1 14.3%	0	1 14.3%	2 28.6%	3 42.9%	7	3.9								
ly instructor explains new ideas by relating them to familiar concepts.	1 14.3%	2 28.6%	1 14.3%	0	3 42.9%	7	3.3								
ly instructor evaluates my work in ways that are helpful to my ability to learn.	2 28.6%	1 14.3%	1 14.3%	0	3 42.9%	7	3.1								
ly instructor establishes a climate of respect for students.	1 14.3%	0	2 28.6%	1 14.3%	3 42.9%	7	3.7								
ly instructor is available to me on matters pertaining to the course.	1 14.3%	0	2 28.6%	1 14.3%	3 42.9%	7	3.7								
ly instructor encourages me to do my best work.	1 14.3%	0	3 42.9%	0	3 42.9%	7	3.6								
ly instructor provides timely feedback to guide my progress.	3 42.9%	1 14.3%	0	1 14.3%	2 28.6%	7	2.7								
ly instructor creates an atmosphere in which ideas can be exchanged freely.	1 14.3%	0	2 28.6%	1 14.3%	3 42.9%	7	3.7								
ly instructor encourages me to connect course topics to a wider understanding of the subject.	2 28.6%	0	1 14.3%	1 14.3%	3 42.9%	7	3.4								
ly instructor encourages me to develop new viewpoints.	2 33.3%	0	1 16.7%	0	3 50%	6	3.3								
ly instructor made the subject interesting and motivated me to learn.	2 28.6%	0	2 28.6%	0	3 42.9%	7	3.3								
111 111 111 111	y instructor gives assignments that contribute to my understanding of the subject. y instructor provides material that helps me do well on assignments. y instructor explains new ideas by relating them to familiar concepts. y instructor evaluates my work in ways that are helpful to my ability to learn. y instructor establishes a climate of respect for students. y instructor is available to me on matters pertaining to the course. y instructor encourages me to do my best work. y instructor provides timely feedback to guide my progress. y instructor creates an atmosphere in which ideas can be exchanged freely. y instructor encourages me to connect course topics to a wider understanding of the subject. y instructor encourages me to develop new viewpoints.	y instructor provides facts, examples, and references that helped me learn the material. 28.6% y instructor gives assignments that contribute to my understanding of the subject. 1 14.3% y instructor provides material that helps me do well on assignments. 1 14.3% y instructor explains new ideas by relating them to familiar concepts. 1 14.3% y instructor evaluates my work in ways that are helpful to my ability to learn. 2 28.6% y instructor establishes a climate of respect for students. 1 14.3% y instructor is available to me on matters pertaining to the course. 1 14.3% y instructor encourages me to do my best work. 2 1 14.3% y instructor provides timely feedback to guide my progress. 3 3 42.9% y instructor creates an atmosphere in which ideas can be exchanged freely. 1 14.3% y instructor encourages me to connect course topics to a wider understanding of the subject. 2 28.6% y instructor encourages me to develop new viewpoints. 2 28.6% y instructor made the subject interesting and motivated me to learn.	y instructor provides facts, examples, and references that helped me learn the material. 28.6% 14.3% y instructor gives assignments that contribute to my understanding of the subject. 1 14.3% y instructor provides material that helps me do well on assignments. 1 14.3% y instructor explains new ideas by relating them to familiar concepts. 1 1 2 28.6% y instructor evaluates my work in ways that are helpful to my ability to learn. 2 1 14.3% y instructor establishes a climate of respect for students. 1 14.3% y instructor is available to me on matters pertaining to the course. 1 14.3% y instructor encourages me to do my best work. 1 14.3% y instructor provides timely feedback to guide my progress. y instructor creates an atmosphere in which ideas can be exchanged freely. y instructor encourages me to connect course topics to a wider understanding of the subject. 2 2 8.6% y instructor encourages me to develop new viewpoints. 2 3 3.3% y instructor made the subject interesting and motivated me to learn.	y instructor provides facts, examples, and references that helped me learn the material. 28.6% 14.3% 0 y instructor gives assignments that contribute to my understanding of the subject. 1 1 14.3% 0 14.3% y instructor provides material that helps me do well on assignments. 1 1 2 1 14.3% y instructor explains new ideas by relating them to familiar concepts. 2 1 1 28.6% 14.3% y instructor evaluates my work in ways that are helpful to my ability to learn. 2 1 1 14.3% y instructor establishes a climate of respect for students. 1 1 0 2 28.6% y instructor is available to me on matters pertaining to the course. 1 1 0 2 28.6% y instructor encourages me to do my best work. 1 1 1 14.3% 1 1 1 14.3% 0 2 2 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	y instructor provides facts, examples, and references that helped me learn the material. 28.6% 14.3% 0 14.3% 14.3% y instructor gives assignments that contribute to my understanding of the subject. 11.4.3% 0 11.4.3% 28.6% y instructor provides material that helps me do well on assignments. 11.4.3% 0 11.4.3% 28.6% y instructor explains new ideas by relating them to familiar concepts. 11.4.3% 28.6% 14.3% 14.3% 0 14.3% 0 14.3% 0 14.3% 14.3% 0 14.3% 14.3% 0 14.3% 14.3% 14.3% 10 14.3% 14.3% 10 14.3% 11.3% 10 14.	y instructor provides facts, examples, and references that helped me learn the material. 28.6% 14.3% 0 14.3% 42.9% y instructor gives assignments that contribute to my understanding of the subject. 11.43% 0 11.3% 28.6% 42.9% y instructor provides material that helps me do well on assignments. 11.43% 0 11.43% 28.6% 42.9% y instructor explains new ideas by relating them to familiar concepts. 11.43% 28.6% 14.3% 10 3 42.9% y instructor evaluates my work in ways that are helpful to my ability to learn. 22.11 1 1 3 28.6% 14.3% 10 42.9% y instructor evaluates my work in ways that are helpful to my ability to learn. 28.6% 14.3% 0 28.6% 14.3% 28.6%	y instructor provides facts, examples, and references that helped me learn the material. 28.6% 14.3% 0 14.3% 42.9% 7 y instructor gives assignments that contribute to my understanding of the subject. 1 1 14.3% 0 1 14.3% 28.6% 42.9% 7 y instructor provides material that helps me do well on assignments. 1 1 14.3% 0 14.3% 28.6% 42.9% 7 y instructor explains new ideas by relating them to familiar concepts. 1 1 2 2 1 1 3 28.6% 14.3% 0 42.9% 7 y instructor evaluates my work in ways that are helpful to my ability to learn. 2 2 1 1 1 1 3 0 3 42.9% 7 y instructor establishes a climate of respect for students. 1 1 3 0 2 28.6% 14.3% 0 42.9% 7 y instructor is available to me on matters pertaining to the course. 1 1 3 0 2 28.6% 14.3% 42.9% 7 y instructor encourages me to do my best work. 1 1 1 1 3 0 2 28.6% 14.3% 42.9% 7 y instructor provides timely feedback to guide my progress. 3 1 1 1 1 2 2 3 3 7 y instructor provides timely feedback to guide my progress. 3 1 1 1 1 3 0 2 2 1 1 3 3 2 2 1 1 3 3 42.9% 7 y instructor creates an atmosphere in which ideas can be exchanged freely. 4 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1								

Course:	CJUS - 5460 030 - Correctional Practices and Programs	Department:	514100
Responsible Faculty:	John Coleman	Responses / Expected:	4 / 11 (36.36%)

	CJUS - 5460 - 030							Survey Comparisons			
Labs and Online Learning Questions SD		Responses (%)				(Course	All			
		D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	186	4.4	70	
Q2 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	250	4.3	71	

0	se Evaluation Questions				John	Colemar	1	
Cour	se Evaluation Questions		_	•	onses (9			dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 25%	3 75%	4	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 50%	2 50%	4	4.5
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disa	agree	=3 [A] Agree	e=4 [SA]	Strong	ly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Cour	e: CJUS - 5460 30 - Correctional Practices and Programs	Department:	514100
Responsible Facu	y: John Coleman	Responses / Expected:	3 / 11 (27.27%)

					CJUS - 54	460 - 30		Survey Comparisons				
Labs and Online Learning Questions		Responses (%)						Course	All			
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	186	4.4	29	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	250	4.3	61	

Cour	se Evaluation Questions		John Coleman					
Cour	se Evaluation Questions	Responses (SD D N	`			dividual		
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0		2 66.7%	3	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0		2 66.7%	3	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0		2 66.7%	3	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0		2 66.7%	3	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0		2 66.7%	3	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0		1 33.3%	3	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0		1 33.3%	3	4.3
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or [Disag	gree=	3 [A] Agre	e=4 [SA] \$	Strong	ıly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Cours	e: CJUS - 5700 030 - Evaluation and Research Methodologies	Department:	514100
Responsible Facul	y: Paul Reynolds	Responses / Expected:	10 / 12 (83.33%)

Г	abs and Online Learning Questions			CJU	S - 5700 -		Survey Comparisons				
			Resp	onse	es (%)		C	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	The section or lab is well integrated into the course structure.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	186	4.4	29
	The course topics are organized in a coherent fashion.	0	2 28.6%	0	2 28.6%	3 42.9%	7	3.9	250	4.3	13

				Pa	ul Reyno	lds		
Cour	se Evaluation Questions		Re	sponse	s (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	2 20%	0	3 30%	5 50%	10	4.1
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 10%	1 10%	2 20%	6 60%	10	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	1 10%	0	2 20%	6 60%	10	4.1
Q6	My instructor provides material that helps me do well on assignments.	0	1 10%	2 20%	1 10%	6 60%	10	4.2
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	2 20%	0	2 20%	6 60%	10	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 11.1%	0	2 22.2%	6 66.7%	9	4.4
Q9	My instructor establishes a climate of respect for students.	1 10%	1 10%	1 10%	0	7 70%	10	4.1
Q10	My instructor is available to me on matters pertaining to the course.	0	1 10%	1 10%	0	8 80%	10	4.5
Q11	My instructor encourages me to do my best work.	0	1 10%	0	2 20%	7 70%	10	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	2 20%	0	0	8 80%	10	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	2 20%	1 10%	0	7 70%	10	4.2
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 10%	1 10%	0	8 80%	10	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	1 10%	0	2 20%	7 70%	10	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	2 20%	1 10%	2 20%	5 50%	10	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] No	either Ag	ree or Disa	gree=3	[A] Agree	=4 [SA] S	trongly	y Agree=5

Course:	CJUS - 5700 30 - Evaluation and Research Methodologies	Department:	514100
Responsible Faculty:	Paul Reynolds	Responses / Expected:	8 / 12 (66.67%)

				C	JUS - 5	700 - 30			Survey Comparisons				
L	abs and Online Learning Questions	Responses (%)					(Course	All				
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
C	The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	186	4.4	79		
C	The course topics are organized in a coherent fashion.	1 20%	0	0	1 20%	3 60%	5	4.0	250	4.3	26		

SD D N A SA N Q3 My instructor explains difficult material clearly. Q4 My instructor provides facts, examples, and references that helped me learn the material. Q5 My instructor gives assignments that contribute to my understanding of the subject. Q6 My instructor provides material that helps me do well on assignments. Q7 My instructor explains new ideas by relating them to familiar concepts. Q8 My instructor explains new ideas by relating them to familiar concepts. Q9 My instructor evaluates my work in ways that are helpful to my ability to learn. Q9 My instructor establishes a climate of respect for students. Q1 My instructor is available to me on matters pertaining to the course. Q1 My instructor encourages me to do my best work. Q1 My instructor provides timely feedback to guide my progress. Q1 My instructor creates an atmosphere in which ideas can be exchanged freely. Q1 My instructor can be provided as a wider understanding of the subject. Q1 My instructor creates an atmosphere in which ideas can be exchanged freely. Q1 My instructor can be provided as a wider understanding of the subject. Q1 My instructor creates an atmosphere in which ideas can be exchanged freely. Q1 My instructor can be provided as a wider understanding of the subject. Q1 My instructor can be provided as a wider understanding of the subject. Q1 My instructor can be provided as a wider understanding of the subject. Q2 My instructor can be provided as a wider understanding of the subject. Q3 S S S S S S S S S S S S S S S S S S S								
Cour	No. No.	In	dividual					
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0				8	4.1
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0				8	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.		0				8	4.1
Q6	My instructor provides material that helps me do well on assignments.	0					8	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0				8	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0				7	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0			8	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0			8	4.6
Q11	My instructor encourages me to do my best work.	0	0	0			8	4.6
Q12	My instructor provides timely feedback to guide my progress.	0	0	0			7	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.		0	0			7	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0			8	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	0			8	4.6
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0			8	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	COMM - 1010 030 - Introduction to Communication	Department:	514120
Responsible Faculty:	Damla Ricks	Responses / Expected:	4 / 30 (13.33%)

	Labs and Online Learning Questions			CC	ММ	l - 1010 - (030	Survey Comparisons				
			Res	spon	ses	(%)	(Course	All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	186	4.4	92	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	250	4.3	92	

					Damla	Ricks		
Cour	se Evaluation Questions		F	Respons	ses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 25%	3 75%	4	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 25%	0	3 75%	4	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	0	3 75%	4	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 25%	0	3 75%	4	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	1 25%	0	3 75%	4	4.5
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5
Q11	My instructor encourages me to do my best work.	0	0	1 25%	0	3 75%	4	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 25%	0	3 75%	4	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agre	e or Di	sagr	ee=3 [A]	Agree=	4 [SA] \$	Strong	ıly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	COMM - 1010 30 - Introduction to Communication	Department:	514120
Responsible Faculty:	Damla Ricks	Responses / Expected:	5 / 29 (17.24%)

					сомм -	1010 - 30	Survey Comparisons						
La	abs and Online Learning Questions		Responses (%)				Course			All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1	The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	186	4.4	70		
Q2	The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	250	4.3	71		

					Damla	Ricks		
Cou	se Evaluation Questions		F	Respons	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	3 60%	2 40%	5	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 60%	2 40%	5	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	2 40%	2 40%	5	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 40%	3 60%	5	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 60%	2 40%	5	4.4
Q11	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 40%	3 60%	5	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 40%	3 60%	5	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 20%	1 20%	3 60%	5	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6
		0	0	0	2 40%	3 60%	5	4

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Cour	e: ENGL - 1323 030 - Computer Assisted College Writing II	Department:	514120
Responsible Facu	y: Robert Harris	Responses / Expected:	2 / 13 (15.38%)

				ENG	L - 1	323 - 03	0	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(Course	All			
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	1 50%	0	1 50%	2	4.0	186	4.4	29	
	Q2 The course topics are organized in a coherent fashion.	0	0	1 50%	0	1 50%	2	4.0	250	4.3	26	

					Robert	Harris		
Cour	se Evaluation Questions		F	Respons	es (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 50%	0	1 50%	2	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 50%	0	1 50%	2	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 50%	0	1 50%	2	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agre	e or Di	sagr	ee=3 [A]	Agree=	4 [SA] 9	Strong	ıly Agree=5

Course:	ENGL - 1323 30 - Computer Assisted College Writing II	Department:	514120
Responsible Faculty:	Robert Harris	Responses / Expected:	2 / 8 (25%)

				E	NGL	1323 - 3	30	Survey Comparisons				
L	Labs and Online Learning Questions		Res	spon	ses	(%)	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	186	4.4	92	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	250	4.3	92	

	Production Occasions				Rol	bert Harri	s	
Cour	se Evaluation Questions		_	pon	ses	` ,		dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	2 100%	2	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	e=3	[A]	Agre	e=4 [SA]	Strong	Jly Agree=5

Course:	FINA - 5170 010 - Financial Management	Department:	516100
Responsible Faculty:	Ajamu Loving	Responses / Expected:	6 / 39 (15.38%)

Labs and Online Learning Questions				FIN	A - 5170 -	Survey Comparisons					
		Responses (%)					(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
c	The section or lab is well integrated into the course structure.	0	0	1 20%	1 20%	3 60%	5	4.4	186	4.4	50
C	The course topics are organized in a coherent fashion.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	250	4.3	26

Cour	se Evaluation Questions				Ajamu Lo	oving				
Cour	se evaluation questions		Res	pon	ses (%)		In	dividual		
		SD	D	N	Α	SA	N	Mean		
Q3	My instructor explains difficult material clearly.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q6	My instructor provides material that helps me do well on assignments.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q9	My instructor establishes a climate of respect for students.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q10	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q11	My instructor encourages me to do my best work.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q12	My instructor provides timely feedback to guide my progress.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q15	My instructor encourages me to develop new viewpoints.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
Q16	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5									

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	FINA - 5170 10 - Financial Management	Department:	516100
Responsible Faculty:	Ajamu Loving	Responses / Expected:	8 / 40 (20%)

Labs and Online Learning Questions			FIN	NA - 517	0 - 10	Survey Comparisons				
		Responses (%)						All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course structure.	1 20%	0	1 20%	1 20%	2 40%	5	3.6	186	4.4	15
Q2 The course topics are organized in a coherent fashion.	2 25%	0	0	4 50%	2 25%	8	3.5	250	4.3	4

					Ajamu	Loving		
Cour	se Evaluation Questions		F	Resp	onses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q6	My instructor provides material that helps me do well on assignments.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q9	My instructor establishes a climate of respect for students.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q10	My instructor is available to me on matters pertaining to the course.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q11	My instructor encourages me to do my best work.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q12	My instructor provides timely feedback to guide my progress.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q15	My instructor encourages me to develop new viewpoints.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
Q16	My instructor made the subject interesting and motivated me to learn.	2 25%	0	0	3 37.5%	3 37.5%	8	3.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	gree or D	isag	ree=	3 [A] Agre	e=4 [SA] \$	Strong	ly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	HSML - 3700 040 - Case Management in Human Services	Department:	518000
Responsible Faculty:	Amanda Coleman-Mason	Responses / Expected:	8 / 24 (33.33%)

				Н	ISML - 37	00 - 040	Survey Comparisons				
	Labs and Online Learning Questions		Responses (%)						All		
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0	186	4.4	29
	Q2 The course topics are organized in a coherent fashion.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0	250	4.3	26

_			A	manda C	oleman-l	Mason		
Cour	se Evaluation Questions			In	dividual			
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 12.5%	0	2 25%	3 37.5%	2 25%	8	3.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	1 12.5%	4 50%	2 25%	8	3.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	0	5 62.5%	2 25%	8	3.9
Q6	My instructor provides material that helps me do well on assignments.	1 12.5%	0	0	4 50%	3 37.5%	8	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	1 12.5%	0	3 37.5%	3 37.5%	8	3.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1
Q9	My instructor establishes a climate of respect for students.	0	1 12.5%	0	4 50%	3 37.5%	8	4.1
Q10	My instructor is available to me on matters pertaining to the course.	0	0	2 25%	3 37.5%	3 37.5%	8	4.1
Q11	My instructor encourages me to do my best work.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q12	My instructor provides timely feedback to guide my progress.	0	0	2 25%	2 25%	4 50%	8	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 12.5%	0	3 37.5%	4 50%	8	4.3
Q15	My instructor encourages me to develop new viewpoints.	0	0	2 25%	2 25%	4 50%	8	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	1 12.5%	0	0	3 37.5%	4 50%	8	4.1
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	HSML - 3700 40 - Case Management in Human Services	Department:	518000
Responsible Faculty:	Amanda Coleman-Mason	Responses / Expected:	7 / 25 (28%)

				HSML	Survey Comparisons							
ı	Labs and Online Learning Questions		Re	sponses ((%)		C	ourse	All			
	s		D	N	A SA		N	Mean	N	Mean	Pct Rnk	
	The section or lab is well integrated into the course structure.	1 14.3%	1 14.3%	0	3 42.9%	2 28.6%	7	3.6	186	4.4	13	
	The course topics are organized in a coherent fashion.	1 14.3%	0	1 14.3%	3 42.9%	2 28.6%	7	3.7	250	4.3	7	

				Amanda	Coleman	n-Mason		
Cour	se Evaluation Questions		ı	Response	s (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	1 14.3%	2 28.6%	2 28.6%	2 28.6%	7	3.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 28.6%	2 28.6%	3 42.9%	7	4.1
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	1 14.3%	0	3 42.9%	3 42.9%	7	4.1
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 28.6%	3 42.9%	2 28.6%	7	4.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	1 14.3%	2 28.6%	4 57.1%	7	4.4
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q11	My instructor encourages me to do my best work.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	4 [SA] S	trong	y Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	HSML - 4350 040 - Community Organizing, Development and Collaboration	Department:	518000
Responsible Faculty:	Joy Patton	Responses / Expected:	5 / 20 (25%)

		HSML - 4350 - 040								Survey Comparisons			
L	abs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
q	The section or lab is well integrated into the course structure.	0	0	0	3 60%	2 40%	5	4.4	186	4.4	50		
q	The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	250	4.3	56		

Cour	se Evaluation Questions					Patton			
		SD	Re D	spoi N	nses (% A) SA	In N	dividual Mean	
QЗ	My instructor explains difficult material clearly.	0	0	0	3 60%	2 40%	5	4.4	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 60%	2 40%	5	4.4	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 60%	2 40%	5	4.4	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 60%	2 40%	5	4.4	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 60%	2 40%	5	4.4	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 60%	2 40%	5	4.4	
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 60%	2 40%	5	4.4	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 60%	2 40%	5	4.4	
Q11	My instructor encourages me to do my best work.	0	0	0	3 60%	2 40%	5	4.4	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 60%	2 40%	5	4.4	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 60%	2 40%	5	4.4	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 60%	2 40%	5	4.4	
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	3 60%	2 40%	5	4.4	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or	Disag	ree=	3 [A] Agree=	4 [SA]	Strong	ly Agree=5	

Course:	HSML - 4350 40 - Community Organizing, Development and Collaboration	Department:	518000
Responsible Faculty:	Joy Patton	Responses / Expected:	6 / 21 (28.57%)

				Н	SML - 435	0 - 40	Survey Comparisons					
La	bs and Online Learning Questions	Responses (%)						Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	2 40%	3 60%	5	4.6	186	4.4	65	
Q	The course topics are organized in a coherent fashion.	1 16.7%	0	0	2 33.3%	3 50%	6	4.0	250	4.3	26	

Cour	se Evaluation Questions				Joy	Patton	1		
Cour	Se Evaluation Questions		_		ponses (%	,		dividual	
		SD	D	N	A	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q11	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 33.3%	4 66.7%	6	4.7	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 16.7%	5 83.3%	6	4.8	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or I	Disaç	gree=	3 [A] Agre	e=4 [SA] \$	Strong	lly Agree=5	

Course:	HSML - 4660 040 - Intervention Strategies for Behavioral and Chemical Addictio	Department:	518000
Responsible Faculty:	Shelia Lumar	Responses / Expected:	5 / 9 (55.56%)

				н	SML - 46	560 - 04	0		Survey Comparisons			
Labs and Online Learning Questions		Responses (%)						Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	1 20%	0	0	1 20%	3 60%	5	4.0	186	4.4	29	
ŀ	Q2 The course topics are organized in a coherent fashion.	1 20%	0	0	1 20%	3 60%	5	4.0	250	4.3	26	

_				S	helia L	umar		
Cour	se Evaluation Questions		Re	esponse	es (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 40%	3 60%	5	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 40%	3 60%	5	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	1 20%	3 60%	5	4.2
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 40%	3 60%	5	4.6
Q11	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	1 20%	1 20%	0	3 60%	5	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither.	Agree	or Disagr	ee=3 [A] Agree	=4 [SA] S	trong	ly Agree=5

Course:	HSML - 4660 40 - Intervention Strategies for Behavioral and Chemical Addictio	Department:	518000
Responsible Faculty:	Shelia Lumar	Responses / Expected:	5 / 10 (50%)

Г				ı	HSML - 4	1660 - 4	0	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 20%	4 80%	5	4.8	186	4.4	79	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	250	4.3	79	

				S	helia Lu	mar						
Cour	se Evaluation Questions		Re	sponse	s (%)		In	dividual				
		SD	D	N	A	SA	N	Mean				
Q3	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8				
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8				
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8				
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8				
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 40%	3 60%	5	4.6				
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 20%	0	1 20%	3 60%	5	4.2				
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8				
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5				
Q11	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8				
Q12	My instructor provides timely feedback to guide my progress.	0	1 20%	0	1 20%	3 60%	5	4.2				
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8				
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6				
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6				
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 40%	3 60%	5	4.6				
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	gree or	Disagre	e=3 [A]	Agree=4	1 [SA] S	Strong	ly Agree=5				

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7V20 501 - Insurance Law	Department:	LawSchool
Responsible Faculty:	Carla Crapster	Responses / Expected:	10 / 19 (52.63%)

				ı	LAW - 7V2	0 - 501	Survey Comparisons					
La	Labs and Online Learning Questions		Responses (%)						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	186	4.4	58	
Q	The course topics are organized in a coherent fashion.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3	250	4.3	46	

				Cai	la Crap	ster		
Cou	se Evaluation Questions		Res	ponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 10%	0	0	2 20%	7 70%	10	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 10%	0	1 10%	1 10%	7 70%	10	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 10%	0	1 10%	1 10%	7 70%	10	4.3
Q6	My instructor provides material that helps me do well on assignments.	1 10%	1 10%	0	1 10%	7 70%	10	4.2
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 10%	0	0	2 20%	7 70%	10	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 10%	0	0	2 20%	7 70%	10	4.4
Q9	My instructor establishes a climate of respect for students.	1 10%	0	0	1 10%	8 80%	10	4.5
Q10	My instructor is available to me on matters pertaining to the course.	1 10%	0	0	2 20%	7 70%	10	4.4
Q11	My instructor encourages me to do my best work.	1 10%	0	0	2 20%	7 70%	10	4.4
Q12	My instructor provides timely feedback to guide my progress.	1 10%	0	0	2 20%	7 70%	10	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 10%	0	0	1 10%	8 80%	10	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 10%	0	0	1 10%	8 80%	10	4.5
Q15	My instructor encourages me to develop new viewpoints.	1 10%	0	0	1 10%	8 80%	10	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	1 10%	0	0	1 10%	8 80%	10	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	Agree or	Disagre	e=3 [A]	Agree=4	[SA] S	trongl	y Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7V30 1 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Christine Tamer	Responses / Expected:	3 / 5 (60%)

				LAW	- 7V30 - ′	1		Survey Comparisons				
Labs and Online Learning Questions		Res	spon	ses	(%)	(Course	All				
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	186	4.4	92		
Q2 The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	250	4.3	92		

					Chris	stine Tan	ner	
Cour	se Evaluation Questions		Res	pon	ses	(%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	isagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7102 001 - Immigration Law I	Department:	LawSchool			
Responsible Faculty:	Danial Gividen	Responses / Expected:	6 / 16 (37.50%)			

				LAW	I - 7	102 - 001		Survey Comparisons				
Labs and Online Learning Questions				Responses	s (%)	(Course	All			
		SD D N A SA N		N	Mean	N	Mean	Pct Rnk				
	Q1 The section or lab is well integrated into the course structure.	0	0	1 25%	0	3 75%	4	4.5	186	4.4	58	
	Q2 The course topics are organized in a coherent fashion.	0	0	1 16.7%	0	5 83.3%	6	4.7	250	4.3	66	

Caus	Course Evaluation Questions					Gividen				
Cour)		dividual		
		SD	D	N	Α	SA	N	Mean		
Q3	My instructor explains difficult material clearly.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q9	My instructor establishes a climate of respect for students.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q11	My instructor encourages me to do my best work.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 16.7%	0	5 83.3%	6	4.7		
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 16.7%	0	5 83.3%	6	4.7		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5									

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7102 1 - Immigration Law I	Department:	LawSchool
Responsible Faculty:	Danial Gividen	Responses / Expected:	4 / 16 (25%)

					LAW - 7102 - 1 Survey Co.							
L	Labs and Online Learning Questions		Responses (%) Course				Course	e All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	186	4.4	92	
C	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	250	4.3	92	

C	on Fundation Quantities				Dan	Danial Gividen				
Cour	Course Evaluation Questions					(%)	In	dividual		
		SD	D	N	Α	SA	N	Mean		
QЗ	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0		
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0		
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	4 100%	4	5.0		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	4 100%	4	5.0		
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0		
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	4 100%	4	5.0		
Q11	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0		
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	4 100%	4	5.0		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	4 100%	4	5.0		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	4 100%	4	5.0		
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	4 100%	4	5.0		
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	4 100%	4	5.0		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5									

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7103 501 - Oil and Gas I	Department:	LawSchool
Responsible Faculty:	Amanda Ylitalo	Responses / Expected:	4 / 13 (30.77%)

Cour	se Evaluation Questions				nda Yli	talo	1	
oou.	or Evaluation Questions	Responses (%)			In	dividual		
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	1 25%	2 50%	1 25%	4	4.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	1 25%	1 25%	0	2 50%	4	3.8
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	1 33.3%	0	0	1 33.3%	3	2.7
Q4	My instructor provides material that helps me do well on assignments.	1 25%	1 25%	1 25%	0	1 25%	4	2.8
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	1 25%	2 50%	4	4.3
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 25%	1 25%	1 25%	0	1 25%	4	2.8
Q7	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5
Q9	My instructor encourages me to do my best work.	0	0	1 25%	0	3 75%	4	4.5
Q10	My instructor provides timely feedback to guide my progress.	1 25%	1 25%	0	1 25%	1 25%	4	3.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 25%	0	3 75%	4	4.5
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 25%	0	1 25%	2 50%	4	4.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50%	1 25%	4	4.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	1 25%	2 50%	1 25%	4	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either Agree	e or Disagre				trong	ly Agree

Course:	LAW - 7105 001 - Income Tax I	Department:	LawSchool
Responsible Faculty:	Eric Reis	Responses / Expected:	4 / 13 (30.77%)

		LAW - 7105 - 001 Survey Compariso							ons		
La	bs and Online Learning Questions		Responses (%)		(Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	186	4.4	-
Q2	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	250	4.3	26

Cour	se Evaluation Questions					c Reis		
Jour	ac Evaluation Questions	SD	R	espo N	onses (9	6) SA	ln N	dividual Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 50%	2 50%	4	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 25%	3 75%	4	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 25%	3 75%	4	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 50%	2 50%	4	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 50%	2 50%	4	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 50%	2 50%	4	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disa	agree	=3 [A Agree	=4 [SA]	Strong	Jly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7105 1 - Income Tax I	Department:	LawSchool
Responsible Faculty:	Eric Reis	Responses / Expected:	3 / 13 (23.08%)

Evaluation Questions							
		_	·	onses (9			dividual
	SD	D	N	Α	SA	N	Mean
y instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
y instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
y instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
y instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
y instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
y instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
y instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
y instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
y instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
y instructor provides timely feedback to guide my progress.	0	0	0	1 50%	1 50%	2	4.5
y instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
y instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
y instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
y instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5
	y instructor explains difficult material clearly. y instructor provides facts, examples, and references that helped me learn the material. y instructor gives assignments that contribute to my understanding of the subject. y instructor provides material that helps me do well on assignments. y instructor explains new ideas by relating them to familiar concepts. y instructor evaluates my work in ways that are helpful to my ability to learn. y instructor establishes a climate of respect for students. y instructor is available to me on matters pertaining to the course. y instructor encourages me to do my best work. y instructor provides timely feedback to guide my progress. y instructor creates an atmosphere in which ideas can be exchanged freely. y instructor encourages me to connect course topics to a wider understanding of the subject. y instructor encourages me to develop new viewpoints. y instructor made the subject interesting and motivated me to learn.	y instructor provides facts, examples, and references that helped me learn the material. y instructor gives assignments that contribute to my understanding of the subject. y instructor provides material that helps me do well on assignments. y instructor explains new ideas by relating them to familiar concepts. y instructor evaluates my work in ways that are helpful to my ability to learn. y instructor establishes a climate of respect for students. y instructor is available to me on matters pertaining to the course. y instructor encourages me to do my best work. y instructor provides timely feedback to guide my progress. y instructor creates an atmosphere in which ideas can be exchanged freely. y instructor encourages me to connect course topics to a wider understanding of the subject. y instructor encourages me to develop new viewpoints.	y instructor provides facts, examples, and references that helped me learn the material. 0 0 0 y instructor gives assignments that contribute to my understanding of the subject. 0 0 0 y instructor provides material that helps me do well on assignments. 0 0 0 y instructor explains new ideas by relating them to familiar concepts. 0 0 0 y instructor evaluates my work in ways that are helpful to my ability to learn. 0 0 0 y instructor establishes a climate of respect for students. 0 0 0 y instructor is available to me on matters pertaining to the course. 0 0 0 y instructor encourages me to do my best work. 0 0 0 y instructor provides timely feedback to guide my progress. 0 0 0 y instructor creates an atmosphere in which ideas can be exchanged freely. 0 0 0 y instructor encourages me to connect course topics to a wider understanding of the subject. 0 0 0 y instructor encourages me to develop new viewpoints.	y instructor provides facts, examples, and references that helped me learn the material. 0 0 0 y instructor gives assignments that contribute to my understanding of the subject. 0 0 0 y instructor provides material that helps me do well on assignments. 0 0 0 y instructor explains new ideas by relating them to familiar concepts. 0 0 0 y instructor evaluates my work in ways that are helpful to my ability to learn. 0 0 0 y instructor establishes a climate of respect for students. 0 0 0 y instructor is available to me on matters pertaining to the course. 0 0 0 y instructor provides timely feedback to guide my progress. 0 0 0 y instructor creates an atmosphere in which ideas can be exchanged freely. y instructor encourages me to connect course topics to a wider understanding of the subject. 0 0 0 y instructor encourages me to develop new viewpoints.	y instructor provides facts, examples, and references that helped me learn the material. 0 0 1 50% y instructor gives assignments that contribute to my understanding of the subject. 0 0 1 50% y instructor provides material that helps me do well on assignments. 0 0 0 1 50% y instructor explains new ideas by relating them to familiar concepts. y instructor evaluates my work in ways that are helpful to my ability to learn. 0 0 1 50% y instructor establishes a climate of respect for students. y instructor is available to me on matters pertaining to the course. 0 0 1 50% y instructor encourages me to do my best work. 0 0 1 50% y instructor provides timely feedback to guide my progress. 0 0 1 50% y instructor creates an atmosphere in which ideas can be exchanged freely. y instructor encourages me to develop new viewpoints. 0 0 1 50%	y instructor explains difficult material clearly. y instructor provides facts, examples, and references that helped me learn the material. 0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	y instructor explains difficult material clearly. y instructor provides facts, examples, and references that helped me learn the material. 0 0 0 1 1 1 50% 50% 2 y instructor gives assignments that contribute to my understanding of the subject. 0 0 0 1 1 1 50% 50% 2 y instructor provides material that helps me do well on assignments. 0 0 0 1 1 1 50% 50% 2 y instructor explains new ideas by relating them to familiar concepts. 1 0 0 0 1 1 1 50% 50% 50% 2 y instructor evaluates my work in ways that are helpful to my ability to learn. 1 0 0 0 1 1 1 50% 50% 50% 2 y instructor establishes a climate of respect for students. 2 0 0 0 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1

Course:	LAW - 7111 501 - Dispute Resolution Topics	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	20 / 42 (47.62%)

		LAW - 7111 - 501 Survey Compa								urvey Compariso	isons		
	Labs and Online Learning Questions		Responses (%)					ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	0	0	0	2 25%	6 75%	8	4.8	186	4.4	75		
	Q2 The course topics are organized in a coherent fashion.	0	0	0	2 15.4%	11 84.6%	13	4.8	250	4.3	83		

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

		Jonathan Bridges									
Cou	rse Evaluation Questions		Re	esponse	es (%)		Ind	dividual			
		SD	D	N	A	SA	N	Mean			
QЗ	My instructor explains difficult material clearly.	0	0	0	5 25%	15 75%	20	4.8			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 25%	15 75%	20	4.8			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 25%	15 75%	20	4.8			
Q6	My instructor provides material that helps me do well on assignments.	0	1 5%	1 5%	4 20%	14 70%	20	4.6			
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 20%	16 80%	20	4.8			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 10%	3 15%	15 75%	20	4.7			
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 5%	19 95%	20	5.0			
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 10%	18 90%	20	4.9			
Q11	My instructor encourages me to do my best work.	0	0	0	2 10%	18 90%	20	4.9			
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 15%	17 85%	20	4.9			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 5%	19 95%	20	5.0			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 5%	19 95%	20	5.0			
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 5%	19 95%	20	5.0			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 5%	19 95%	20	5.0			

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7112 001 - Public Law Topics	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	8 / 18 (44.44%)

		LAW - 7112 - 001 Survey Comparisons -								ns		
L	abs and Online Learning Questions		R	espo	oonses (%)			Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
q	1 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	186	4.4	92	
q	2 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	250	4.3	71	

				-	Thomas P	erkins		
Cour	se Evaluation Questions			Respon	ises (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	4 57.1%	3 42.9%	7	4.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 42.9%	4 57.1%	7	4.6
Q11	My instructor encourages me to do my best work.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	3 42.9%	3 42.9%	7	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 28.6%	5 71.4%	7	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	Strong	ly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	LAW - 7112 1 - Public Law Topics	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	8 / 21 (38.10%)

	Labs and Online Learning Questions				LAW - 7	112 - 1			Survey Comparisons				
			Res	pon	ses (%)			Course	All				
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	186	4.4	58		
	Q2 The course topics are organized in a coherent fashion.	1 20%	0	0	0	4 80%	5	4.2	250	4.3	42		

					Thomas	Perkins		
Cour	se Evaluation Questions		Re	spo	nses (%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q6	My instructor provides material that helps me do well on assignments.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q9	My instructor establishes a climate of respect for students.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q10	My instructor is available to me on matters pertaining to the course.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q11	My instructor encourages me to do my best work.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q12	My instructor provides timely feedback to guide my progress.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4
Q15	My instructor encourages me to develop new viewpoints.	1 12.5%	0	0	1 12.5%	6 75%	8	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	Agree or Di	sagı	ee=3	B [A] Agree	e=4 [SA] S	Strong	ly Agree=5

Course:	MGMT - 3341 011 - Dealership Fixed Operations	Department:	516100
Responsible Faculty:	David Spaulding	Responses / Expected:	1 / 12 (8.33%)

			MGMT - 3341 - 011 Survey Comparisons								ıs	
La	bs and Online Learning Questions		Res	pon	ses	(%)	Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q.	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	186	4.4	-	
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	250	4.3	92	

				David Sp	auldir	ng		
Cou	rse Evaluation Questions		Re	spo	nses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0
Q11	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree of	Disag	ree=	3 [A] Agree=4	[SA]	Strong	ıly Agree=5

Course:	MGMT - 3341 11 - Dealership Fixed Operations	Department:	516100
Responsible Faculty:	David Spaulding	Responses / Expected:	6 / 18 (33.33%)

				М	GMT - 3	341 - 1	1	Survey Comparisons			
L	abs and Online Learning Questions		Res	pon	ses (%)		(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	1 The section or lab is well integrated into the course structure.	1 50%	0	0	0	1 50%	2	3.0	186	4.4	12
q	The course topics are organized in a coherent fashion.	1 20%	0	0	2 40%	2 40%	5	3.8	250	4.3	12

Cour	se Evaluation Questions		Re	spoi	David s	Spauldii		dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	2 40%	3 60%	5	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 50%	3 50%	6	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 50%	3 50%	6	4.5
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 50%	3 50%	6	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 50%	3 50%	6	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	3 50%	3 50%	6	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 60%	2 40%	5	4.4
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 60%	2 40%	5	4.4
Q11	My instructor encourages me to do my best work.	0	0	0	3 60%	2 40%	5	4.4
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 60%	2 40%	5	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 60%	2 40%	5	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 60%	2 40%	5	4.4
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	3 60%	2 40%	5	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 60%	2 40%	5	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree o	Disag	ree=	3 [A] Agree	4 [SA]	Strong	gly Agree=5

Course:	MGMT - 4180 010 - Workplace Health and Safety	Department:	516100
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	10 / 30 (33.33%)

			N	IGMT -	4180 -		Survey Comparisons					
L	os and Online Learning Questions		Respo	nses (%	5)		С	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	1 12.5%	1 12.5%	0	0	6 75%	8	4.1	186	4.4	42	
	The course topics are organized in a coherent fashion.	1 10%	0	1 10%	2 20%	6 60%	10	4.2	250	4.3	42	

Cou	rse Evaluation Questions		R	espons	es (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	2 20%	0	0	1 10%	7 70%	10	4.1
Q4	My instructor provides facts, examples, and references that helped me learn the material.	2 20%	0	1 10%	0	7 70%	10	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	2 20%	0	0	1 10%	7 70%	10	4.1
Q6	My instructor provides material that helps me do well on assignments.	2 20%	0	0	2 20%	6 60%	10	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	2 20%	0	0	2 20%	6 60%	10	4.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 20%	0	1 10%	0	7 70%	10	4.0
Q9	My instructor establishes a climate of respect for students.	1 10%	0	1 10%	2 20%	6 60%	10	4.2
Q10	My instructor is available to me on matters pertaining to the course.	1 10%	0	1 10%	3 30%	5 50%	10	4.1
Q11	My instructor encourages me to do my best work.	2 20%	0	0	2 20%	6 60%	10	4.0
Q12	My instructor provides timely feedback to guide my progress.	1 10%	0	2 20%	1 10%	6 60%	10	4.1
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 10%	0	1 10%	1 10%	7 70%	10	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 20%	0	0	1 10%	7 70%	10	4.1
Q15	My instructor encourages me to develop new viewpoints.	2 20%	0	0	1 10%	7 70%	10	4.1
Q16	My instructor made the subject interesting and motivated me to learn.	2 20%	0	0	1 10%	7 70%	10	4.1
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or Di	sagre	ee=3 [A]	Agree=	4 [SA] S	Strongl	y Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	MGMT - 4180 10 - Workplace Health and Safety	Department:	516100
Responsible Faculty:	Elizabeth Muniz	Responses / Expected:	11 / 30 (36.67%)

			MG	MT - 4180	Survey Comparisons					
Labs and Online Learning Questions			Response	es (%)		C	ourse			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course structure.	1 11.1%	0	1 11.1%	2 22.2%	5 55.6%	9	4.1	186	4.4	40
Q2 The course topics are organized in a coherent fashion.	1 9.1%	0	1 9.1%	3 27.3%	6 54.5%	11	4.2	250	4.3	38

_				Eliz	abeth Mu	ıniz		
Cour	se Evaluation Questions		Re	sponse	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 9.1%	1 9.1%	0	4 36.4%	5 45.5%	11	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 9.1%	1 9.1%	0	4 36.4%	5 45.5%	11	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 9.1%	1 9.1%	0	3 27.3%	6 54.5%	11	4.1
Q6	My instructor provides material that helps me do well on assignments.	1 9.1%	1 9.1%	0	3 27.3%	6 54.5%	11	4.1
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 9.1%	2 18.2%	0	2 18.2%	6 54.5%	11	3.9
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 9.1%	1 9.1%	0	3 27.3%	6 54.5%	11	4.1
Q9	My instructor establishes a climate of respect for students.	1 9.1%	2 18.2%	0	3 27.3%	5 45.5%	11	3.8
Q10	My instructor is available to me on matters pertaining to the course.	1 9.1%	1 9.1%	1 9.1%	2 18.2%	6 54.5%	11	4.0
Q11	My instructor encourages me to do my best work.	1 9.1%	1 9.1%	0	4 36.4%	5 45.5%	11	4.0
Q12	My instructor provides timely feedback to guide my progress.	1 9.1%	1 9.1%	1 9.1%	2 18.2%	6 54.5%	11	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 20%	0	0	2 20%	6 60%	10	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 9.1%	1 9.1%	0	2 18.2%	7 63.6%	11	4.2
Q15	My instructor encourages me to develop new viewpoints.	1 9.1%	1 9.1%	0	3 27.3%	6 54.5%	11	4.1
Q16	My instructor made the subject interesting and motivated me to learn.	1 9.1%	1 9.1%	1 9.1%	1 9.1%	7 63.6%	11	4.1
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	leither Ag	ree or Disa	agree=3	[A] Agree	=4 [SA] St	trongl	y Agree=5

Course:	MGMT - 4341 010 - Finance and Insurance/Regulatory and Compliance Issues	Department:	516100
Responsible Faculty:	David Spaulding	Responses / Expected:	2 / 3 (66.67%)

				М	IGMT - 4	1 341 - 01	10		Survey Comparisons				
La	d Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	186	4.4	-		
Q:	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	250	4.3	61		

C	se Evaluation Questions				David S	pauldin	g	
Cour	se evaluation questions				nses (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 50%	1 50%	2	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 50%	1 50%	2	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 50%	1 50%	2	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 50%	1 50%	2	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 50%	1 50%	2	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 50%	1 50%	2	4.5
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 50%	1 50%	2	4.5
Q11	My instructor encourages me to do my best work.	0	0	0	1 50%	1 50%	2	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 100%	0	2	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 50%	1 50%	2	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 50%	1 50%	2	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 50%	1 50%	2	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 50%	1 50%	2	4.5
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disa	agree	=3 [A] Agree=	4 [SA]	Strong	lly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	MGMT - 4350 010 - Training and Development	Department:	516100
Responsible Faculty:	John Hubbard	Responses / Expected:	10 / 30 (33.33%)

$\ \ $					MGMT -	4350 - 010	Survey Comparisons					
	Labs and Online Learning Questions	Responses (%)					С	ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 12.5%	7 87.5%	8	4.9	186	4.4	82	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	2 20%	8 80%	10	4.8	250	4.3	79	

Caus	se Evaluation Ouestions				John	nn Hubbard				
Cour	se Evaluation Questions			÷	nses (%	,		dividual		
		SD	D	N	Α	SA	N	Mean		
Q3	My instructor explains difficult material clearly.	0	0	0	3 30%	7 70%	10	4.7		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 20%	8 80%	10	4.8		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7		
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 20%	8 80%	10	4.8		
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 30%	7 70%	10	4.7		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 20%	8 80%	10	4.8		
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 20%	8 80%	10	4.8		
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 30%	7 70%	10	4.7		
Q11	My instructor encourages me to do my best work.	0	0	0	3 30%	7 70%	10	4.7		
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 10%	9 90%	10	4.9		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7		
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 20%	8 80%	10	4.8		
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 30%	7 70%	10	4.7		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or	Disag	ree=	3 [A] Agree=	4 [SA]	Strong	ly Agree=5		

Course:	MGMT - 4350 10 - Training and Development	Department:	516100
Responsible Faculty:	John Hubbard	Responses / Expected:	10 / 30 (33.33%)

Labs and Online Learning Questions		MGMT - 4350 - 10							Survey Comparisons				
		Respo			ponses (%)			All					
		D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1 The section or lab is well integrated into the course structure.	0	0	0	1 12.5%	7 87.5%	8	4.9	186	4.4	82			
Q2 The course topics are organized in a coherent fashion.	0	0	0	2 22.2%	7 77.8%	9	4.8	250	4.3	76			

Course Evaluation Questions					John Hubbard										
Cour	se Evaluation Questions		Responses (%)					lividual							
		SD	D	N	Α	SA	N	Mean							
Q3	My instructor explains difficult material clearly.	0	1 10%	0	4 40%	5 50%	10	4.3							
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 10%	0	2 20%	7 70%	10	4.5							
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 30%	7 70%	10	4.7							
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 30%	7 70%	10	4.7							
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	1 10%	0	4 40%	5 50%	10	4.3							
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 40%	6 60%	10	4.6							
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 20%	8 80%	10	4.8							
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 30%	7 70%	10	4.7							
Q11	My instructor encourages me to do my best work.	0	0	0	4 40%	6 60%	10	4.6							
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 10%	9 90%	10	4.9							
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 30%	7 70%	10	4.7							
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 10%	3 30%	6 60%	10	4.5							
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	3 30%	7 70%	10	4.7							
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 10%	3 30%	6 60%	10	4.5							
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	gree or	Disagre	e=3 [A]	Agree=4	1 [SA] S	Strongl	y Agree=5							

Course:	MGMT - 5320 010 - Compensation and Motivation Theory	Department:	516100
Responsible Faculty:	Christopher DeClerk	Responses / Expected:	6 / 26 (23.08%)

	Labs and Online Learning Questions		MGMT - 5320 - 010							Survey Comparisons			
La			Responses (%)						All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	186	4.4	92		
Q	The course topics are organized in a coherent fashion.	1 16.7%	0	0	0	5 83.3%	6	4.3	250	4.3	51		

Course Evaluation Questions		Christopher DeClerk															
Cour	se Evaluation Questions		Re	espo	nses (%)	ı		dividual									
		SD	D	N	Α	SA	N	Mean									
Q3	My instructor explains difficult material clearly.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q6	My instructor provides material that helps me do well on assignments.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2									
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2									
Q9	My instructor establishes a climate of respect for students.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q10	My instructor is available to me on matters pertaining to the course.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q11	My instructor encourages me to do my best work.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q12	My instructor provides timely feedback to guide my progress.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 16.7%	0	0	0	5 83.3%	6	4.3									
Q15	My instructor encourages me to develop new viewpoints.	1 16.7%	0	0	1 16.7%	4 66.7%	6	4.2									
Q16	My instructor made the subject interesting and motivated me to learn.	1 16.7%	0	0	0	5 83.3%	6	4.3									
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	Agree or Di	sagı	ree=3	B [A] Agree	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5											

Course:	MGMT - 5320 10 - Compensation and Motivation Theory	Department:	516100
Responsible Faculty:	Christopher DeClerk	Responses / Expected:	5 / 26 (19.23%)

		MGMT - 5320 - 10							Survey Comparisons				
L	abs and Online Learning Questions		Resp	ons	es (%)		Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
q	1 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	186	4.4	92		
q	2 The course topics are organized in a coherent fashion.	1 20%	0	0	0	4 80%	5	4.2	250	4.3	42		

	Course Evaluation Questions							
Cour	tructor explains difficult material clearly. 0 tructor provides facts, examples, and references that helped me learn the material. 0 tructor gives assignments that contribute to my understanding of the subject. 0 tructor provides material that helps me do well on assignments. 1 tructor explains new ideas by relating them to familiar concepts. 1 tructor evaluates my work in ways that are helpful to my ability to learn. 1 tructor establishes a climate of respect for students. 1 tructor is available to me on matters pertaining to the course. 1 tructor encourages me to do my best work. 1 tructor provides timely feedback to guide my progress.			pon	ses	(%)	ln	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	0	5 100%	5	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	5 100%	5	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	5 100%	5	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	5 100%	5	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	5 100%	5	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	5 100%	5	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	5 100%	5	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	5 100%	5	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	5 100%	5	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	5 100%	5	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	5 100%	5	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	5 100%	5	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	5 100%	5	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	isagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=5

Course:	MKTG - 3650 011 - Foundations of Marketing Practice	Department:	516100
Responsible Faculty:	Gary Holmes	Responses / Expected:	4 / 35 (11.43%)

				М	KTG	- 3650 - 0	11	Survey Comparisons				
L	Labs and Online Learning Questions		Res	pon	ses	(%)	(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
(The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	186	4.4	92	
	The course topics are organized in a coherent fashion.	0	0	0	0	4 100%	4	5.0	250	4.3	92	

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

Course Evaluation Questions				Gary H	lolmes			
Cou	r instructor explains difficult material clearly. r instructor provides facts, examples, and references that helped me learn the material. r instructor gives assignments that contribute to my understanding of the subject. r instructor provides material that helps me do well on assignments. r instructor explains new ideas by relating them to familiar concepts. r instructor evaluates my work in ways that are helpful to my ability to learn. r instructor establishes a climate of respect for students. r instructor is available to me on matters pertaining to the course. r instructor encourages me to do my best work. r instructor provides timely feedback to guide my progress. r instructor creates an atmosphere in which ideas can be exchanged freely. r instructor encourages me to develop new viewpoints.			Respon	ses (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	0	4 100%	4	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	4 100%	4	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	4 100%	4	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	4 100%	4	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 25%	3 75%	4	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	4 100%	4	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	0	4 100%	4	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 25%	1 25%	2 50%	4	4.3
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8

Course:	MKTG - 3650 11 - Foundations of Marketing Practice	Department:	516100
Responsible Faculty:	Gary Holmes	Responses / Expected:	5 / 35 (14.29%)

Labs and Online Learning Questions				MKTG -	3650 - 11	Survey Comparisons				
		Responses (%)					Course	All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	186	4.4	70
Q2 The course topics are organized in a coherent fashion.	0	0	0	1 20%	4 80%	5	4.8	250	4.3	79

Cour	ourse Evaluation Questions					Holmes		
		SD	Re D	spoi N	nses (% A) SA	In:	dividual Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 20%	4 80%	5	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 20%	4 80%	5	4.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 20%	4 80%	5	4.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 20%	4 80%	5	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 20%	4 80%	5	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 20%	4 80%	5	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 20%	4 80%	5	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or	Disag	ree=	3 [A] Agree=	4 [SA]	Strong	Jly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	MUED - 1130 001 - Foundations in Music	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	2 / 17 (11.76%)

Labs and Online Learning Questions				N	MUED - 11:	30 - 00	1	Survey Comparisons				
			Re	spoi	nses (%)		(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	186	4.4	29	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	250	4.3	26	

					Ruth Gue	vara					
Cour	se Evaluation Questions		F	Respons	es (%)		In	dividual			
		SD	D	N	A	SA	N	Mean			
QЗ	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0			
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0			
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0			
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 50%	1 50%	0	2	3.5			
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0			
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	1 50%	0	2	3.5			
Q11	My instructor encourages me to do my best work.	0	0	1 50%	1 50%	0	2	3.5			
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 50%	1 50%	0	2	3.5			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0			
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0			
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 100%	0	2	4.0			
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5										

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	MUED - 1130 1 - Foundations in Music	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	1 / 17 (5.88%)

				MUED - 1	130 - 1		Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					Course	All			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	186	4.4	29	
Q2 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	250	4.3	26	

0	Full of the Overhiller	Ruth Guevara											
Cour	se Evaluation Questions		Re	spoi	nses (%)		ln	dividual					
		SD	D	N	Α	SA	N	Mean					
Q3	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0					
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0					
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0					
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0					
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0					
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0					
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0					
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0					
Q11	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0					
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0					
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0					
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0					
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0					
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0					
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5												

Course:	PADM - 5020 030 - Leading and Managing Public Organizations	Department:	514240
Responsible Faculty:	Larry Terry	Responses / Expected:	3 / 14 (21.43%)

				ADM	- 5020 - 0	30	Survey Comparisons					
Labs and Online Learning Questions		Res	spon	ses	(%)	(Course	All				
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q1 The section or lab is well integrated into the course structure.	0	0	0	0	2 100%	2	5.0	186	4.4	92		
Q2 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	250	4.3	92		

Caus	se Evaluation Ouestions				Larry	y Terry		
Cour	se Evaluation Questions		_		ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or [Disaç	gree=	3 [A] Agre	e=4 [SA] \$	Strong	lly Agree=5

Course:	PADM - 5020 30 - Leading and Managing Public Organizations	Department:	514240
Responsible Faculty:	Larry Terry	Responses / Expected:	2 / 14 (14.29%)

				Р	ADN	1 - 5020 - 3	30		Survey Comparisons				
La	abs and Online Learning Questions		Responses (%)					Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	1 The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	186	4.4	-		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	250	4.3	92		

Caus	Course Evaluation Questions							
Cour	se Evaluation Questions			•	ses	` ,		dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	0	2 100%	2	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	2 100%	2	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	2 100%	2	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	2 100%	2	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	2 100%	2	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	2 100%	2	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	2 100%	2	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	2 100%	2	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	2 100%	2	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	2 100%	2	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	2 100%	2	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	2 100%	2	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=5

Course:	TECM - 2700 034 - Technical Writing	Department:	514120
Responsible Faculty:	Roberto Tinajero II	Responses / Expected:	3 / 14 (21.43%)

				1	TECM - 2	700 - 03	4	Survey Comparisons			
L	abs and Online Learning Questions		Re	espo	nses (%)		(Course			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	186	4.4	58
Q	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	250	4.3	61

C	se Evaluation Questions				Roberto	Tinajero I	I	
Cour	se evaluation questions			Res	ponses (%)	In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 33.3%	2 66.7%	3	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agu	ee or [Disaç	gree=	3 [A] Agre	e=4 [SA] 5	Strong	ly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	TECM - 2700 34 - Technical Writing	Department:	514120
Responsible Faculty:	Roberto Tinajero II	Responses / Expected:	4 / 16 (25%)

				TECM - 2	2700 - 34	Survey Comparisons					
abs and Online Learning Questions	Responses (%)					(Course	All			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	186	4.4	58	
Q2 The course topics are organized in a coherent fashion.	0	0	0	2 66.7%	1 33.3%	3	4.3	250	4.3	51	

Cour	se Evaluation Questions		Po		Roberto	Tinajer		dividual
		SD	D	N N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	3 75%	1 25%	4	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	3 75%	1 25%	4	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 50%	2 50%	4	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 50%	2 50%	4	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 50%	2 50%	4	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 25%	3 75%	4	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	1 25%	3 75%	4	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 25%	3 75%	4	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 25%	3 75%	4	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 25%	3 75%	4	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 25%	3 75%	4	4.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or	Disag	ree=	3 [A] Agree=	4 [SA]	Strong	Jly Agree=5

Spring 2018 8wk2 Survey	University of North Texas at Dallas
6181 - Spring 2018 - 8W2	UNT-Dallas

Course:	THEA - 1130 001 - Introduction to Creative Drama in the Elementary School	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	2 / 17 (11.76%)

				1	ГНЕА - 113	30 - 00	1		Survey Comparisons			
L	s and Online Learning Questions	Responses (%)					(Course	All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
c	1 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	186	4.4	29	
c	The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	250	4.3	26	

 $\textbf{Responses:} \ [\textbf{SD}] \ \ \text{Strongly Disagree=1} \ \ [\textbf{D}] \ \ \text{Disagree=2} \ \ [\textbf{N}] \ \ \text{Neither Agree or Disagree=3} \ \ [\textbf{A}] \ \ \text{Agree=4} \ \ [\textbf{SA}] \ \ \text{Strongly Agree=5} \ \ \text{Strongly Agree=4} \ \ \text{Agree=4} \$

0-					Ruth Gue			
Cou	rse Evaluation Questions		F	Respons	es (%)		ln	dividual
		SD	D	N	A	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	1 50%	1 50%	0	2	3.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 100%	0	2	4.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	2 100%	0	2	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 100%	0	2	4.0
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 100%	0	2	4.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 100%	0	2	4.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	2 100%	0	2	4.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 50%	1 50%	0	2	3.5
Q11	My instructor encourages me to do my best work.	0	0	0	2 100%	0	2	4.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 50%	1 50%	0	2	3.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 100%	0	2	4.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 100%	0	2	4.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 100%	0	2	4.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	2 100%	0	2	4.0

Course:	THEA - 1130 1 - Introduction to Creative Drama in the Elementary School	Department:	518200
Responsible Faculty:	Ruth Guevara	Responses / Expected:	1 / 17 (5.88%)

					THEA - 11	130 - 1			Survey Comparisons			
L	abs and Online Learning Questions		espo	nses (%)	Course			All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
q	1 The section or lab is well integrated into the course structure.	0	0	0	1 100%	0	1	4.0	186	4.4	29	
q	2 The course topics are organized in a coherent fashion.	0	0	0	1 100%	0	1	4.0	250	4.3	26	

	Course Evaluation Questions				Ruth G	uth Guevara			
Cour	SD				nses (%)		ln	dividual	
		SD	D	N	Α	SA	N	Mean	
QЗ	My instructor explains difficult material clearly.	0	0	0	1 100%	0	1	4.0	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 100%	0	1	4.0	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 100%	0	1	4.0	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 100%	0	1	4.0	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	1 100%	0	1	4.0	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 100%	0	1	4.0	
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0	
Q11	My instructor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0	
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 100%	0	1	4.0	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree of	Disag	ree=	3 [A] Agree=4	[SA]	Stron	ıly Agree=5	

Course:	LAW - 7V12 501 - International Law	Department:	LawSchool
Responsible Faculty:	Edward Hart	Responses / Expected:	4 / 10 (40%)

Labs and Online Learning Questions				LAV	V - 7V12 -	501		Survey Comparisons				
		Responses (%)					(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q.	The section or lab is well integrated into the course structure.	0	0	0	0	0	0	0.0	513	4.4	-	
Q	The course topics are organized in a coherent fashion.	0	1 33.3%	0	2 66.7%	0	3	3.3	726	4.4	11	

_				- 1	Edward H	art		
Cou	rse Evaluation Questions		R	espons	es (%)		ln	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	4 100%	0	4	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 75%	1 25%	4	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 25%	2 50%	1 25%	4	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 25%	2 50%	1 25%	4	4.0
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 25%	3 75%	0	4	3.8
28	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 25%	2 50%	1 25%	0	4	3.0
Q9	My instructor establishes a climate of respect for students.	0	0	1 25%	1 25%	2 50%	4	4.3
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 25%	0	3 75%	4	4.5
Q11	My instructor encourages me to do my best work.	0	0	0	2 50%	2 50%	4	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 75%	1 25%	4	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 50%	2 50%	4	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 50%	2 50%	4	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 25%	2 50%	1 25%	4	4.0
216	My instructor made the subject interesting and motivated me to learn.	0	0	2 50%	1 25%	1 25%	4	3.8

Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5

Course:	LAW - 7V30 501 - Special Topics in Legal Education	Department:	LawSchool
Responsible Faculty:	Everett Chambers	Responses / Expected:	3 / 10 (30%)

				LA	N - 7	V30 - 501			S	urvey Compariso	ns
La	bs and Online Learning Questions	F	lesp	onse	es (%	6)	(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	The section or lab is well integrated into the course structure.	1 50%	0	0	0	1 50%	2	3.0	513	4.4	11
Q	The course topics are organized in a coherent fashion.	1 33.3%	0	0	0	2 66.7%	3	3.7	726	4.4	23

	ourse Evaluation Questions			ı	Everett Ch	ambers													
Cour	se Evaluation Questions		Re	spo	nses (%)		In	dividual											
		SD	D	N	Α	SA	N	Mean											
QЗ	My instructor explains difficult material clearly.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q6	My instructor provides material that helps me do well on assignments.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q9	My instructor establishes a climate of respect for students.	1 33.3%		0	1 33.3%	1 33.3%	3	3.3											
Q10	My instructor is available to me on matters pertaining to the course.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q11	My instructor encourages me to do my best work.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q12	My instructor provides timely feedback to guide my progress.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q15	My instructor encourages me to develop new viewpoints.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
Q16	My instructor made the subject interesting and motivated me to learn.	1 33.3%	0	0	1 33.3%	1 33.3%	3	3.3											
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	Agree or Di	sagı	ee=3	B [A] Agree	e=4 [SA] S	trong	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5											

Course:	LAW - 7V91 1 - Practicum	Department:	LawSchool
Responsible Faculty:	Melissa Shultz	Responses / Expected:	12 / 12 (100%)

Labs and Online Learning Questions				ı	_AW - 7V9		Survey Comparisons						
			Responses (%) Course							All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	1 The section or lab is well integrated into the course structure.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3	513	4.4	36		
Q	The course topics are organized in a coherent fashion.	0	0	1 10%	1 10%	8 80%	10	4.7	726	4.4	68		

 $\textbf{Responses: [SD]} \ \ \textbf{Strongly Disagree=1} \ \ \textbf{[D]} \ \ \textbf{Disagree=2} \ \ \textbf{[N]} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Neither Agree or Disagree=3} \ \ \textbf{[A]} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{[SA]} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agree=5} \ \ \textbf{Strongly Agree=4} \ \ \textbf{Strongly Agr$

	ourse Evaluation Questions			N	/lelissa Sl	hultz							
Cou	My instructor explains difficult material clearly. My instructor provides facts, examples, and references that helped me learn the material. My instructor gives assignments that contribute to my understanding of the subject. My instructor provides material that helps me do well on assignments. My instructor explains new ideas by relating them to familiar concepts. My instructor evaluates my work in ways that are helpful to my ability to learn. My instructor establishes a climate of respect for students. My instructor is available to me on matters pertaining to the course. My instructor encourages me to do my best work. My instructor provides timely feedback to guide my progress.		Responses (%) Individ										
		SD	D	N	Α	SA	N	Mean					
Q3	My instructor explains difficult material clearly.	0	0	0	3 25%	9 75%	12	4.8					
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	2 16.7%	10 83.3%	12	4.8					
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8					
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	2 16.7%	10 83.3%	12	4.8					
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	2 16.7%	10 83.3%	12	4.8					
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8					
Q9	My instructor establishes a climate of respect for students.	0	0	1 8.3%	0	11 91.7%	12	4.8					
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	12 100%	12	5.0					
Q11	My instructor encourages me to do my best work.	0	0	0	0	12 100%	12	5.0					
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 8.3%	11 91.7%	12	4.9					
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 8.3%	0	0	11 91.7%	12	4.8					
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8					
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 8.3%	1 8.3%	10 83.3%	12	4.8					
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	12 100%	12	5.0					

Course:	LAW - 7V91 3 - Practicum	Department:	LawSchool
Responsible Faculty:	Kevin Robinowich	Responses / Expected:	13 / 19 (68.42%)

					LAW - 7	7V91 - 3	Survey Comparisons				
	Labs and Online Learning Questions			Res	ponses (%))	(Course		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 33.3%	2 66.7%	3	4.7	513	4.4	65
	Q2 The course topics are organized in a coherent fashion.	0	0	0	1 14.3%	6 85.7%	7	4.9	726	4.4	85

				Ke	in Robino	wich		
Cour	se Evaluation Questions			Respons	es (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 7.7%	3 23.1%	9 69.2%	13	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	5 38.5%	8 61.5%	13	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 27.3%	8 72.7%	11	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 23.1%	1 7.7%	9 69.2%	13	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	2 15.4%	3 23.1%	8 61.5%	13	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 7.7%	1 7.7%	3 23.1%	8 61.5%	13	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Ne	ither A	gree or D	isagree=3	[A] Agree	=4 [SA] S	trongly	y Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7V91 4 - Practicum	Department:	LawSchool
Responsible Faculty:	Johannes Walker	Responses / Expected:	8 / 12 (66.67%)

		LAW - 7V91 - 4					Survey Comparisons				
Labs and Online Learning Questions		R	espo	onses (%	b)	(Course		All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	513	4.4	90	
Q2 The course topics are organized in a coherent fashion.	0	0	0	1 25%	3 75%	4	4.8	726	4.4	75	

				J	Johannes	Walker		
Cour	se Evaluation Questions			Respon	ıses (%)		dividual	
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 25%	6 75%	8	4.8
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	8 100%	8	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	8 100%	8	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	8 100%	8	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	8 100%	8	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	8 100%	8	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	8 100%	8	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 12.5%	7 87.5%	8	4.9
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7V91 501 - Practicum	Department:	LawSchool
Responsible Faculty:	Daniel Correa	Responses / Expected:	10 / 13 (76.92%)

			L	AW -	- 7V91 - 50)1		S	urvey Compariso	ey Comparisons		
Labs and Online Learning Questions		Res	pon	ses	(%)	(Course		Nean Pct Rnk			
	SD	D	N	A	SA	N	Mean	N	Mean			
Q1 The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	513	4.4	90		
Q2 The course topics are organized in a coherent fashion.	0	0	0	0	8 100%	8	5.0	726	4.4	94		

		Daniel Correa							
Cour	se Evaluation Questions			·	onses (9			dividual	
		SD	D	N	Α	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	0	0	0	0	10 100%	10	5.0	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	10 100%	10	5.0	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	10 100%	10	5.0	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	10 100%	10	5.0	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	10 100%	10	5.0	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	10 100%	10	5.0	
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	10 100%	10	5.0	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 10%	9 90%	10	4.9	
Q11	My instructor encourages me to do my best work.	0	0	0	1 10%	9 90%	10	4.9	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 10%	9 90%	10	4.9	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	10 100%	10	5.0	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	10 100%	10	5.0	
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	1 10%	9 90%	10	4.9	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 10%	9 90%	10	4.9	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	or Disa	agree	=3 [A] Agre	e=4 [SA] :	Strong	ly Agree=5	

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7V91 502 - Practicum	Department:	LawSchool
Responsible Faculty:	David Radunsky	Responses / Expected:	20 / 27 (74.07%)

Г				LAW -	7V91 - 5	502			St	ırvey Compariso	ons	
	Labs and Online Learning Questions		Resp	onses (9	%)		C	Course		Nean		
		SD	D	N	A	SA	N	Mean	N	Mean		
	Q1 The section or lab is well integrated into the course structure.	2 20%	0	0	2 20%	6 60%	10	4.0	513	4.4	25	
	The course topics are organized in a coherent fashion.	2 12.5%	1 6.3%	1 6.3%	4 25%	8 50%	16	3.9	726	4.4	28	

				Dav	id Radun	sky				
Cour	se Evaluation Questions	Responses (%)								
		SD	D	N	Α	SA	N	Mean		
Q3	My instructor explains difficult material clearly.	2 10%	2 10%	2 10%	6 30%	8 40%	20	3.8		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	2 10%	0	1 5%	9 45%	8 40%	20	4.1		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	2 10%	1 5%	1 5%	4 20%	12 60%	20	4.2		
Q6	My instructor provides material that helps me do well on assignments.	2 10%	0	1 5%	6 30%	11 55%	20	4.2		
Q7	My instructor explains new ideas by relating them to familiar concepts.	2 10%	0	1 5%	7 35%	10 50%	20	4.2		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 10.5%	0	1 5.3%	6 31.6%	10 52.6%	19	4.2		
Q9	My instructor establishes a climate of respect for students.	2 10%	0	1 5%	6 30%	11 55%	20	4.2		
Q10	My instructor is available to me on matters pertaining to the course.	2 10%	0	0	5 25%	13 65%	20	4.4		
Q11	My instructor encourages me to do my best work.	2 10%	0	0	4 20%	14 70%	20	4.4		
Q12	My instructor provides timely feedback to guide my progress.	2 10%	0	0	4 20%	14 70%	20	4.4		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 10%	0	1 5%	6 30%	11 55%	20	4.2		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 10%	0	0	8 40%	10 50%	20	4.2		
Q15	My instructor encourages me to develop new viewpoints.	2 10%	0	2 10%	8 40%	8 40%	20	4.0		
Q16	My instructor made the subject interesting and motivated me to learn.	2 10.5%	1 5.3%	1 5.3%	7 36.8%	8 42.1%	19	3.9		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	Neither Agr	ee or Disa	agree=3	[A] Agree	=4 [SA] St	trongly	Agree=5		

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7V93 1 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	7 / 11 (63.64%)

		LAW - 7V93 - 1						Survey Comparisons					
abs and Online Learning Questions		F	Response	s (%)		C	Course	All					
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q1 The section or lab is well integrated into the course structure.	0	1 16.7%	0	3 50%	2 33.3%	6	4.0	513	4.4	25			
Q2 The course topics are organized in a coherent fashion.	0	1 16.7%	1 16.7%	2 33.3%	2 33.3%	6	3.8	726	4.4	26			

				Cher	yl Wattle	y		
Cour	se Evaluation Questions		In	dividual				
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 14.3%	0	0	0	6 85.7%	7	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	1 14.3%	0	1 14.3%	5 71.4%	7	4.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q10	My instructor is available to me on matters pertaining to the course.	0	1 14.3%	0	2 28.6%	4 57.1%	7	4.3
Q11	My instructor encourages me to do my best work.	0	0	0	2 33.3%	4 66.7%	6	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	1 14.3%	1 14.3%	1 14.3%	4 57.1%	7	4.1
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	7 100%	7	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 28.6%	5 71.4%	7	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	1 14.3%	0	0	1 14.3%	5 71.4%	7	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N]	Neither A	gree or Dis	sagree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7V93 501 - Clinic	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	16 / 21 (76.19%)

$\ \ $	LAW - 7V93 - 501								Survey Comparisons				
	Labs and Online Learning Questions		Responses (%)				(Course					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	1 14.3%	0	0	2 28.6%	4 57.1%	7	4.1	513	4.4	28		
	Q2 The course topics are organized in a coherent fashion.	1 14.3%	0	0	3 42.9%	3 42.9%	7	4.0	726	4.4	30		

				Cher	yl Wattle	у		
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	2 12.5%	0	5 31.3%	4 25%	5 31.3%	16	3.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	2 12.5%	1 6.3%	4 25%	4 25%	5 31.3%	16	3.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	2 12.5%	0	4 25%	6 37.5%	4 25%	16	3.6
Q6	My instructor provides material that helps me do well on assignments.	2 12.5%	1 6.3%	5 31.3%	4 25%	4 25%	16	3.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	2 12.5%	0	5 31.3%	4 25%	5 31.3%	16	3.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	2 13.3%	0	6 40%	3 20%	4 26.7%	15	3.5
Q9	My instructor establishes a climate of respect for students.	1 6.3%	1 6.3%	4 25%	3 18.8%	7 43.8%	16	3.9
Q10	My instructor is available to me on matters pertaining to the course.	0	3 18.8%	4 25%	5 31.3%	4 25%	16	3.6
Q11	My instructor encourages me to do my best work.	1 6.3%	1 6.3%	5 31.3%	3 18.8%	6 37.5%	16	3.8
Q12	My instructor provides timely feedback to guide my progress.	0	3 18.8%	5 31.3%	3 18.8%	5 31.3%	16	3.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 6.3%	1 6.3%	4 25%	6 37.5%	4 25%	16	3.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 12.5%	0	6 37.5%	3 18.8%	5 31.3%	16	3.6
Q15	My instructor encourages me to develop new viewpoints.	2 12.5%	0	5 31.3%	3 18.8%	6 37.5%	16	3.7
Q16	My instructor made the subject interesting and motivated me to learn.	2 12.5%	0	4 25%	5 31.3%	5 31.3%	16	3.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongly	Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7V98 1 - Independent Study	Department:	LawSchool
Responsible Faculty:	Ellen Pryor	Responses / Expected:	1 / 3 (33.33%)

Cour	se Evaluation Questions							
Ooui	Se Lyanuation Questions		_	i -	ses	• •		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	e=3	[A]	Agre	e=4 [SA]	Strong	gly Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7V98 2 - Independent Study	Department:	LawSchool
Responsible Faculty:	Ellen Pryor	Responses / Expected:	1 / 1 (100%)

ctor explains difficult material clearly. ctor provides facts, examples, and references that helped me learn the material. ctor gives assignments that contribute to my understanding of the subject. ctor provides material that helps me do well on assignments. ctor explains new ideas by relating them to familiar concepts.	SD 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0	0 0 0 0	_	A 1 100% 1 100% 1 100% 1 100% 1 100%	\$A 0 0 0 0 0	1 1 1 1	4.0 4.0 4.0
ctor provides facts, examples, and references that helped me learn the material. ctor gives assignments that contribute to my understanding of the subject. ctor provides material that helps me do well on assignments. ctor explains new ideas by relating them to familiar concepts.	0 0 0 0 0	0 0 0 0	0 0 0	1 100% 1 100% 1 100%	0 0	1 1 1	4.0
ctor provides facts, examples, and references that helped me learn the material. ctor gives assignments that contribute to my understanding of the subject. ctor provides material that helps me do well on assignments. ctor explains new ideas by relating them to familiar concepts.	0 0 0	0 0 0	0 0	100% 1 100% 1 100%	0	1	4.0
ctor gives assignments that contribute to my understanding of the subject. ctor provides material that helps me do well on assignments. ctor explains new ideas by relating them to familiar concepts.	0 0	0 0	0	1 100%	0	1	4.0
ctor provides material that helps me do well on assignments.	0	0	0	100%		-	
ctor explains new ideas by relating them to familiar concepts.	0	0		1 100%	0	1	4.0
			0	-1			7.0
ctor evaluates my work in ways that are helpful to my ability to learn.	0			100%	0	1	4.0
		0	0	1 100%	0	1	4.0
ctor establishes a climate of respect for students.	0	0	0	1 100%	0	1	4.0
ctor is available to me on matters pertaining to the course.	0	0	0	1 100%	0	1	4.0
ctor encourages me to do my best work.	0	0	0	1 100%	0	1	4.0
ctor provides timely feedback to guide my progress.	0	0	0	1 100%	0	1	4.0
ctor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 100%	0	1	4.0
ctor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	1 100%	0	1	4.0
ctor encourages me to develop new viewpoints.	0	0	0	1 100%	0	1	4.0
	_	0	0	1 100%	0	1	4.0
	ctor creates an atmosphere in which ideas can be exchanged freely. ctor encourages me to connect course topics to a wider understanding of the subject. ctor encourages me to develop new viewpoints.	ctor encourages me to connect course topics to a wider understanding of the subject. ctor encourages me to develop new viewpoints. 0	ctor encourages me to connect course topics to a wider understanding of the subject. 0 0	ctor encourages me to connect course topics to a wider understanding of the subject. 0 0 0 ctor encourages me to develop new viewpoints. 0 0 0	ctor encourages me to connect course topics to a wider understanding of the subject. 0 0 1 100% ctor encourages me to develop new viewpoints. 0 0 0 1 100%	ctor encourages me to connect course topics to a wider understanding of the subject. 0 0 1 1 100% ctor encourages me to develop new viewpoints. 0 0 0 1 1 0 0 0 1 1 0 0 0 0 1 1 0 0 0 0	ctor encourages me to connect course topics to a wider understanding of the subject. 0 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 100% 0 1 1 1 1

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7V98 5 - Independent Study	Department:	LawSchool
Responsible Faculty:	Eric Porterfield	Responses / Expected:	1 / 1 (100%)

Cour	se Evaluation Questions					Porterfie		
				i -	ses	• •		dividual
		SD	D	N	Α	SA	N	Mean
Q1	My instructor explains difficult material clearly.	0	0	0	0	1 100%	1	5.0
Q2	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	1 100%	1	5.0
QЗ	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q4	My instructor provides material that helps me do well on assignments.	0	0	0	0	1 100%	1	5.0
Q5	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	1 100%	1	5.0
Q6	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	1 100%	1	5.0
Q7	My instructor establishes a climate of respect for students.	0	0	0	0	1 100%	1	5.0
Q8	My instructor is available to me on matters pertaining to the course.	0	0	0	0	1 100%	1	5.0
Q9	My instructor encourages me to do my best work.	0	0	0	0	1 100%	1	5.0
Q10	My instructor provides timely feedback to guide my progress.	0	0	0	0	1 100%	1	5.0
Q11	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	1 100%	1	5.0
Q12	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	1 100%	1	5.0
Q13	My instructor encourages me to develop new viewpoints.	0	0	0	0	1 100%	1	5.0
Q14	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	1 100%	1	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	Disagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=5

Course:	LAW - 7101 1 - Principles of Accounting and Finance for Lawyers	Department:	LawSchool
Responsible Faculty:	Mark Sutherland	Responses / Expected:	3 / 4 (75%)

			LAW - 7101 - 1						Survey Comparisons					
L	abs and Online Learning Questions	Responses (%)						Course	All					
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk			
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	513	4.4	90			
Q	The course topics are organized in a coherent fashion.	0	0	0	0	1 100%	1	5.0	726	4.4	94			

Cour	se Evaluation Questions					utherland		
		SD	D	_	ponses (%		In N	dividual
Q3	My instructor explains difficult material clearly.	0	0	0	A 0	SA 3 100%	3	Mean 5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or [Disag	gree=	3 [A] Agre	e=4 [SA] \$	Strong	ly Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7106 1 - Legal Skills and Analysis	Department:	LawSchool
Responsible Faculty:	Diana Howard	Responses / Expected:	7 / 13 (53.85%)

					LAW	7 - 7106 - 1	1		Survey Comparisons				
	Labs and Online Learning Questions		Res	pon	ses	(%)	(Course		All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	5 100%	5	5.0	513	4.4	90		
	Q2 The course topics are organized in a coherent fashion.	0	0	0	0	5 100%	5	5.0	726	4.4	94		

					Diana Ho	ward		
Cour	se Evaluation Questions			Respon	nses (%)			dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	0	7 100%	7	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	7 100%	7	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	7 100%	7	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	7 100%	7	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	7 100%	7	5.0
Q11	My instructor encourages me to do my best work.	0	0	0	0	7 100%	7	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 14.3%	0	6 85.7%	7	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	7 100%	7	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	7 100%	7	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 14.3%	1 14.3%	5 71.4%	7	4.6
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	1 14.3%	6 85.7%	7	4.9
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neithe	Agre	e or [Disagree=3	[A] Agree	=4 [SA] S	trong	ly Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7106 501 - Legal Skills and Analysis	Department:	LawSchool
Responsible Faculty:	Diana Howard	Responses / Expected:	5 / 8 (62.50%)

	Labs and Online Learning Questions			L	AW -	- 7106 - 50)1	Survey Comparisons				
			Responses (%)					Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	0	3 100%	3	5.0	513	4.4	90	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	0	3 100%	3	5.0	726	4.4	94	

C	se Evaluation Questions				Diana H	loward		
Cour	se Evaluation Questions		_	Respons	es (%)			dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	0	1 20%	4 80%	5	4.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 20%	1 20%	3 60%	5	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	1 20%	1 20%	3 60%	5	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 20%	1 20%	3 60%	5	4.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 20%	1 20%	3 60%	5	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	2 40%	3 60%	5	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 20%	4 80%	5	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	1 20%	4 80%	5	4.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	1 20%	4 80%	5	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 25%	3 75%	4	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 40%	3 60%	5	4.6
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	2 40%	3 60%	5	4.6
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	1 20%	3 60%	5	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree	e or Di	sagr	ee=3 [A]	Agree=	4 [SA] 9	Strong	ly Agree=5

Course:	LAW - 7119 1 - Advocacy Skills Development	Department:	LawSchool
Responsible Faculty:	Nicole Williams	Responses / Expected:	3 / 12 (25%)

					LAW	7 - 7119 - 1	1		Survey Comparisons				
L	abs and Online Learning Questions		Res	spon	ses	(%)	(Course	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	513	4.4	90		
Q	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	726	4.4	94		

					Nico	ole Williar	ams			
Cour	se Evaluation Questions		Res	pon	ses	(%)	ln	dividual		
		SD	D	N	Α	SA	N	Mean		
Q3	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0		
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0		
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0		
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0		
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0		
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0		
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0		
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	0	3 100%	3	5.0		
Q11	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0		
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0		
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0		
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0		
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0		
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0		
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or I	isagre	e=3	[A]	Agre	e=4 [SA]	Stron	gly Agree=5		

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7203 1 - Civil Procedure II	Department:	LawSchool
Responsible Faculty:	Eric Porterfield	Responses / Expected:	31 / 47 (65.96%)

	Labs and Online Learning Questions			ı	LAW - 720	Survey Comparisons					
			Res	pons	ses (%)		С	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	1 7.1%	0	0	3 21.4%	10 71.4%	14	4.5	513	4.4	48
	Q2 The course topics are organized in a coherent fashion.	1 4.5%	1 4.5%	0	6 27.3%	14 63.6%	22	4.4	726	4.4	42

				Eri	ic Porterf	ield		
Cour	se Evaluation Questions		R	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 3.2%	1 3.2%	2 6.5%	10 32.3%	17 54.8%	31	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 3.2%	0	2 6.5%	8 25.8%	20 64.5%	31	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 3.2%	0	2 6.5%	9 29%	19 61.3%	31	4.5
Q6	My instructor provides material that helps me do well on assignments.	1 3.2%	1 3.2%	2 6.5%	9 29%	18 58.1%	31	4.4
Q 7	My instructor explains new ideas by relating them to familiar concepts.	1 3.2%	1 3.2%	0	9 29%	20 64.5%	31	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3.2%	1 3.2%	1 3.2%	9 29%	19 61.3%	31	4.4
Q9	My instructor establishes a climate of respect for students.	1 3.2%	0	0	5 16.1%	25 80.6%	31	4.7
Q10	My instructor is available to me on matters pertaining to the course.	1 3.2%	0	0	7 22.6%	23 74.2%	31	4.6
Q11	My instructor encourages me to do my best work.	1 3.2%	0	0	9 29%	21 67.7%	31	4.6
Q12	My instructor provides timely feedback to guide my progress.	1 3.2%	0	1 3.2%	9 29%	20 64.5%	31	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 3.2%	0	0	6 19.4%	24 77.4%	31	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3.2%	0	0	9 29%	21 67.7%	31	4.6
Q15	My instructor encourages me to develop new viewpoints.	1 3.2%	0	1 3.2%	11 35.5%	18 58.1%	31	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	2 6.5%	0	1 3.2%	9 29%	19 61.3%	31	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] No	either Agr	ee or Dis	agree=3	[A] Agree	=4 [SA] S	trongl	y Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7203 501 - Civil Procedure II	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	29 / 39 (74.36%)

					LAW - 720	3 - 501	Survey Comparisons									
	Labs and Online Learning Questions		Responses (%)				Responses (%) Course						All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk					
	Q1 The section or lab is well integrated into the course structure.	0	0	0	6 42.9%	8 57.1%	14	4.6	513	4.4	53					
	Q2 The course topics are organized in a coherent fashion.	0	0	1 5.6%	8 44.4%	9 50%	18	4.4	726	4.4	44					

_				Thor	nas Perk	ins		
Cou	rse Evaluation Questions		R	esponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	2 6.9%	4 13.8%	14 48.3%	9 31%	29	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	2 6.9%	3 10.3%	14 48.3%	10 34.5%	29	4.1
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	3 10.7%	4 14.3%	12 42.9%	9 32.1%	28	4.0
Q6	My instructor provides material that helps me do well on assignments.	0	2 7.1%	4 14.3%	11 39.3%	11 39.3%	28	4.1
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	3 10.3%	5 17.2%	11 37.9%	10 34.5%	29	4.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.		2 7.1%	6 21.4%	11 39.3%	9 32.1%	28	4.0
Q9	My instructor establishes a climate of respect for students.		0	0	9 31%	20 69%	29	4.7
Q10	My instructor is available to me on matters pertaining to the course.	1 3.4%	2 6.9%	2 6.9%	11 37.9%	13 44.8%	29	4.1
Q11	My instructor encourages me to do my best work.	0	1 3.4%	2 6.9%	10 34.5%	16 55.2%	29	4.4
Q12	My instructor provides timely feedback to guide my progress.	1 3.4%	0	5 17.2%	10 34.5%	13 44.8%	29	4.2
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 3.4%	11 37.9%	17 58.6%	29	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	5 17.2%	12 41.4%	12 41.4%	29	4.2
Q15	My instructor encourages me to develop new viewpoints.	0	1 3.4%	5 17.2%	12 41.4%	11 37.9%	29	4.1
Q16	My instructor made the subject interesting and motivated me to learn.	0	2 6.9%	5 17.2%	10 34.5%	12 41.4%	29	4.1

Course:	LAW - 7205 1 - Texas Civil Procedure	Department:	LawSchool
Responsible Faculty:	Christine Tamer	Responses / Expected:	44 / 49 (89.80%)

		LAW - 7205 - 1 Survey Compariso						ons			
La	Labs and Online Learning Questions		Responses (%)					ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1	The section or lab is well integrated into the course structure.	1 5.3%	0	0	0	18 94.7%	19	4.8	513	4.4	75
Q2	The course topics are organized in a coherent fashion.	1 3.1%	0	0	3 9.4%	28 87.5%	32	4.8	726	4.4	77

				С	hristine T	amer		
Cour	se Evaluation Questions			Respons	ses (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 2.3%	0	0	8 18.6%	34 79.1%	43	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 2.3%	0	0	4 9.3%	38 88.4%	43	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 2.3%	0	0	11 25%	32 72.7%	44	4.7
Q6	My instructor provides material that helps me do well on assignments.	1 2.3%	0	0	10 22.7%	33 75%	44	4.7
Q 7	My instructor explains new ideas by relating them to familiar concepts.	1 2.3%	0	1 2.3%	6 13.6%	36 81.8%	44	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 2.3%	0	1 2.3%	7 15.9%	35 79.5%	44	4.7
Q9	My instructor establishes a climate of respect for students.	1 2.3%	0	0	8 18.6%	34 79.1%	43	4.7
Q10	My instructor is available to me on matters pertaining to the course.	1 2.3%	0	2 4.5%	9 20.5%	32 72.7%	44	4.6
Q11	My instructor encourages me to do my best work.	1 2.3%	0	0	9 20.5%	34 77.3%	44	4.7
Q12	My instructor provides timely feedback to guide my progress.	1 2.3%	0	0	9 20.5%	34 77.3%	44	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 2.3%	0	2 4.5%	7 15.9%	34 77.3%	44	4.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.3%	0	3 6.8%	9 20.5%	31 70.5%	44	4.6
Q15	My instructor encourages me to develop new viewpoints.	1 2.3%	0	7 15.9%	9 20.5%	27 61.4%	44	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	1 2.3%	0	0	9 20.5%	34 77.3%	44	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neit	her Agre	e or D)isagree=3	[A] Agree	=4 [SA] S	trongly	y Agree=5

Course:	LAW - 7206 501 - Texas Criminal Procedure	Department:	LawSchool
Responsible Faculty:	Clarence Cole	Responses / Expected:	39 / 52 (75%)

	LAW - 7206 - 501 Survey Compari						urvey Compariso	risons		
Labs and Online Learning Questions		R	espo	nses (%)		С	ourse		All	
		D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course structure.	1 5.9%	0	0	5 29.4%	11 64.7%	17	4.5	513	4.4	44
Q2 The course topics are organized in a coherent fashion.	1 3.8%	0	0	7 26.9%	18 69.2%	26	4.6	726	4.4	57

0	Furbridge Occasions				Clarence	Cole		
Cour	My instructor provides facts, examples, and references that helped me learn the material. My instructor gives assignments that contribute to my understanding of the subject. My instructor provides material that helps me do well on assignments. My instructor explains new ideas by relating them to familiar concepts. My instructor evaluates my work in ways that are helpful to my ability to learn. My instructor establishes a climate of respect for students. My instructor is available to me on matters pertaining to the course. My instructor encourages me to do my best work. My instructor provides timely feedback to guide my progress. My instructor creates an atmosphere in which ideas can be exchanged freely. My instructor encourages me to connect course topics to a wider understanding of the subject. My instructor encourages me to develop new viewpoints.			Respon	ses (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	3 7.7%	0	0	7 17.9%	29 74.4%	39	4.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	3 7.7%	0	0	5 12.8%	31 79.5%	39	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	3 7.7%	0	0	8 20.5%	28 71.8%	39	4.5
Q6	My instructor provides material that helps me do well on assignments.	2 5.3%	0	0	8 21.1%	28 73.7%	38	4.6
Q 7	My instructor explains new ideas by relating them to familiar concepts.	3 7.7%	0	0	9 23.1%	27 69.2%	39	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 7.7%	0	1 2.6%	8 20.5%	27 69.2%	39	4.4
Q9	My instructor establishes a climate of respect for students.	3 7.7%	0	0	5 12.8%	31 79.5%	39	4.6
Q10	My instructor is available to me on matters pertaining to the course.	3 7.7%	0	0	6 15.4%	30 76.9%	39	4.5
Q11	My instructor encourages me to do my best work.	3 7.7%	0	0	8 20.5%	28 71.8%	39	4.5
Q12	My instructor provides timely feedback to guide my progress.	3 7.7%	0	1 2.6%	8 20.5%	27 69.2%	39	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	3 7.7%	0	0	6 15.4%	30 76.9%	39	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.7%	0	0	8 21.6%	28 75.7%	37	4.7
Q15	My instructor encourages me to develop new viewpoints.	3 7.9%	0	0	7 18.4%	28 73.7%	38	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	3 7.9%	0	0	3 7.9%	32 84.2%	38	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	er Agree o	or Di	sagree=3	[A] Agree	=4 [SA] S	trongly	y Agree=5

Course:	LAW - 7210 1 - Legal Writing II	Department:	LawSchool
Responsible Faculty:	Christine Tamer	Responses / Expected:	40 / 47 (85.11%)

				LAV	N - 7210 -	St	Survey Comparisons					
L	abs and Online Learning Questions	Responses (%)						ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
c	The section or lab is well integrated into the course structure.	2 5.6%	1 2.8%	1 2.8%	14 38.9%	18 50%	36	4.3	513	4.4	34	
c	The course topics are organized in a coherent fashion.	2 5.6%	0	0	16 44.4%	18 50%	36	4.3	726	4.4	36	

	e Evaluation Questions			Chri	istine Tar	ner		
Cour	se Evaluation Questions		R	esponse	s (%)		Ind	ividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	2 5%	1 2.5%	1 2.5%	20 50%	16 40%	40	4.2
Q4	,,		0	1 2.5%	17 42.5%	20 50%	40	4.3
Q5			1 2.5%	1 2.5%	19 47.5%	17 42.5%	40	4.2
Q6	My instructor provides material that helps me do well on assignments.	2 5%	1 2.5%	2 5%	17 42.5%	18 45%	40	4.2
Q7	My instructor explains new ideas by relating them to familiar concepts.	2 5%	1 2.5%	2 5%	20 50%	15 37.5%	40	4.1
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.		0	5 12.5%	22 55%	11 27.5%	40	4.0
Q9	My instructor establishes a climate of respect for students.		1 2.5%	1 2.5%	17 42.5%	19 47.5%	40	4.3
Q10	My instructor is available to me on matters pertaining to the course.	3 7.5%	0	5 12.5%	15 37.5%	17 42.5%	40	4.1
Q11	My instructor encourages me to do my best work.	2 5%	0	3 7.5%	18 45%	17 42.5%	40	4.2
Q12	My instructor provides timely feedback to guide my progress.	2 5%	0	5 12.5%	19 47.5%	14 35%	40	4.1
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 5%	1 2.5%	4 10%	16 40%	17 42.5%	40	4.1
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 5%	0	6 15%	18 45%	14 35%	40	4.1
Q15	My instructor encourages me to develop new viewpoints.		0	7 17.5%	19 47.5%	12 30%	40	4.0
Q16	My instructor made the subject interesting and motivated me to learn.	2 5.1%	1 2.6%	4 10.3%	22 56.4%	10 25.6%	39	3.9
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	gree or Di	sagree=3	[A] Agree	4 [SA] S	trongly	Agree=5	

Course:	LAW - 7210 501 - Legal Writing II	Department:	LawSchool
Responsible Faculty:	Christine Tamer	Responses / Expected:	34 / 39 (87.18%)

					LAW - 721	0 - 501			S	urvey Compariso	ns
L	abs and Online Learning Questions		Re	espoi	nses (%)		C	ourse	All		
	5		D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	1 3.2%	0	9 29%	21 67.7%	31	4.6	513	4.4	58
q	The course topics are organized in a coherent fashion.	0	0	0	13 41.9%	18 58.1%	31	4.6	726	4.4	57

	e Evaluation Questions			Chri	istine Tar	ner		
Cour	se Evaluation Questions		R	esponse	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 2.9%	0	1 2.9%	20 58.8%	12 35.3%	34	4.2
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	2 5.9%	18 52.9%	14 41.2%	34	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	1 2.9%	1 2.9%	19 55.9%	13 38.2%	34	4.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	3 8.8%	19 55.9%	12 35.3%	34	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 5.9%	21 61.8%	11 32.4%	34	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.		2 5.9%	2 5.9%	19 55.9%	11 32.4%	34	4.1
Q9	My instructor establishes a climate of respect for students.		0	0	19 55.9%	15 44.1%	34	4.4
Q10	My instructor is available to me on matters pertaining to the course.	0	1 2.9%	5 14.7%	13 38.2%	15 44.1%	34	4.2
Q11	My instructor encourages me to do my best work.	0	0	5 14.7%	17 50%	12 35.3%	34	4.2
Q12	My instructor provides timely feedback to guide my progress.	0	2 5.9%	1 2.9%	18 52.9%	13 38.2%	34	4.2
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	2 5.9%	20 58.8%	12 35.3%	34	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 2.9%	3 8.8%	17 50%	13 38.2%	34	4.2
Q15	My instructor encourages me to develop new viewpoints.		1 3%	4 12.1%	18 54.5%	10 30.3%	33	4.1
Q16	My instructor made the subject interesting and motivated me to learn.	0	2 5.9%	5 14.7%	15 44.1%	12 35.3%	34	4.1
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	leither Aç	ree or Di	sagree=3	[A] Agree	=4 [SA] St	trongly	/ Agree=5

С	ourse:	LAW - 7211 1 - Legal Research	Department:	LawSchool
Responsible F	aculty:	Bailey Eagin; Edward Hart	Responses / Expected:	31 / 47 (65.96%)

				L	AW - 721	I - 1			St	ırvey Compariso	ons
Labs and Online Learning Questions		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	1 4.2%	6 25%	17 70.8%	24	4.7	513	4.4	65
	Q2 The course topics are organized in a coherent fashion.	0	1 4.2%	1 4.2%	3 12.5%	19 79.2%	24	4.7	726	4.4	65

	rse Evaluation Questions			В	ailey Eagi	n		
Cour	se Evaluation Questions		R	esponse	s (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	1 3.2%	2 6.5%	12 38.7%	16 51.6%	31	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	11 35.5%	20 64.5%	31	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	12 38.7%	19 61.3%	31	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	1 3.2%	3 9.7%	9 29%	18 58.1%	31	4.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	1 3.2%	3 9.7%	11 35.5%	16 51.6%	31	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3.2%	0	3 9.7%	10 32.3%	17 54.8%	31	4.4
Q9	My instructor establishes a climate of respect for students.	0	0	0	8 25.8%	23 74.2%	31	4.7
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	8 25.8%	23 74.2%	31	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	10 32.3%	21 67.7%	31	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	1 3.2%	0	12 38.7%	18 58.1%	31	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 3.2%	2 6.5%	8 25.8%	20 64.5%	31	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 9.7%	10 32.3%	18 58.1%	31	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	5 16.1%	9 29%	17 54.8%	31	4.4
Q16	My instructor made the subject interesting and motivated me to learn.		0	4 12.9%	11 35.5%	16 51.6%	31	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	leither Aç	gree or Di	sagree=3	[A] Agree	4 [SA] St	trongly	/ Agree=5

Course:	LAW - 7211 501 - Legal Research	Department:	LawSchool
Responsible Faculty:	Stewart Caton; Bailey Eagin	Responses / Expected:	26 / 39 (66.67%)

Г				LAW	- 7211 - 5	Survey Comparisons					
Labs and Online Learning Questions		Responses (%)						ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	The section or lab is well integrated into the course structure.	0	1 4.2%	4 16.7%	8 33.3%	11 45.8%	24	4.2	513	4.4	32
	The course topics are organized in a coherent fashion.	1 4.2%	0	3 12.5%	8 33.3%	12 50%	24	4.3	726	4.4	34

	Evaluation Questions			ı	Bailey Eag	gin		
Cour	se Evaluation Questions			Respons	es (%)		Ind	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	5 19.2%	8 30.8%	13 50%	26	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	4 15.4%	9 34.6%	13 50%	26	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	2 7.7%	2 7.7%	10 38.5%	12 46.2%	26	4.2
Q6	My instructor provides material that helps me do well on assignments.	0	1 3.8%	2 7.7%	11 42.3%	12 46.2%	26	4.3
Q 7	My instructor explains new ideas by relating them to familiar concepts.	0	1 3.8%	2 7.7%	12 46.2%	11 42.3%	26	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.		0	3 12%	11 44%	11 44%	25	4.3
Q9	My instructor establishes a climate of respect for students.	0	0	2 7.7%	8 30.8%	16 61.5%	26	4.5
Q10	My instructor is available to me on matters pertaining to the course.	0	0	3 11.5%	5 19.2%	18 69.2%	26	4.6
Q11	My instructor encourages me to do my best work.	0	0	4 16%	5 20%	16 64%	25	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	1 3.8%	5 19.2%	7 26.9%	13 50%	26	4.2
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	3 11.5%	9 34.6%	14 53.8%	26	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	4 15.4%	8 30.8%	14 53.8%	26	4.4
Q15	My instructor encourages me to develop new viewpoints.		0	5 19.2%	8 30.8%	13 50%	26	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 3.8%	3 11.5%	8 30.8%	14 53.8%	26	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Ne	ither A	gree or D	isagree=3	[A] Agree	=4 [SA] S	trongly	y Agree=5

Course:	LAW - 7213 1 - Property I	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	28 / 48 (58.33%)

Labs and Online Learning Questions					LAW - 72	213 - 1	Survey Comparisons				
				Respo	nses (%)		C	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	1 7.1%	1 7.1%	12 85.7%	14	4.8	513	4.4	75
	Q2 The course topics are organized in a coherent fashion.	0	0	1 5.3%	3 15.8%	15 78.9%	19	4.7	726	4.4	74

					Jonathan Bridges				
Course Evaluation Questions		Responses (%)					Individual		
		SD	D	N	Α	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	0	1 3.6%	1 3.6%	9 32.1%	17 60.7%	28	4.5	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 3.6%	8 28.6%	19 67.9%	28	4.6	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	1 3.7%	3 11.1%	6 22.2%	17 63%	27	4.4	
Q6	My instructor provides material that helps me do well on assignments.	0	2 7.1%	2 7.1%	7 25%	17 60.7%	28	4.4	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	9 32.1%	19 67.9%	28	4.7	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	1 3.6%	9 32.1%	18 64.3%	28	4.6	
Q9	My instructor establishes a climate of respect for students.	0	0	0	4 14.3%	24 85.7%	28	4.9	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	4 14.3%	24 85.7%	28	4.9	
Q11	My instructor encourages me to do my best work.	0	0	0	3 10.7%	25 89.3%	28	4.9	
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 3.6%	6 21.4%	21 75%	28	4.7	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 3.6%	3 10.7%	24 85.7%	28	4.8	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 17.9%	23 82.1%	28	4.8	
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 3.6%	6 21.4%	21 75%	28	4.7	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 3.6%	6 21.4%	21 75%	28	4.7	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5								

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7214 501 - Property II	Department:	LawSchool
Responsible Faculty:	Jonathan Bridges	Responses / Expected:	37 / 51 (72.55%)

			L	AW - 7214	- 501	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					Course	All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course structure.	0	0	0	4 40%	6 60%	10	4.6	513	4.4	56
Q2 The course topics are organized in a coherent fashion.	0	0	1 4.5%	10 45.5%	11 50%	22	4.5	726	4.4	46

tor explains difficult material clearly. tor provides facts, examples, and references that helped me learn the material.	SD 2 5.4%	D 3	esponses N	(%)		Ind	lividual
<u> </u>	2	_	N				
<u> </u>		3		A	SA	N	Mean
tor provides facts, examples, and references that helped me learn the material.		8.1%	2 5.4%	15 40.5%	15 40.5%	37	4.0
h	1 2.8%	2 5.6%	0	16 44.4%	17 47.2%	36	4.3
tor gives assignments that contribute to my understanding of the subject.	1 2.7%	3 8.1%	5 13.5%	14 37.8%	14 37.8%	37	4.0
tor provides material that helps me do well on assignments.	1 2.7%	5 13.5%	6 16.2%	13 35.1%	12 32.4%	37	3.8
tor explains new ideas by relating them to familiar concepts.	1 2.7%	1 2.7%	0	17 45.9%	18 48.6%	37	4.4
tor evaluates my work in ways that are helpful to my ability to learn.	1 2.7%	2 5.4%	4 10.8%	14 37.8%	16 43.2%	37	4.1
tor establishes a climate of respect for students.	1 2.7%	0	0	6 16.2%	30 81.1%	37	4.7
tor is available to me on matters pertaining to the course.	1 2.7%	0	0	6 16.2%	30 81.1%	37	4.7
tor encourages me to do my best work.	1 2.7%	0	0	7 18.9%	29 78.4%	37	4.7
tor provides timely feedback to guide my progress.	1 2.7%	0	2 5.4%	7 18.9%	27 73%	37	4.6
tor creates an atmosphere in which ideas can be exchanged freely.	1 2.7%	0	0	7 18.9%	29 78.4%	37	4.7
tor encourages me to connect course topics to a wider understanding of the subject.	1 2.7%	0	2 5.4%	8 21.6%	26 70.3%	37	4.6
tor encourages me to develop new viewpoints.	1 2.7%	0	1 2.7%	9 24.3%	26 70.3%	37	4.6
tor made the subject interesting and motivated me to learn.	2 5.4%	1 2.7%	0	7 18.9%	27 73%	37	4.5
1 1 1	tor provides material that helps me do well on assignments. tor explains new ideas by relating them to familiar concepts. tor evaluates my work in ways that are helpful to my ability to learn. tor establishes a climate of respect for students. tor is available to me on matters pertaining to the course. tor encourages me to do my best work. tor provides timely feedback to guide my progress. tor creates an atmosphere in which ideas can be exchanged freely. tor encourages me to connect course topics to a wider understanding of the subject. tor encourages me to develop new viewpoints. tor made the subject interesting and motivated me to learn. Responses: [SD] Strongly Disagree=1 [D] Disagree=1	tor provides material that helps me do well on assignments. 1 2.7% tor explains new ideas by relating them to familiar concepts. 1 2.7% tor evaluates my work in ways that are helpful to my ability to learn. 1 2.7% tor establishes a climate of respect for students. 1 2.7% tor is available to me on matters pertaining to the course. 1 2.7% tor encourages me to do my best work. 1 2.7% tor provides timely feedback to guide my progress. 1 2.7% tor creates an atmosphere in which ideas can be exchanged freely. 1 2.7% tor encourages me to connect course topics to a wider understanding of the subject. 1 2.7% tor encourages me to develop new viewpoints. 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2	tor provides material that helps me do well on assignments. 1	tor provides material that helps me do well on assignments. 2.7% 8.1% 13.5% 16.2% 2.7% 13.5% 16.2% tor explains new ideas by relating them to familiar concepts. 2.7% 2.7% 2.7% 0 tor evaluates my work in ways that are helpful to my ability to learn. 2.7% 5.4% 10.8% tor establishes a climate of respect for students. 2.7% 0 0 tor is available to me on matters pertaining to the course. 2.7% 0 0 tor encourages me to do my best work. 2.7% 0 0 1 2.7% 0 0 1 2.7% 0 0 1 2.7% 0 0 1 2.7% 0 0 1 2.7% 0 0 1 2.7% 0 0 1 2.7% 0 0 1 2.7% 0 1 2.7% 0 1 2.7% 0 1 2.7% 0 1 2.7% 0 1 2.7% 0 1 2.7% 0 1 2.7% 0	tor provides material that helps me do well on assignments. 1	tor provides material that helps me do well on assignments. 1	2.7% 8.1% 13.5% 37.8% 37.8% 37.8% 13.5% 37.8% 37.8% 37.8% 37.8% 13.5% 37.8% 37.8% 37.8% 13.5% 37.8% 37.8% 37.8% 13.5% 37.8% 37.8% 37.8% 13.5% 37.8% 37.8% 13.5% 37.8% 37.8% 13.5% 37.8% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 13.5% 37.8% 13.5% 13.5% 13.5% 37.8% 13.5% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 13.5% 37.8% 13.5% 37.8% 13.5% 13.5% 37.8% 13.5% 13.5% 13.5% 37.8% 13.5% 13.5% 37.8% 13.5% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 37.8% 13.5% 13.5% 37.8% 13.5% 13.5% 13.5% 13.5% 37.8% 13.5%

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7217 501 - Torts II	Department:	LawSchool
Responsible Faculty:	Ellen Pryor	Responses / Expected:	35 / 39 (89.74%)

	abs and Online Learning Questions				LAW - 721	Survey Comparisons					
		Responses (%)					С	ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	1 5.9%	3 17.6%	13 76.5%	17	4.7	513	4.4	68
	Q2 The course topics are organized in a coherent fashion.	0	0	1 3.7%	9 33.3%	17 63%	27	4.6	726	4.4	61

					Ellen Pry	or			
Cour	se Evaluation Questions			Inc	lividual				
		SD	D	N	Α	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	0	3 8.6%	4 11.4%	17 48.6%	11 31.4%	35	4.0	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 2.9%	2 5.7%	11 31.4%	21 60%	35	4.5	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	1 2.9%	1 2.9%	13 37.1%	20 57.1%	35	4.5	
Q6	My instructor provides material that helps me do well on assignments.	0	2 5.7%	0	11 31.4%	22 62.9%	35	4.5	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	2 5.7%	1 2.9%	18 51.4%	14 40%	35	4.3	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 8.6%	14 40%	18 51.4%	35	4.4	
Q9	My instructor establishes a climate of respect for students.	0	0	0	10 28.6%	25 71.4%	35	4.7	
Q10	My instructor is available to me on matters pertaining to the course.	0	1 2.9%	2 5.7%	10 28.6%	22 62.9%	35	4.5	
Q11	My instructor encourages me to do my best work.	0	0	1 2.9%	13 37.1%	21 60%	35	4.6	
Q12	My instructor provides timely feedback to guide my progress.	0	3 8.6%	3 8.6%	16 45.7%	13 37.1%	35	4.1	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	12 34.3%	23 65.7%	35	4.7	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 2.9%	2 5.7%	14 40%	18 51.4%	35	4.4	
Q15	My instructor encourages me to develop new viewpoints.	0	1 2.9%	2 5.9%	13 38.2%	18 52.9%	34	4.4	
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 2.9%	2 5.7%	9 25.7%	23 65.7%	35	4.5	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Ne	ither A	gree or D	isagree=3	[A] Agree	=4 [SA] S	trongl	y Agree=5	

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7218 1 - First Amendment	Department:	LawSchool
Responsible Faculty:	Brian Owsley	Responses / Expected:	18 / 25 (72%)

					LAW - 7	7218 - 1	Survey Comparisons				
	s and Online Learning Questions		Responses (%)					Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	The section or lab is well integrated into the course structure.	0	0	0	2 66.7%	1 33.3%	3	4.3	513	4.4	38
	The course topics are organized in a coherent fashion.	0	0	0	3 33.3%	6 66.7%	9	4.7	726	4.4	65

					Brian Ov	vsley		
Cour	se Evaluation Questions			Respon	ises (%)			lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	2 11.1%	7 38.9%	9 50%	18	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 5.9%	6 35.3%	10 58.8%	17	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	6 33.3%	12 66.7%	18	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 5.6%	4 22.2%	13 72.2%	18	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	7 38.9%	11 61.1%	18	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 11.1%	5 27.8%	11 61.1%	18	4.5
Q9	My instructor establishes a climate of respect for students.	0	0	1 5.9%	6 35.3%	10 58.8%	17	4.5
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 5.6%	2 11.1%	15 83.3%	18	4.8
Q11	My instructor encourages me to do my best work.	0	0	0	6 33.3%	12 66.7%	18	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 16.7%	15 83.3%	18	4.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	7 38.9%	11 61.1%	18	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	3 16.7%	4 22.2%	11 61.1%	18	4.4
Q15	My instructor encourages me to develop new viewpoints.	0	0	2 11.1%	5 27.8%	11 61.1%	18	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	2 11.1%	6 33.3%	10 55.6%	18	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	r Agre	e or l	Disagree=3	[A] Agree	=4 [SA] S	strongl	y Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7219 1 - Civil Rights	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	5 / 8 (62.50%)

or explains difficult material clearly. or provides facts, examples, and references that helped me learn the material. or gives assignments that contribute to my understanding of the subject. or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts. or evaluates my work in ways that are helpful to my ability to learn.	SD 1 20% 0 0 0 0 0 0	Res D 0 1 20% 0 1 20% 1 20% 1 20%	0 0 1 20% 2 40%	1 20% 1 20% 0 1 20%	\$A 3 60% 3 60% 3 60% 3 60% 3 60%	5 5 5	4.0 4.2 4.4
or provides facts, examples, and references that helped me learn the material. or gives assignments that contribute to my understanding of the subject. or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts.	1 20% 0 0 0	0 1 20% 0 0 1 20% 1	0 0 1 20% 2 40%	1 20% 1 20% 1 20% 0	3 60% 3 60% 3 60% 3 60%	5 5 5	4.0 4.2 4.4 4.2
or provides facts, examples, and references that helped me learn the material. or gives assignments that contribute to my understanding of the subject. or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts.	20% 0 0 0 0	1 20% 0 0 1 20% 1 1	0 1 20% 2 40%	20% 1 20% 1 20% 0	60% 3 60% 3 60% 3 60% 3	5 5	4.2
or gives assignments that contribute to my understanding of the subject. or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts.	0 0 0	20% 0 0 1 20% 1	1 20% 2 40%	1 20% 0	3 60% 3 60% 3	5	4.4
or provides material that helps me do well on assignments. or explains new ideas by relating them to familiar concepts.	0 0	0 1 20% 1	20% 2 40% 0	0	60% 3 60% 3	5	4.2
or explains new ideas by relating them to familiar concepts.	0	1 20% 1	0	1	60%		
	0	20%				5	
or evaluates my work in ways that are helpful to my ability to learn.							4.2
			0	1 20%	3 60%	5	4.2
or establishes a climate of respect for students.	0	0	0	1 25%	3 75%	4	4.8
or is available to me on matters pertaining to the course.	0	0	0	1 20%	4 80%	5	4.8
or encourages me to do my best work.	0	0	1 20%	0	4 80%	5	4.6
or provides timely feedback to guide my progress.	0	0	1 20%	1 20%	3 60%	5	4.4
or creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 20%	4 80%	5	4.8
or encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	1 20%	3 60%	5	4.4
or analyzada maita dayalan nayyyiayyainta	0	0	1 20%	1 20%	3 60%	5	4.4
or encourages me to develop new viewpoints.	1	0	0	1 20%	3 60%	5	4.0
	or creates an atmosphere in which ideas can be exchanged freely. or encourages me to connect course topics to a wider understanding of the subject. or encourages me to develop new viewpoints.	or encourages me to connect course topics to a wider understanding of the subject. 0 or encourages me to develop new viewpoints. 0 or made the subject interesting and metivated me to learn.	or encourages me to connect course topics to a wider understanding of the subject. 0 0 or encourages me to develop new viewpoints. 0 0 or made the subject interesting and metivated me to learn.	or encourages me to connect course topics to a wider understanding of the subject. 0 0 1 1 20% or encourages me to develop new viewpoints. 0 0 1 20%	or encourages me to connect course topics to a wider understanding of the subject. 0 0 1 1 1 20% or encourages me to develop new viewpoints. 0 0 1 1 1 20% or made the subject interesting and metivated me to learn.	or creates an atmosphere in which ideas can be exchanged freely. or encourages me to connect course topics to a wider understanding of the subject. or encourages me to develop new viewpoints. or encourages me to develop new viewpoints. or encourages me to develop new viewpoints. or made the subject interesting and metivated me to learn.	or creates an atmosphere in which ideas can be exchanged freely. or encourages me to connect course topics to a wider understanding of the subject. or encourages me to develop new viewpoints. or made the subject interesting and metivated me to learn.

Course:	LAW - 7220 1 - Courtroom Advocacy Skills	Department:	LawSchool
Responsible Faculty:	Nicole Williams	Responses / Expected:	5 / 10 (50%)

					LAW -	7220 - 1			Survey Comparisons				
L	bs and Online Learning Questions	Responses (%)					(Course	All				
			D	N	A	SA	A N Mean		N	Mean	Pct Rnk		
Q	The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	513	4.4	48		
Q	The course topics are organized in a coherent fashion.	0	0	0	1 50%	1 50%	2	4.5	726	4.4	51		

				Nic	ole Wil	liams		
Cour	se Evaluation Questions		Re	sponse	s (%)		In	dividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 20%	3 60%	1 20%	5	4.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 80%	1 20%	5	4.2
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 80%	1 20%	5	4.2
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 20%	3 60%	1 20%	5	4.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 80%	1 20%	5	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 80%	1 20%	5	4.2
Q9	My instructor establishes a climate of respect for students.	0	0	0	4 80%	1 20%	5	4.2
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 20%	3 60%	1 20%	5	4.0
Q11	My instructor encourages me to do my best work.	0	1 20%	0	3 60%	1 20%	5	3.8
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 20%	3 60%	1 20%	5	4.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 80%	1 20%	5	4.2
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 20%	3 60%	1 20%	5	4.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 20%	3 60%	1 20%	5	4.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 20%	3 60%	1 20%	5	4.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither A	gree or	Disagre	e=3 [A]	Agree=4	[SA] S	Strong	ly Agree=5

	Course:	LAW - 7220 501 - Courtroom Advocacy Skills	Department:	LawSchool
Respo	onsible Faculty:	Nicole Williams	Responses / Expected:	3 / 7 (42.86%)

				L	AW -	- 7220 - 50	01	Survey Comparisons				
L	abs and Online Learning Questions		Res	pon	ses	(%)	(Course		All		
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	0	0	1 100%	1	5.0	513	4.4	90	
C	The course topics are organized in a coherent fashion.	0	0	0	0	2 100%	2	5.0	726	4.4	94	

Caus	Course Evaluation Questions				Nicole	Williams		
Cour	se Evaluation Questions		_		ponses (%			dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	0	0	0	3 100%	3	5.0
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	0	3 100%	3	5.0
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	0	3 100%	3	5.0
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	0	3 100%	3	5.0
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	0	3 100%	3	5.0
Q9	My instructor establishes a climate of respect for students.	0	0	0	0	3 100%	3	5.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 33.3%	2 66.7%	3	4.7
Q11	My instructor encourages me to do my best work.	0	0	0	0	3 100%	3	5.0
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	0	3 100%	3	5.0
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	0	3 100%	3	5.0
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	0	3 100%	3	5.0
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	0	3 100%	3	5.0
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	0	3 100%	3	5.0
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agr	ee or [Disaç	gree=	3 [A] Agre	e=4 [SA] \$	Strong	lly Agree=5

Course:	LAW - 7221 501 - Effective Oral Communication	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	8 / 15 (53.33%)

				LAV	W - 722	21 - 501	Survey Comparisons				
Labs and Online Learning Questions		Responses (%)					C	Course		All	
	SD	D I	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course s	structure. 0	0 (0	0	0	1 100%	1	5.0	513	4.4	90
Q2 The course topics are organized in a coherent fashio	n. 0	0 2	1 25%	0	3 75%	0	4	3.5	726	4.4	17

				Micha	el Maslaı	nka		
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 12.5%	1 12.5%	0	3 37.5%	3 37.5%	8	3.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 12.5%	0	1 12.5%	3 37.5%	3 37.5%	8	3.9
Q6	My instructor provides material that helps me do well on assignments.	1 12.5%	1 12.5%	0	3 37.5%	3 37.5%	8	3.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 12.5%	0	0	2 25%	5 62.5%	8	4.3
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	1 12.5%	1 12.5%	2 25%	4 50%	8	4.1
Q9	My instructor establishes a climate of respect for students.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q11	My instructor encourages me to do my best work.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 12.5%	5 62.5%	2 25%	8	4.1
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	1 12.5%	7 87.5%	8	4.9
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	2 25%	6 75%	8	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 12.5%	1 12.5%	6 75%	8	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongl	y Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7222 501 - Contracts I	Department:	LawSchool
Responsible Faculty:	Matthew Crockett	Responses / Expected:	27 / 39 (69.23%)

			L	AW - 72	22 - 501	Survey Comparisons					
Labs and Online Learning Questions	Responses (%)					C	ourse	All			
		D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	1 7.7%	12 92.3%	13	4.9	513	4.4	79	
Q2 The course topics are organized in a coherent fashion.	0	0	1 6.7%	1 6.7%	13 86.7%	15	4.8	726	4.4	80	

				Ma	tthew Cro	ckett		
Cour	se Evaluation Questions		R	espons	es (%)	ı	Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	2 7.4%	7 25.9%	18 66.7%	27	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	1 3.7%	1 3.7%	5 18.5%	20 74.1%	27	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	2 7.4%	2 7.4%	5 18.5%	18 66.7%	27	4.4
Q6	My instructor provides material that helps me do well on assignments.	0	3 11.1%	2 7.4%	4 14.8%	18 66.7%	27	4.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	1 3.7%	1 3.7%	6 22.2%	19 70.4%	27	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 7.4%	0	5 18.5%	20 74.1%	27	4.6
Q9	My instructor establishes a climate of respect for students.	0	0	0	6 22.2%	21 77.8%	27	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	1 3.7%	1 3.7%	5 18.5%	20 74.1%	27	4.6
Q11	My instructor encourages me to do my best work.	0	1 3.7%	1 3.7%	4 14.8%	21 77.8%	27	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 3.7%	2 7.4%	24 88.9%	27	4.9
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 14.8%	23 85.2%	27	4.9
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	1 3.7%	0	5 18.5%	21 77.8%	27	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 3.7%	5 18.5%	21 77.8%	27	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 3.7%	1 3.7%	5 18.5%	20 74.1%	27	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Ne	ither A	gree or Dis	agree=3	[A] Agree	=4 [SA] S	trongly	y Agree=5

Course:	LAW - 7246 1 - Health Care Law II	Department:	LawSchool
Responsible Faculty:	Loren Jacobson	Responses / Expected:	15 / 15 (100%)

					LAW -	7246 - 1	Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)					ourse	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q	1 The section or lab is well integrated into the course structure.	0	0	0	0	4 100%	4	5.0	513	4.4	90
Q	2 The course topics are organized in a coherent fashion.	0	0	0	1 7.7%	12 92.3%	13	4.9	726	4.4	87

				Lore	en Jacol	oson		
Cour	se Evaluation Questions		R	esponses	s (%)	1	Inc	lividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	0	1 6.7%	0	1 6.7%	13 86.7%	15	4.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 20%	12 80%	15	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 13.3%	1 6.7%	12 80%	15	4.7
Q6	My instructor provides material that helps me do well on assignments.	0	0	2 13.3%	0	13 86.7%	15	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	2 13.3%	0	13 86.7%	15	4.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 13.3%	0	0	13 86.7%	15	4.6
Q9	My instructor establishes a climate of respect for students.	0	1 6.7%	0	0	14 93.3%	15	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 6.7%	0	14 93.3%	15	4.9
Q11	My instructor encourages me to do my best work.	0	0	1 6.7%	0	14 93.3%	15	4.9
Q12	My instructor provides timely feedback to guide my progress.	0	0	2 13.3%	0	13 86.7%	15	4.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 6.7%	0	0	14 93.3%	15	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 6.7%	1 6.7%	13 86.7%	15	4.8
Q15	My instructor encourages me to develop new viewpoints.	0	0	2 13.3%	0	13 86.7%	15	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 6.7%	0	1 6.7%	13 86.7%	15	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Ne	ither A	gree or Dis	agree=3 [A] Agree	=4 [SA] S	trongl	/ Agree=5

Course:	LAW - 7294 1 - Capstone I	Department:	LawSchool
Responsible Faculty:	Preyal Shah	Responses / Expected:	36 / 62 (58.06%)

		LAW - 7294 - 1								Survey Comparisons			
L	Labs and Online Learning Questions	Responses (%)					С	ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
q	1 The section or lab is well integrated into the course structure.	2 18.2%	1 9.1%	1 9.1%	3 27.3%	4 36.4%	11	3.5	513	4.4	17		
q	2 The course topics are organized in a coherent fashion.	2 8.7%	0	2 8.7%	10 43.5%	9 39.1%	23	4.0	726	4.4	32		

				P	reyal Sha	h					
Cour	instructor provides facts, examples, and references that helped me learn the material. instructor gives assignments that contribute to my understanding of the subject. instructor provides material that helps me do well on assignments. instructor explains new ideas by relating them to familiar concepts. instructor evaluates my work in ways that are helpful to my ability to learn. instructor establishes a climate of respect for students. instructor is available to me on matters pertaining to the course. instructor encourages me to do my best work. instructor provides timely feedback to guide my progress. instructor creates an atmosphere in which ideas can be exchanged freely. instructor encourages me to connect course topics to a wider understanding of the subject. instructor encourages me to develop new viewpoints. instructor made the subject interesting and motivated me to learn.	Responses (%) Individ									
		SD	D	N	Α	SA	N	Mean			
Q3	My instructor explains difficult material clearly.	1 2.8%	3 8.3%	4 11.1%	16 44.4%	12 33.3%	36	4.0			
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 2.8%	0	2 5.6%	20 55.6%	13 36.1%	36	4.2			
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 2.8%	0	2 5.6%	19 52.8%	14 38.9%	36	4.3			
Q6	My instructor provides material that helps me do well on assignments.	1 2.8%	1 2.8%	0	18 50%	16 44.4%	36	4.3			
Q7	19. My instructor avaluates my work in wave that are helpful to my shillity to learn	1 2.9%	3 8.6%	6 17.1%	12 34.3%	13 37.1%	35	3.9			
Q8		1 2.8%	3 8.3%	4 11.1%	17 47.2%	11 30.6%	36	3.9			
Q9	My instructor establishes a climate of respect for students.	1 2.8%	1 2.8%	6 16.7%	14 38.9%	14 38.9%	36	4.1			
Q10	My instructor is available to me on matters pertaining to the course.	1 2.8%	0	1 2.8%	19 52.8%	15 41.7%	36	4.3			
Q11	My instructor encourages me to do my best work.	1 2.8%	1 2.8%	3 8.3%	15 41.7%	16 44.4%	36	4.2			
Q12	My instructor provides timely feedback to guide my progress.	1 2.8%	1 2.8%	3 8.3%	15 41.7%	16 44.4%	36	4.2			
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 2.8%	3 8.3%	6 16.7%	13 36.1%	13 36.1%	36	3.9			
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.9%	2 5.7%	5 14.3%	14 40%	13 37.1%	35	4.0			
Q15	My instructor encourages me to develop new viewpoints.	1 2.8%	2 5.6%	6 16.7%	15 41.7%	12 33.3%	36	4.0			
Q16	My instructor made the subject interesting and motivated me to learn.	3 8.3%	2 5.6%	7 19.4%	12 33.3%	12 33.3%	36	3.8			
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	leither Ag	ree or Di	sagree=3	[A] Agree	=4 [SA] S	trongly	Agree=5			

Course:	LAW - 7294 501 - Capstone I	Department:	LawSchool
Responsible Faculty:	Preyal Shah	Responses / Expected:	29 / 43 (67.44%)

		LAW - 7294 - 501						LAW - 7294 - 501				
l	Labs and Online Learning Questions	Responses (%)						ourse	All			
			D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	The section or lab is well integrated into the course structure.	1 6.7%	1 6.7%	0	2 13.3%	11 73.3%	15	4.4	513	4.4	42	
Į,	The course topics are organized in a coherent fashion.	1 4.5%	1 4.5%	0	4 18.2%	16 72.7%	22	4.5	726	4.4	51	

_				Pr	eyal Shal	h		
Cou	rse Evaluation Questions		Re	esponses	(%)		Ind	dividual
		SD	D	N	Α	SA	N	Mean
QЗ	My instructor explains difficult material clearly.	1 3.4%	2 6.9%	2 6.9%	5 17.2%	19 65.5%	29	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 3.4%	1 3.4%	0	6 20.7%	21 72.4%	29	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 3.4%	1 3.4%	0	4 13.8%	23 79.3%	29	4.6
Q6	My instructor provides material that helps me do well on assignments.	0	1 3.6%	1 3.6%	4 14.3%	22 78.6%	28	4.7
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 3.4%	2 6.9%	0	7 24.1%	19 65.5%	29	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3.4%	2 6.9%	2 6.9%	5 17.2%	19 65.5%	29	4.3
Q9	My instructor establishes a climate of respect for students.	2 6.9%	1 3.4%	0	3 10.3%	23 79.3%	29	4.5
Q10	My instructor is available to me on matters pertaining to the course.	1 3.6%	0	1 3.6%	4 14.3%	22 78.6%	28	4.6
Q11	My instructor encourages me to do my best work.	2 6.9%	0	1 3.4%	5 17.2%	21 72.4%	29	4.5
Q12	My instructor provides timely feedback to guide my progress.	2 7.1%	0	1 3.6%	5 17.9%	20 71.4%	28	4.5
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	3 10.3%	0	0	5 17.2%	21 72.4%	29	4.4
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	2 6.9%	0	2 6.9%	6 20.7%	19 65.5%	29	4.4
Q15	My instructor encourages me to develop new viewpoints.	3 10.3%	0	3 10.3%	4 13.8%	19 65.5%	29	4.2
Q16	My instructor made the subject interesting and motivated me to learn.	2 7.1%	0	1 3.6%	6 21.4%	19 67.9%	28	4.4

Course:	LAW - 7296 1 - Capstone III	Department:	LawSchool
Responsible Faculty:	Everett Chambers	Responses / Expected:	49 / 75 (65.33%)

				LAW	Survey Comparisons							
	Labs and Online Learning Questions	Responses (%)						ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	3 18.8%	0	3 18.8%	4 25%	6 37.5%	16	3.6	513	4.4	19	
	Q2 The course topics are organized in a coherent fashion.	4 14.8%	2 7.4%	4 14.8%	8 29.6%	9 33.3%	27	3.6	726	4.4	21	

_				Everet	t Chambe	ers		
Cou	rse Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	7 14.3%	4 8.2%	6 12.2%	20 40.8%	12 24.5%	49	3.5
Q4	My instructor provides facts, examples, and references that helped me learn the material.	2 4.1%	4 8.2%	8 16.3%	21 42.9%	14 28.6%	49	3.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	4 8.2%	3 6.1%	8 16.3%	17 34.7%	17 34.7%	49	3.8
Q6	My instructor provides material that helps me do well on assignments.	4 8.2%	5 10.2%	6 12.2%	15 30.6%	19 38.8%	49	3.8
Q7	My instructor explains new ideas by relating them to familiar concepts.	4 8.2%	3 6.1%	13 26.5%	14 28.6%	15 30.6%	49	3.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	7 14.3%	7 14.3%	7 14.3%	11 22.4%	17 34.7%	49	3.5
Q9	My instructor establishes a climate of respect for students.	7 14.3%	5 10.2%	4 8.2%	16 32.7%	17 34.7%	49	3.6
Q10	My instructor is available to me on matters pertaining to the course.	2 4.1%	2 4.1%	6 12.2%	16 32.7%	23 46.9%	49	4.1
Q11	My instructor encourages me to do my best work.	3 6.3%	4 8.3%	4 8.3%	11 22.9%	26 54.2%	48	4.1
Q12	My instructor provides timely feedback to guide my progress.	4 8.2%	4 8.2%	12 24.5%	11 22.4%	18 36.7%	49	3.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	9 18.4%	3 6.1%	3 6.1%	16 32.7%	18 36.7%	49	3.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	4 8.2%	1 2%	7 14.3%	18 36.7%	19 38.8%	49	4.0
Q15	My instructor encourages me to develop new viewpoints.	4 8.2%	1 2%	10 20.4%	14 28.6%	20 40.8%	49	3.9
Q16	My instructor made the subject interesting and motivated me to learn.	8 16.3%	3 6.1%	7 14.3%	11 22.4%	20 40.8%	49	3.7

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7310 1 - Criminal Law	Department:	LawSchool
Responsible Faculty:	Clarence Cole	Responses / Expected:	33 / 48 (68.75%)

					LAW - 7	310 - 1	Survey Comparisons					
	Labs and Online Learning Questions	Responses (%)					C	ourse	All			
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	1 6.3%	0	0	2 12.5%	13 81.3%	16	4.6	513	4.4	61	
	Q2 The course topics are organized in a coherent fashion.	1 4.5%	0	0	2 9.1%	19 86.4%	22	4.7	726	4.4	71	

					Clarence	Cole		
Cour	se Evaluation Questions			Respon	ses (%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 3.1%	0	0	8 25%	23 71.9%	32	4.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 3.1%	0	0	3 9.4%	28 87.5%	32	4.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 3.1%	0	1 3.1%	6 18.8%	24 75%	32	4.6
Q6	My instructor provides material that helps me do well on assignments.	1 3.1%	0	0	8 25%	23 71.9%	32	4.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 3.1%	0	0	8 25%	23 71.9%	32	4.6
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 3.1%	0	2 6.3%	8 25%	21 65.6%	32	4.5
Q9	My instructor establishes a climate of respect for students.	1 3.1%	0	0	5 15.6%	26 81.3%	32	4.7
Q10	My instructor is available to me on matters pertaining to the course.	1 3.1%	0	0	8 25%	23 71.9%	32	4.6
Q11	My instructor encourages me to do my best work.	1 3.1%	0	1 3.1%	7 21.9%	23 71.9%	32	4.6
Q12	My instructor provides timely feedback to guide my progress.	1 3.1%	0	0	8 25%	23 71.9%	32	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 3.1%	0	0	4 12.5%	27 84.4%	32	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 3.1%	0	0	5 15.6%	26 81.3%	32	4.7
Q15	My instructor encourages me to develop new viewpoints.	1 3.1%	0	0	5 15.6%	26 81.3%	32	4.7
Q16	My instructor made the subject interesting and motivated me to learn.	1 3.1%	0	0	5 15.6%	26 81.3%	32	4.7
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither	er Agree o	or Di	sagree=3	[A] Agree	=4 [SA] S	trongl	y Agree=5

Course:	LAW - 7312 1 - Practice Foundation I: Interviewing and Counseling	Department:	LawSchool
Responsible Faculty:	Cheryl Wattley	Responses / Expected:	32 / 47 (68.09%)

		LAW	- 7312 - 1	Survey Comparisons						
Labs and Online Learning Questions	Responses (%)					С	ourse			
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q1 The section or lab is well integrated into the course structure.	3 10.7%	1 3.6%	5 17.9%	8 28.6%	11 39.3%	28	3.8	513	4.4	21
Q2 The course topics are organized in a coherent fashion.	3 10.7%	6 21.4%	3 10.7%	7 25%	9 32.1%	28	3.5	726	4.4	15

				Cher	yl Wattle	у		
Cour	se Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	6 18.8%	1 3.1%	3 9.4%	12 37.5%	10 31.3%	32	3.6
Q4	My instructor provides facts, examples, and references that helped me learn the material.	3 9.4%	4 12.5%	0	14 43.8%	11 34.4%	32	3.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	3 9.4%	3 9.4%	7 21.9%	5 15.6%	14 43.8%	32	3.8
Q6	My instructor provides material that helps me do well on assignments.	7 21.9%	5 15.6%	3 9.4%	7 21.9%	10 31.3%	32	3.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	5 15.6%	1 3.1%	3 9.4%	12 37.5%	11 34.4%	32	3.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	8 25%	4 12.5%	3 9.4%	7 21.9%	10 31.3%	32	3.2
Q9	My instructor establishes a climate of respect for students.	5 15.6%	2 6.3%	3 9.4%	10 31.3%	12 37.5%	32	3.7
Q10	My instructor is available to me on matters pertaining to the course.	3 9.4%	4 12.5%	4 12.5%	11 34.4%	10 31.3%	32	3.7
Q11	My instructor encourages me to do my best work.	5 16.1%	1 3.2%	3 9.7%	10 32.3%	12 38.7%	31	3.7
Q12	My instructor provides timely feedback to guide my progress.	11 34.4%	5 15.6%	5 15.6%	4 12.5%	7 21.9%	32	2.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	6 18.8%	5 15.6%	3 9.4%	9 28.1%	9 28.1%	32	3.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	3 9.4%	6 18.8%	4 12.5%	9 28.1%	10 31.3%	32	3.5
Q15	My instructor encourages me to develop new viewpoints.	6 18.8%	3 9.4%	3 9.4%	9 28.1%	11 34.4%	32	3.5
Q16	My instructor made the subject interesting and motivated me to learn.	9 29%	1 3.2%	1 3.2%	8 25.8%	12 38.7%	31	3.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N]	Neither A	gree or Dis	agree=3 [A] Agree=	4 [SA] St	rongly	/ Agree=5

Course:	LAW - 7313 501 - Practice Foundation II: Negotiation and Conflict Resolution	Department:	LawSchool
Responsible Faculty:	Angela Downes	Responses / Expected:	36 / 52 (69.23%)

				LAW	/ - 7313 - !		Survey Comparisons				
La	abs and Online Learning Questions		ı	Response	s (%)		С	ourse		All	
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
Q.	The section or lab is well integrated into the course structure.	0	5 15.2%	4 12.1%	14 42.4%	10 30.3%	33	3.9	513	4.4	23
Q	The course topics are organized in a coherent fashion.	1 3%	4 12.1%	4 12.1%	15 45.5%	9 27.3%	33	3.8	726	4.4	25

				Ange	la Downe	es		
Cou	se Evaluation Questions		Re	sponses	(%)		Inc	lividual
		SD	D	N	A	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	3 8.3%	10 27.8%	17 47.2%	6 16.7%	36	3.7
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	2 5.6%	4 11.1%	20 55.6%	10 27.8%	36	4.1
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 2.8%	2 5.6%	7 19.4%	16 44.4%	10 27.8%	36	3.9
Q6	My instructor provides material that helps me do well on assignments.	0	8 22.2%	11 30.6%	13 36.1%	4 11.1%	36	3.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	0 1 2.8%	1 2.9%	7 20%	20 57.1%	7 20%	35	3.9
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.		7 19.4%	8 22.2%	13 36.1%	7 19.4%	36	3.5
Q9	My instructor establishes a climate of respect for students.		1 2.8%	4 11.1%	14 38.9%	17 47.2%	36	4.3
Q10	My instructor is available to me on matters pertaining to the course.	1 2.8%	4 11.1%	6 16.7%	14 38.9%	11 30.6%	36	3.8
Q11	My instructor encourages me to do my best work.	0	0	7 19.4%	17 47.2%	12 33.3%	36	4.1
Q12	My instructor provides timely feedback to guide my progress.	6 16.7%	6 16.7%	9 25%	10 27.8%	5 13.9%	36	3.1
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	1 2.8%	3 8.3%	15 41.7%	17 47.2%	36	4.3
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	2 5.6%	5 13.9%	14 38.9%	15 41.7%	36	4.2
Q15	My instructor encourages me to develop new viewpoints.	0	1 2.8%	7 19.4%	15 41.7%	13 36.1%	36	4.1
Q16	My instructor made the subject interesting and motivated me to learn.	1 2.8%	4 11.1%	6 16.7%	15 41.7%	10 27.8%	36	3.8
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N	Neither A	gree or Dis	sagree=3 [A] Agree=	4 [SA] St	rongly	Agree=5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7315 1 - Family Law	Department:	LawSchool
Responsible Faculty:	Melissa Shultz	Responses / Expected:	49 / 56 (87.50%)

		LAW - 7315 - 1								Survey Comparisons			
	Labs and Online Learning Questions	Responses (%)						ourse	All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	1 8.3%	3 25%	2 16.7%	4 33.3%	2 16.7%	12	3.3	513	4.4	13		
	Q2 The course topics are organized in a coherent fashion.	2 8%	3 12%	5 20%	10 40%	5 20%	25	3.5	726	4.4	19		

_				Meli	ssa Shult	z		
Cou	rse Evaluation Questions		Re	sponses	(%)		Inc	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	3 6.1%	12 24.5%	8 16.3%	20 40.8%	6 12.2%	49	3.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	2 4.1%	6 12.2%	4 8.2%	25 51%	12 24.5%	49	3.8
Q5	My instructor gives assignments that contribute to my understanding of the subject.	2 4.2%	6 12.5%	8 16.7%	21 43.8%	11 22.9%	48	3.7
Q6	My instructor provides material that helps me do well on assignments.	3 6.4%	5 10.6%	10 21.3%	20 42.6%	9 19.1%	47	3.6
Q7	My instructor explains new ideas by relating them to familiar concepts.	2 4.1%	2 4.1%	10 20.4%	24 49%	11 22.4%	49	3.8
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	4 8.2%	7 14.3%	7 14.3%	19 38.8%	12 24.5%	49	3.6
Q9	My instructor establishes a climate of respect for students.	2 4.1%	3 6.1%	7 14.3%	20 40.8%	17 34.7%	49	4.0
Q10	My instructor is available to me on matters pertaining to the course.	1 2%	1 2%	4 8.2%	17 34.7%	26 53.1%	49	4.3
Q11	My instructor encourages me to do my best work.	1 2%	2 4.1%	3 6.1%	10 20.4%	33 67.3%	49	4.5
Q12	My instructor provides timely feedback to guide my progress.	2 4.1%	6 12.2%	10 20.4%	13 26.5%	18 36.7%	49	3.8
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	2 4.1%	3 6.1%	6 12.2%	17 34.7%	21 42.9%	49	4.1
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 2.1%	2 4.2%	5 10.4%	25 52.1%	15 31.3%	48	4.1
Q15	My instructor encourages me to develop new viewpoints.	1 2%	3 6.1%	14 28.6%	15 30.6%	16 32.7%	49	3.9
Q16	My instructor made the subject interesting and motivated me to learn.	6 12.2%	3 6.1%	14 28.6%	12 24.5%	14 28.6%	49	3.5

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7317 501 - Professional Responsibility	Department:	LawSchool
Responsible Faculty:	Michael Maslanka	Responses / Expected:	13 / 24 (54.17%)

				LAW - 731	7 - 501		Survey Comparisons				
abs and Online Learning Questions	Responses (%)					(Course	All			
		D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q1 The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	513	4.4	71	
Q2 The course topics are organized in a coherent fashion.	0	3 50%	0	1 16.7%	2 33.3%	6	3.3	726	4.4	11	

				Mich	nael Masl	anka		
Cour	se Evaluation Questions		ı	Response	s (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	3 23.1%	0	7 53.8%	3 23.1%	13	3.8
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	8 61.5%	5 38.5%	13	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	1 7.7%	3 23.1%	5 38.5%	4 30.8%	13	3.9
Q6	My instructor provides material that helps me do well on assignments.	0	4 30.8%	2 15.4%	3 23.1%	4 30.8%	13	3.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 7.7%	8 61.5%	4 30.8%	13	4.2
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	4 30.8%	2 15.4%	3 23.1%	4 30.8%	13	3.5
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q11	My instructor encourages me to do my best work.	0	0	1 7.7%	2 15.4%	10 76.9%	13	4.7
Q12	My instructor provides timely feedback to guide my progress.	0	1 7.7%	0	5 38.5%	7 53.8%	13	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	2 15.4%	11 84.6%	13	4.8
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 30.8%	9 69.2%	13	4.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	0	3 23.1%	10 76.9%	13	4.8
Q16	My instructor made the subject interesting and motivated me to learn.	0	1 7.7%	1 7.7%	3 23.1%	8 61.5%	13	4.4
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] N	either /	Agree or D	isagree=3	[A] Agree	=4 [SA] St	trongly	/ Agree=5

Course:	LAW - 7318 501 - Evidence	Department:	LawSchool
Responsible Faculty:	Eric Porterfield	Responses / Expected:	14 / 23 (60.87%)

					LAW - 731	8 - 501	Survey Comparisons					
L	Labs and Online Learning Questions	Responses (%)					(Course		All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
Q	The section or lab is well integrated into the course structure.	0	0	1 20%	2 40%	2 40%	5	4.2	513	4.4	30	
Q	The course topics are organized in a coherent fashion.	0	0	0	3 42.9%	4 57.1%	7	4.6	726	4.4	54	

					Eric Port	erfield			
Cour	se Evaluation Questions			Respo	nses (%)		Ind	ividual	
		SD	D	N	Α	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	0	0	0	4 28.6%	10 71.4%	14	4.7	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	4 28.6%	10 71.4%	14	4.7	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 28.6%	10 71.4%	14	4.7	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	3 21.4%	11 78.6%	14	4.8	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	3 21.4%	11 78.6%	14	4.8	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	4 28.6%	10 71.4%	14	4.7	
Q9	My instructor establishes a climate of respect for students.	0	0	0	3 21.4%	11 78.6%	14	4.8	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	3 21.4%	11 78.6%	14	4.8	
Q11	My instructor encourages me to do my best work.	0	0	0	3 21.4%	11 78.6%	14	4.8	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	3 21.4%	11 78.6%	14	4.8	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 23.1%	10 76.9%	13	4.8	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6	
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 7.1%	3 21.4%	10 71.4%	14	4.6	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 23.1%	10 76.9%	13	4.8	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5								

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7321 1 - Business Associations I	Department:	LawSchool
Responsible Faculty:	Reynaldo Valencia	Responses / Expected:	39 / 58 (67.24%)

	Labs and Online Learning Questions				LAW - 7	7321 - 1	Survey Comparisons				
				Respon	ses (%)		C	Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
	Q1 The section or lab is well integrated into the course structure.	0	0	1 6.3%	4 25%	11 68.8%	16	4.6	513	4.4	61
	Q2 The course topics are organized in a coherent fashion.	0	0	0	4 16%	21 84%	25	4.8	726	4.4	83

				Rey	naldo Val	encia			
Cour	se Evaluation Questions			Respons	es (%)		Ind	dividual	
		SD	D	N	Α	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	0	1 2.6%	1 2.6%	8 21.1%	28 73.7%	38	4.7	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 2.6%	8 21.1%	29 76.3%	38	4.7	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 5.3%	10 26.3%	26 68.4%	38	4.6	
Q6	My instructor provides material that helps me do well on assignments.	0	0	5 13.2%	5 13.2%	28 73.7%	38	4.6	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	10 26.3%	28 73.7%	38	4.7	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	2 5.3%	5 13.2%	7 18.4%	24 63.2%	38	4.4	
Q9	My instructor establishes a climate of respect for students.	0	0	1 2.7%	4 10.8%	32 86.5%	37	4.8	
Q10	My instructor is available to me on matters pertaining to the course.	0	1 2.6%	3 7.9%	5 13.2%	29 76.3%	38	4.6	
Q11	My instructor encourages me to do my best work.	0	1 2.6%	0	5 13.2%	32 84.2%	38	4.8	
Q12	My instructor provides timely feedback to guide my progress.	0	0	1 2.6%	3 7.9%	34 89.5%	38	4.9	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	3 7.9%	35 92.1%	38	4.9	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 16.2%	31 83.8%	37	4.8	
Q15	My instructor encourages me to develop new viewpoints.	0	0	2 5.4%	4 10.8%	31 83.8%	37	4.8	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	3 7.9%	7 18.4%	28 73.7%	38	4.7	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5								

Course:	LAW - 7322 1 - Commercial Law	Department:	LawSchool
Responsible Faculty:	Matthew Crockett	Responses / Expected:	25 / 49 (51.02%)

					LAW -	7322 - 1		Survey Comparisons				
L	Labs and Online Learning Questions		Responses (%)					ourse	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
C	The section or lab is well integrated into the course structure.	0	0	0	0	6 100%	6	5.0	513	4.4	90	
c	The course topics are organized in a coherent fashion.	0	0	0	3 20%	12 80%	15	4.8	726	4.4	80	

					Matthew	Crockett			
Cour	se Evaluation Questions			Respo	onses (%)		Inc	lividual	
		SD	D	N	Α	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	0	0	0	6 24%	19 76%	25	4.8	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	5 20%	20 80%	25	4.8	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 20%	20 80%	25	4.8	
Q6	My instructor provides material that helps me do well on assignments.	0	0	0	5 20%	20 80%	25	4.8	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	5 20%	20 80%	25	4.8	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	0	5 20%	20 80%	25	4.8	
Q9	My instructor establishes a climate of respect for students.	0	0	0	5 20%	20 80%	25	4.8	
Q10	My instructor is available to me on matters pertaining to the course.	0	1 4%	0	5 20%	19 76%	25	4.7	
Q11	My instructor encourages me to do my best work.	0	0	1 4%	4 16%	20 80%	25	4.8	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	4 16%	21 84%	25	4.8	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 16.7%	20 83.3%	24	4.8	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	5 20%	20 80%	25	4.8	
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 4%	4 16%	20 80%	25	4.8	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	5 20%	20 80%	25	4.8	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5								

Course:	LAW - 7323 501 - Constitutional Law II: Federal Criminal Procedure	Department:	LawSchool
Responsible Faculty:	Brian Owsley	Responses / Expected:	17 / 25 (68%)

				LAW - 7	323 - 501	Survey Comparisons						
Labs and Online Learning Questions		Responses (%)		Responses (%)				C	ourse	All		
	SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
The section or lab is well integrated into the course structure.	0	0	0	1 25%	3 75%	4	4.8	513	4.4	71		
The course topics are organized in a coherent fashion.	0	0	0	3 27.3%	8 72.7%	11	4.7	726	4.4	71		

					Brian Ows	sley			
Cour	se Evaluation Questions			Respons	ses (%)		Inc	lividual	
		SD	D	N	Α	SA	N	Mean	
Q3	My instructor explains difficult material clearly.	0	0	0	7 41.2%	10 58.8%	17	4.6	
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 5.9%	0	0	3 17.6%	13 76.5%	17	4.6	
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	5 29.4%	12 70.6%	17	4.7	
Q6	My instructor provides material that helps me do well on assignments.	0	0	2 12.5%	4 25%	10 62.5%	16	4.5	
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 5.9%	4 23.5%	12 70.6%	17	4.6	
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 17.6%	3 17.6%	11 64.7%	17	4.5	
Q9	My instructor establishes a climate of respect for students.	0	0	0	9 52.9%	8 47.1%	17	4.5	
Q10	My instructor is available to me on matters pertaining to the course.	0	0	0	2 11.8%	15 88.2%	17	4.9	
Q11	My instructor encourages me to do my best work.	0	0	0	5 29.4%	12 70.6%	17	4.7	
Q12	My instructor provides timely feedback to guide my progress.	0	0	0	2 11.8%	15 88.2%	17	4.9	
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 23.5%	13 76.5%	17	4.8	
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 5.9%	4 23.5%	12 70.6%	17	4.6	
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 5.9%	6 35.3%	10 58.8%	17	4.5	
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	0	3 17.6%	14 82.4%	17	4.8	
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5								

Course:	LAW - 7325 501 - Wills, Trusts and Estates	Department:	LawSchool
Responsible Faculty:	Samuel Long	Responses / Expected:	22 / 37 (59.46%)

				L	AW - 7325		Survey Comparisons				
L	Labs and Online Learning Questions		Res	pons	ses (%)		C	ourse	All		
		SD	D	N	Α	SA	N	Mean	N	Mean	Pct Rnk
C	The section or lab is well integrated into the course structure.	0	0	0	2 15.4%	11 84.6%	13	4.8	513	4.4	77
C	The course topics are organized in a coherent fashion.	1 6.3%	1 6.3%	0	3 18.8%	11 68.8%	16	4.4	726	4.4	38

				s	amuel Lo	ng		
Cour	se Evaluation Questions		R	esponse	es (%)		Inc	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	1 4.5%	0	1 4.5%	7 31.8%	13 59.1%	22	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 4.5%	0	0	6 27.3%	15 68.2%	22	4.5
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 4.5%	0	1 4.5%	6 27.3%	14 63.6%	22	4.5
Q6	My instructor provides material that helps me do well on assignments.	1 4.5%	1 4.5%	0	5 22.7%	15 68.2%	22	4.5
Q7	My instructor explains new ideas by relating them to familiar concepts.	1 4.8%	0	1 4.8%	4 19%	15 71.4%	21	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 4.5%	0	1 4.5%	4 18.2%	16 72.7%	22	4.5
Q9	My instructor establishes a climate of respect for students.	1 4.5%	0	0	3 13.6%	18 81.8%	22	4.7
Q10	My instructor is available to me on matters pertaining to the course.	1 4.5%	0	1 4.5%	4 18.2%	16 72.7%	22	4.5
Q11	My instructor encourages me to do my best work.	1 4.8%	0	0	4 19%	16 76.2%	21	4.6
Q12	My instructor provides timely feedback to guide my progress.	1 4.5%	0	0	4 18.2%	17 77.3%	22	4.6
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 4.5%	0	0	4 18.2%	17 77.3%	22	4.6
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	1 4.8%	0	0	3 14.3%	17 81%	21	4.7
Q15	My instructor encourages me to develop new viewpoints.	1 4.5%	0	0	6 27.3%	15 68.2%	22	4.5
Q16	My instructor made the subject interesting and motivated me to learn.	1 4.5%	0	0	4 18.2%	17 77.3%	22	4.6
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5							

Course:	LAW - 7326 1 - Administrative Law	Department:	LawSchool
Responsible Faculty:	Thomas Perkins	Responses / Expected:	37 / 57 (64.91%)

	Labs and Online Learning Questions				LAW - 732	Survey Comparisons					
ı				Respon	ses (%)		С	ourse	All		
		SD	D	N	A	SA	N Mean		N	Mean	Pct Rnk
	The section or lab is well integrated into the course structure.	1 7.7%	0	1 7.7%	2 15.4%	9 69.2%	13	4.4	513	4.4	40
	The course topics are organized in a coherent fashion.	2 8.7%	0	0	4 17.4%	17 73.9%	23	4.5	726	4.4	48

				Tho	mas Perk	ins		
Cour	se Evaluation Questions		R	esponse	s (%)		Ind	lividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	3 8.1%	0	0	11 29.7%	23 62.2%	37	4.4
Q4	My instructor provides facts, examples, and references that helped me learn the material.	3 8.1%	0	1 2.7%	10 27%	23 62.2%	37	4.4
Q5	My instructor gives assignments that contribute to my understanding of the subject.	3 8.1%	1 2.7%	2 5.4%	8 21.6%	23 62.2%	37	4.3
Q6	My instructor provides material that helps me do well on assignments.	3 8.1%	0	1 2.7%	11 29.7%	22 59.5%	37	4.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	2 5.6%	0	2 5.6%	10 27.8%	22 61.1%	36	4.4
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	3 8.1%	0	4 10.8%	9 24.3%	21 56.8%	37	4.2
Q9	My instructor establishes a climate of respect for students.	3 8.1%	0	0	7 18.9%	27 73%	37	4.5
Q10	My instructor is available to me on matters pertaining to the course.	3 8.1%	0	0	9 24.3%	25 67.6%	37	4.4
Q11	My instructor encourages me to do my best work.	3 8.1%	0	0	10 27%	24 64.9%	37	4.4
Q12	My instructor provides timely feedback to guide my progress.	2 5.6%	0	0	12 33.3%	22 61.1%	36	4.4
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	3 8.1%	0	0	7 18.9%	27 73%	37	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	3 8.1%	0	2 5.4%	9 24.3%	23 62.2%	37	4.3
Q15	My instructor encourages me to develop new viewpoints.	2 5.6%	0	3 8.3%	9 25%	22 61.1%	36	4.4
Q16	My instructor made the subject interesting and motivated me to learn.	3 8.1%	1 2.7%	3 8.1%	8 21.6%	22 59.5%	37	4.2
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5							

Course:	LAW - 7335 501 - Practice Foundation III: Business of Law	Department:	LawSchool
Responsible Faculty:	Lisa Davis	Responses / Expected:	8 / 15 (53.33%)

ľ	Labs and Online Learning Questions			ı	LAW - 73	335 - 50°	1	Survey Comparisons				
			Responses (%)				(Course	All			
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk	
	Q1 The section or lab is well integrated into the course structure.	0	0	0	1 50%	1 50%	2	4.5	513	4.4	48	
	Q2 The course topics are organized in a coherent fashion.	0	0	0	3 60%	2 40%	5	4.4	726	4.4	40	

0	Furthering Occasion				Lisa Da	avis		
Cour	urse Evaluation Questions						In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	0	3 37.5%	5 62.5%	8	4.6
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	0	4 50%	4 50%	8	4.5
Q6	My instructor provides material that helps me do well on assignments.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	0	4 50%	4 50%	8	4.5
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	3 37.5%	1 12.5%	4 50%	8	4.1
Q9	My instructor establishes a climate of respect for students.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q10	My instructor is available to me on matters pertaining to the course.	0	0	1 12.5%	3 37.5%	4 50%	8	4.4
Q11	My instructor encourages me to do my best work.	0	0	0	4 50%	4 50%	8	4.5
Q12	My instructor provides timely feedback to guide my progress.	0	0	2 25%	2 25%	4 50%	8	4.3
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	0	4 50%	4 50%	8	4.5
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	4 50%	4 50%	8	4.5
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	1 12.5%	4 50%	3 37.5%	8	4.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5							

Course:	LAW - 7388 1 - Externship Seminar	Department:	LawSchool
Responsible Faculty:	Angela Downes	Responses / Expected:	3 / 11 (27.27%)

	Labs and Online Learning Questions			LAW -	738		Survey Comparisons				
L			Res	ponses (%	6)		(Course	All		
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk
q	The section or lab is well integrated into the course structure.	0	1 50%	0	0	1 50%	2	3.5	513	4.4	15
q	The course topics are organized in a coherent fashion.	0	1 33.3%	1 33.3%	0	1 33.3%	3	3.3	726	4.4	11

				Ange	la Downe	s		
Cour	se Evaluation Questions		Re	sponses	(%)		In	dividual
		SD	D	N	Α	SA	N	Mean
Q3	My instructor explains difficult material clearly.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q4	My instructor provides facts, examples, and references that helped me learn the material.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q5	My instructor gives assignments that contribute to my understanding of the subject.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q6	My instructor provides material that helps me do well on assignments.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q7	My instructor explains new ideas by relating them to familiar concepts.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	0	0	2 66.7%	1 33.3%	0	3	3.3
Q9	My instructor establishes a climate of respect for students.	0	1 33.3%	1 33.3%	1 33.3%	0	3	3.0
Q10	My instructor is available to me on matters pertaining to the course.	0	0	3 100%	0	0	3	3.0
Q11	My instructor encourages me to do my best work.	0	0	2 66.7%	0	1 33.3%	3	3.7
Q12	My instructor provides timely feedback to guide my progress.	1 33.3%	0	1 33.3%	1 33.3%	0	3	2.7
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q15	My instructor encourages me to develop new viewpoints.	0	0	1 33.3%	2 66.7%	0	3	3.7
Q16	My instructor made the subject interesting and motivated me to learn.	0	0	2 66.7%	1 33.3%	0	3	3.3
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neither Agree or Disagree=3 [A] Agree=4 [SA] Strongly Agree=5							

LW1 Law School Course Evaluations	University of North Texas at Dallas
6181 - Spring 2018 - LW1	UNT-Dallas

Course:	LAW - 7414 501 - Constitutional Law	Department:	LawSchool
Responsible Faculty:	Loren Jacobson	Responses / Expected:	48 / 53 (90.57%)

			LAW - 7414 - 501							Survey Comparisons			
Labs and Online Learning Questions		Responses (%)					Course		All				
		SD	D	N	A	SA	N	Mean	N	Mean	Pct Rnk		
	Q1 The section or lab is well integrated into the course structure.	1 4.8%	0	0	5 23.8%	15 71.4%	21	4.6	513	4.4	53		
	Q2 The course topics are organized in a coherent fashion.	2 5.9%	0	0	6 17.6%	26 76.5%	34	4.6	726	4.4	61		

O Surfaction Occasions		Loren Jacobson										
Course Evaluation Questions			Responses (%)									
		SD	D	N	Α	SA	N	Mean				
Q3	My instructor explains difficult material clearly.	1 2.1%	0	0	12 25%	35 72.9%	48	4.7				
Q4	My instructor provides facts, examples, and references that helped me learn the material.	1 2.1%	0	1 2.1%	8 16.7%	38 79.2%	48	4.7				
Q5	My instructor gives assignments that contribute to my understanding of the subject.	1 2.1%	0	0	7 14.6%	40 83.3%	48	4.8				
Q6	My instructor provides material that helps me do well on assignments.	1 2.1%	0	0	7 14.6%	40 83.3%	48	4.8				
Q 7	My instructor explains new ideas by relating them to familiar concepts.	1 2.1%	0	0	9 18.8%	38 79.2%	48	4.7				
Q8	My instructor evaluates my work in ways that are helpful to my ability to learn.	1 2.1%	0	0	8 16.7%	39 81.3%	48	4.8				
Q9	My instructor establishes a climate of respect for students.	1 2.1%	0	0	5 10.4%	42 87.5%	48	4.8				
Q10	My instructor is available to me on matters pertaining to the course.	1 2.1%	0	1 2.1%	7 14.6%	39 81.3%	48	4.7				
Q11	My instructor encourages me to do my best work.	1 2.1%	0	1 2.1%	7 14.6%	39 81.3%	48	4.7				
Q12	My instructor provides timely feedback to guide my progress.	1 2.1%	0	0	7 14.6%	40 83.3%	48	4.8				
Q13	My instructor creates an atmosphere in which ideas can be exchanged freely.	1 2.1%	0	0	6 12.5%	41 85.4%	48	4.8				
Q14	My instructor encourages me to connect course topics to a wider understanding of the subject.	0	0	0	6 13%	40 87%	46	4.9				
Q15	My instructor encourages me to develop new viewpoints.	1 2.1%	0	1 2.1%	9 18.8%	37 77.1%	48	4.7				
Q16	My instructor made the subject interesting and motivated me to learn.	1 2.1%	0	1 2.1%	7 14.6%	39 81.3%	48	4.7				
	Responses: [SD] Strongly Disagree=1 [D] Disagree=2 [N] Neitho	er Agree o	or Di	sagree=3	[A] Agree	=4 [SA] S	trongl	y Agree=5				